
Total No. of Questions—5] [Total No. of Printed Pages—7

Seat

No. [4301]-301

T.Y. B.A. EXAMINATION, 2013

COMPULSORY ENGLISH

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Textbook :—Reflections III.

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in about 80 words each (any

two) : [16]

(i) What is the difference between linear thinking and lateral

thinking ? Illustrate.

(ii) Sketch the character of George Harrison in ‘Fusion Music’.

(iii) What lesson did N.R. Narayana Murthy learn from life’s

experience ?

2. Answer the following questions in about 80 words each (any

two) : [16]

(i) What is the moral of the story ‘The Unicorn in the

Garden’ ?

P.T.O.
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(ii) What is the purpose of the speaker’s journey in the poem

‘Meeting at Night’ ? How does the speaker reveal it ?

(iii) What are the common situations mentioned in ‘Conflict with

Other’s in which conflicts arise ?

3. Attempt any two of the following in about 100 words each : [16]

(i) Imagine that you are the Sports Secretary of your

college. Draft an e-mail to Jai Sports, a dealer of sports

equipment having e-mail ID jaisports123@gmail.com asking

for the price list. Mention the items you intend to buy

and ask for a discount on the catalogue price and early

deliver.

(ii) Write a letter to the Zonal Secretary, Electricity Board requesting

him/her for providing sufficient electricity during examinations

period.

(iii) Write an essay on any one of the following :

(a) The Uses and Misuses of Computer

(b) Elections in Democracy.
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4. Attempt any eight of the following : [16]

(i) Form one word each using the following suffixes (any

two) :

(a) -ness

(b) -able

(c) -hood

(d) -ment

(ii) Make adjective forms of the following (any two) :

(a) delight

(b) benefit

(c) harmony

(iii) Find out the odd word in the following (any two) :

(a) ever, simple, seldom, almost

(b) aeroplane, bird, rocket, balloon

(c) computer, screen, diary, mouse.

(iv) Give synonyms of the following words (any two) :

(a) happiness

(b) attractive

(c) brilliant
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(v) Say whether the following are instances of British English or

American English :

(a) Bonnet

(b) Pavement

(c) Bulletin board

(d) Gasoline

(vi) Fill in the blanks with appropriate phrasal verbs given in the

brackets :

(a) He tried to ................... singing long after his voice was

ruined. (keep on, keep up)

(b) We ................. the lights before anyone could see us.

 (turned on, turned off)

(vii) Write down the right combinations of the collocations of the

following alternative :

(a) the fast train/the quick train

(b) tell a lie/speak a lie.

(viii) Fill in the blanks choosing the correct alternative given in

the brackets :

(a) I need a sports ............................. to help my aching

back. (massage, message)

(b) It is the secretary’s job to purchase the ............ for the

office. (stationary, stationery)
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(ix) Give the full forms of the following :

(a) UNO

(b) SBI.

(x) Complete the following sentences choosing an appropriate

alternative :

(a) The Rolex Corporation is one of the most .............. companies

in the world. (Philosophic, Philanthropic)

(b) ....................... is a branch of zoology that concerns the

study of birds. (Ornithology, Entomology)

5. Attempt any eight of the following : [16]

(i) Punctuate and rewrite the following sentence :

leela where are we going asked margaret.

(ii) Use the verbs in the brackets in the correct tense forms :

(a) Mary ................. coffee in the morning every day.

(drink)

(b) Mr. Chetan Bhagat ................... in Mumbai for the last

ten years. (live)

(iii) Make your own sentences using the following phrases :

(a) In addition to

(b) Apart from.

(iv) Change the following into passive voice :

(a) Jessie was playing football.

(b) Govinda gave his girlfriend a gift.
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(v) Change the following sentences into impersonal, formal public

notice :

(a) You are not allowed to spit at the public places in

India.

(b) You are not allowed to enter the office without prior

permission.

(vi) Fill in the blanks with appropriate articles :

(a) Dr. Korde is ................. university professor.

(b) A.P.J. Abdul Kalam is ................. eminent scientist.

(vii) Complete the following sentences with ‘will’ or ‘going to’

appropriately :

(a) The match ............................be cancelled if it rains

heavily.

(b) India ............. become super power in 2020.

(viii) Underline the subordinate clause in the sentences given

below :

(a) The lion, which is wounded, is very dangerous.

(b) When the train arrived, there was commotion.

(ix) Write down the following sentences of inversion in the sentences

of the normal order :

(a) out of the court Gandhi went.

(b) knew you my helpless state.
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(x) Match the words given in the column ‘A’ with their meanings

given in the column ‘B’ :

  Column ‘A’             Column ‘B’

(a) take off (i) destroy completely

(b) take up (ii) leave the ground

(c) wind up (iii) begin a hobby/sport/study

(d) wipe out (iv) conclude



Total No. of Questions—5+4] [Total No. of Printed Pages—4+2

Seat

No. [4301]-302

T.Y. B.A. EXAMINATION, 2013

MARATHI (ejkBh)

lkekU;Lrj vH;klif=dk ÿ- 3 (G-3)

 (vk/kqfud ejkBh lkfgR; vkf.k mi;ksftr ejkBh)

(2008 PATTERN)

vH;klÿe :— (i) xzaFkijh{k.k-

(ii) izkFkZusph ?kaVk («f«r «s[klaxzg)—vðkksd dksrok«-

(iii) fpuh ekrhrh« fnol (izoklo.kZu)—«{e.k xk;dokM-

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukps iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj f«gk % [16]

(v) xzaFkijh{k.k Eg.kts dk; gs lkaxwu xzaFkijh{k.kkph vkoð;drk Li"V djk-

fdaok

xzaFkijh{k.k djrkuk dks.kR;k ?kVdkapk lekosðk djkok «kxrks \

(c) rqEgh okp«sY;k dks.kR;kgh ,dk xzaFkkps ijh{k.k djk-

2. [kk«h«iSdh izR;sd xVkrh« rhu izðukaph mŸkjs ohl ðkCnkai;Z±r f«gk % [12]

(v) (1) «f«r xnÓkr dðkkl egŸo vlrs \

(2) «f«r xnÓkr dks.kR;k «s[ku izdkjkpk lekosðk gksrks \

(3) ^ilZu« ,ls* gh ladYiuk dks.kh ekaM«h \

(4) «f«r xnÓkP;k e;kZnk Li"V djk-

(5) pkj «f«r xnÓ «sf[kdkaph ukos f«gk-

P.T.O.
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(c) (1) izoklo.kZukph ,d O;k[;k f«gk-

(2) ejkBhrh« pkj izoklo.kZukapah ukos f«gk-

(3) izoklo.kZu «s[kukekxh« iz;kstus f«gk-

(4) izoklo.kZu ok≥~e; izdkjkph nksu oSfðk"VÓs f«gk-

(5) izoklo.kZukr dks.krs ?kVd egŸokps vlrkr \

3. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkjs iUukl ðkCnkai;±r

f«gk % [12]

(v) oSpkfjd x| o «f«r x| ;krh« Qjd Li"V djk-

fdaok

brj ok≥~e; izdkjkais{kk «f«r x| gk ok≥~e;izdkj dlk osxˇk vkgs rs

f«gk-

(c) izoklo.kZu «s[kukekxh« izsj.kk Li"V djk-

fdaok

izoklo.kZukph «s[kuðkS«hµVhi f«gk-

4. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj nksuðððððks ðkCnkai;±r f«gk % [20]

(v) jEek vkf.k vEek ;kaP;krh« ukrs ^eu vkf.k vkdkðk* ;k «s[kkrwu dls O;Dr

>k«s vkgs \

fdaok

^/kksaMh /kksaMh ik.kh ns* ;k «s[kkrwu ik≈l&ik.;kcÌ« vk«s«s eqDrfparu rqeP;k

ðkCnkar f«gk-

(c) Hkkjr&phu egksRlokrh« Hkk"k.kkrwu «{e.k xk;dokM ;kauh dks.krs fopkj O;Dr

ds«s vkgsr \

fdaok

^fpuh ekrhrh« fnol* ;krwu phuP;k ,sfrgkfld o lkaLœfrd BsO;kcÌ« «s[kdkus

O;Dr ds«s«s fopkj rqeP;k ðkCnkar f«gk-



[4301]-302 3 P.T.O.

5. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj rhuðððððks ðkCnkai;±r f«gk % [20]

(v) ^izkFkZusph ?kaVk* ;k «s[klaxzgkph Hkkf"kd oSfðk"VÓs Li"V djk-

fdaok

^izkFkZusph ?kaVk* ;k «f«r «s[klaxzgkrwu thoufo"k;d eqDrfparu dls O;Dr

>k«s vkgs \

(c) ^fpuh ekrhrh« fnol* ;k izoklo.kZukrwu Hkkjrh; o fpuh laLœrhrh« Qjd

dlk O;Dr >k«k vkgs \

fdaok

^fpuh ekrhrh« fnol* ;k izoklo.kZukrwu «s[kdk«k vk«s«s ^phu* e/kh« vuqHko

f«gk-



[4301]-302 4

[4301]-302

O;kogkfjd o mi;ksftr ejkBh

(i;kZ;h vH;klÿe)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukps iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh ngk izðukaph mŸkjs izR;sdh chl ðkCnki;±r f«gk % [20]

(1) izlkjek/;es Eg.kts dk; \

(2) nwjnðkZu gs izlkjek/;e dks.kR;k izdkjkr eksMrs \

(3) orZekui=ke/kh« ckrE;kaps Úksr f«gk-

(4) ckrehi=kps «s[ku djrkuk dks.krh n{krk ?;koh \

(5) o`Ÿki=s vkf.k vkdkðkok.kh ;kaP;k ckrehrh« Qjd f«gk-

(6) nwjnðkZuojh« ckrE;kaps foðks"k lkaxk-

(7) eq«k[kr Eg.kts dk; \

(8) tkfgjkr Eg.kts dk; \

(9) vkdkðkok.khojh« rqepk vkoMrk dk;Zÿe dks.krk \

(10) eq«k[kr dks.kkph ?ksr«h tkrs \

(11) vxz«s[k Eg.kts dk; \

(12) okpdkapk i=O;ogkj ;k lnjkps iz;kstu f«gk-

(13) tkfgjkrhps izdkj f«gk-

2. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj iUukl ðkCnkai;Z±r

f«gk % [10]

(v) ckreh «s[kukps egRo f«gk-

fdaok

orZekui= ;k izlkjek/;ekps egRo foðkn djk-
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(c) vkdkðkok.khps tuekulkrh« LFkku lkaxk-

fdaok

nwjnðkZuojh« tkfgjkrhps Lo:i Li"V djk-

3. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj lqekjs nksuðððððks ðkCnkai;±r

f«gk % [20]

(v) vkdkðkok.khP;k dk;Zÿeke/kh« laxhrkps egRo Li"V djk-

fdaok

egkfo|k«;kr jk"V™h; lsok ;kstusP;k orhus >k«sY;k ^eq«xh okpok* vfHk;kukph

o`Ÿki=klkBh ckreh r;kj djk-

(c) vkdkðkok.khoj eq«k[kr ?ksrkuk dks.krh dkˇth ?;koh «kxrs \

fdaok

nwjnðkZuoj lw=lapk«u djrkuk dks.krh dkˇth ?;koh «kxrs \ ppkZ

djk-

4. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj lqekjs rhuðððððks ðkCnkai;±r

f«gk % [30]

(v) izlkjek/;ekuqlkj eq«k[kr ?ks.;klkBh dks.kdks.krh r;kjh djkoh «kxrs \ lksnkgj.k

Li"V djk-

fdaok

nwjnðkZulkBh HkkjrkP;k izariz/kkukauh ^ba/ku cpr* ;kfo"k;h ds«s«s tkghj vkokgu

rqeP;k ðkCnkr r;kj djk-
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(c) vkdkðkok.khojh« dk;Zÿekaps Lo:i o R;kaph ekaM.kh ;kfo"k;h foospu

djk-

fdaok

efg«k fnukfufeŸk ^l{kefL=;k* ;k fo"k;koj nwjnðkZulkBh foðks"k o`Ÿk r;kj

djk-
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4301]-303

T.Y. B.A. EXAMINATION, 2013

MARATHI (ejkBh) (S-3)

foðððððks"kLrj vH;klif=dk ÿ- 3

(lkfgR;fopkj)

(2008 PATTERN)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1- [kk«h«iSdh dks.kR;kgh ngk izðukaph mŸkjs lqekjs ohl ðkCnki;±r f«gk % [20]

(1) «f«r lkfgR; Eg.kts dk; \

(2) lkfgR;kph iz;kstus f«gk-

(3) ^ek÷;k nkjko:u gŸkh xs«k* ;k okD;krh« ðkCnðkDrhpk izdkj vksˇ[kk-

(4) ^dks«jht* ;kus ds«s«h lkfgR;kph O;k[;k f«gk-

(5) lkfgR;fufeZrhph egRokph ðkDrh dks.krh \

(6) lkfgR;krwu O;Dr gks.kkÚ;k vuqHkokaps rhu foðks"k f«gk-

(7) ^izrhd* Eg.kts dk; \

(8) vkLoknkP;k vMFkˇÓkrh« ^laHkkoukfojg* Eg.kts dk; \
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(9) lkfgR;kps ew«ÊO; dks.krs eku«s tkrs \

(10) lkfgR;kps Bˇd izdkj f«gk-

(11) vfHk#ph fHkUursph nksu dkj.ks f«gk-

(12) ^ukVd* ;k lkfgR;izdkjkph nksu oSfðk"VÓs f«gk-

(13) lkfgR;kP;k oxhZdj.kkph rŸos f«gk-

2- [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj iUukl ðkCnki;±r f«gk % [10]

(v) «f«r lkfgR;kps Lo:i Li"V djk-

fdaok

lkfgR;fufeZrhe/;s dYiukðkDrhps egŸo Li"V djk-

(c) lkfgR;kph jfldrk Eg.kts dk; rs FkksMD;kr f«gk-

fdaok

«s[kdkph lkekftdrk Li"V djk-

3- [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj nksuðððððks ðkCnki;±r f«gk % [20]

(v) lkfgR;kP;k fufeZrhr izfrHkkðkDrhps egŸo Li"V djk-

fdaok

lkfgR;izdkjkuqlkj «s[kdkph ðkS«h cn«rs- ppkZ djk-

(c) vfHk#ph fHkUursph dkj.ks lksnkgj.k foðkn djk-

fdaok

«f«r lkfgR;krh« lkekftd ckaf/k«dh ;k fo"k;koj f«gk-
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4- [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj lqekjs rhuðððððks ðkCnki;±r

f«gk % [30]

(v) lkfgR;kph iz;kstus dks.krh eku«h tkrkr \ ppkZ djk-

fdaok

^«f«r lkfgR;kph Hkk"kk gh d«kRed vlrs-* ;k fo/kkukph ppkZ djk-

(c) lkfgR;kps Bˇd izdkj lkaxwu ^dknacjh* gk ok≥~e;izdkj brj ok≥~e;izdkjkis{kk

dlk osxˇk vkgs- ppkZ djk-

fdaok

«f«r lkfgR;krwu O;Dr gks.kkÚ;k vuqHkokaps foðks"k Li"V djk-
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4301]-304

T.Y. B.A. EXAMINATION, 2013

MARATHI (ejkBh) (S-4)

foðððððks"kLrj vH;klif=dk ÿ- 4

(,sfrgkfld Hkk"kkfoKku o o.kZukRed Hkk"kkfoKku)

(2008 PATTERN)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1- [kk«h«iSdh dks.kR;kgh ngk izðukaph mŸkjs izR;sdh ohl ðkCnkai;±r f«gk % [20]

(1) Hkk"kkaps oxhZdj.k dks.kR;k rŸokaP;kvk/kkjs ds«s tkrs \

(2) baMks&;qjksfi;u Hkk"kkdq«k«k i;kZ;h uko dks.krs vkgs \

(3) ejkBh Hkk"ksP;k mRiŸkhps VIis f«gk-

(4) rsjkO;k ðkrdkrh« ejkBh Hkk"ks«k dks.kR;k jktoVhP;k ukokus vkš [k š tkrs \

(5) fðkodk«krh« ejkBh Hkk"ksoj dks.kR;k Hkk"kkapk izHkko vkgs \

(6) rsjkO;k ðkrdkrh« ejkBh Hkk"ks«k dks.kR;k larkauh oSHko izkIr d:u fn«s \

(7) Lofuefufðprh dks.kR;k rRokaP;kvk/kkjs ds«h tkrs \

(8) ^Lou* Eg.kts dk; \
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(9) okD;kps ?kVd f«gk-

(10) :fidk Eg.kts dk; \

(11) vFkkZps rhu izdkj f«gk-

(12) :fiekaps izdkj f«gk-

(13) vFkZfopkjk«k Hkk"ksps ekulðkkL= vls dk Eg.krkr \

2- [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj iUukl ðkCnkai;±r f«gk % [10]

(v) Hkk"kkdq« ladYiuk Li"V djk-

fdaok

vjch&QklhZrwu ejkBhr vk«s«s ðkCn f«gk-

(c) Lofue fufðprhph rŸos Li"V djk-

fdaok

vkðk;cks/kd :fie o dk;Zdj :fie Li"V djk-

3- [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj nksuðððððks ðkCnkai;±r f«gk % [20]

(v) gksU«sZ ;kapk ^varoZrqZˇ&cfgoZrqZˇ* flºkar Li"V djk-

fdaok

ejkBhP;k mRiŸkhpk ,sfrgkfld vk<kok ?;k-

(c) [kafMrkf/k"Bhr Lofue gh ladYiuk Li"V d:u dks.kR;kgh nksu [kafMrkf/k"Bhr

Lofuekapk ifjp; d:u |k-

fdaok

okD;foU;klkr dks.kdks.kR;k ?kVdkapk lekosðk gksrks \
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4- [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj rhuðððððks ðkCnkai;±r f«gk % [30]

(v) fðkodk«hu ejkBh Hkk"ksph oSfðk"VÓs f«gk-

fdaok

baMks&;qjksfi;u Hkk"kkdq«kph ladYiuk Li"V djk-

(c) :fidk&:fie&:fidkarj ladYiuk Li"V d:u R;kapk ijLijlaca/k foðkn

djk-

fdaok

ejkBhps LojLofue o O;atuLofue ;kaph iquO;ZoLFkk Li"V djk-



Total No. of Questions—5] [Total No. of Printed Pages—2

Seat

No. [4301]-312

T.Y. B.A. EXAMINATION, 2013

GUJARATI (General—III)

(Pannalalni Shresth Vartao Chhadolay)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

1. GLR[GFDF\YL SM.56 V[S V[S V[S V[S V[S lJQFI 5Z lGA\W ,BM o Ú16Û

s!f J{XFBL JFIZF JFIFPPP

sZf TMAF ¶ VF DM\3JFZLYL

s#f :+LXl… ‘UZ6

s$f ‘[ 5ZL1FF G CMI TMPPP

2. GLR[GFDF\YL SM.56 V[S V[S V[S V[S V[S 5|`GGM ;lJ:TZ pøZ ,BM o   Ú16Û

s!f óó5gGF,F,GF ,[BGDF\ UF\WLI]UGL KF5 N[BFI K[Pòò J6"JMP

sZf óó5gGF,F,G[ 5|[DG]\ VF,[BG SZJ]\ lJX[QF UD[ K[ VG[ OFJ[ K[Pòò VF lJWFG

T[DGL S'lTVM ‰FZF :5Q8 SZMP

3. GLR[GFDF\YL SM.56 V[S V[S V[S V[S V[S 5|`GGM ;lJ:TZ pøZ ,BM o [16]

s!f óóSlJ lGZ\HG EUTGF SFjIMDF\ 5|6IEFJ EFZMEFZ K,S[ K[Pòò ;MNFCZ6

:5Q8 SZMP

sZf óóKF \NM,I V[8,[ U]HZFTL SlJTFG] \  AF.A,òò pNFCZ6 ;FY[

;D‘JMP

P.T.O.
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4. sVf SM.56 V[S V[S V[S V[S V[S 5Z 8}\S GM\W ,BM o [8]

s!f óóJF+SG[ SF\9[òò XLQF"SGL IYFY"TFP

sZf óDFò DF\ jI… YTL jIYFP

sAf SM.56 V[S V[S V[S V[S V[S 5Z 8}\S GM\W ,BM o [8]

s!f KF\NM,IDF\ jI… YTL X{,L

sZf óóU|LQD DwIFCGDF\òò ;FZF\XP

5. sVf 5}JF"5Z ;\A\W VF5L SM.56 V[S V[S V[S V[S V[S ;D‘JM o [4]

s!f óóTM RF,4 C]\ TG[ A[;F0L VFJ]\P ;DI YI[ T[0JF 56 VFJLXPòò

sZf óó,. ,M V[GM V\U}9M4 h8 SZM4 HDLG[ 5FK]\ p50J]\ K[Pòò

sAf 5}JF"5Z ;\A\W VF5L SM.56 V[S V[S V[S V[S V[S ;D‘JM o [4]

s!f óóSIF\I G DFI Z[ V[8,M VFH TM pZG[ YFI pD\UPòò

sZf óóZ[ 5|LT4 T]\ TM ;]Z,MSGL ;]WFPòò

sSf TDFZF lD+q;BLG[ GF8I VlEGIDF\ 5|YD ÃDF\S D?IF AN, VlEG\NG VF5TM

5+ ,BMP [8]

VYJFVYJFVYJFVYJFVYJF

TDFZL SM,[HDF\ IM‘I[, J'1FFZM56 ;%TFCGM SFI"ÃDGM VC[JF, T{IFZ SZMP



Total No. of Questions—5] [Total No. of Printed Pages—2

[4301]-313

T.Y. B.A. EXAMINATION, 2013

URDU

General Paper  III

(History of Novel, Drama and Afsana)

(2008 PATTERN)

Time : Three Hours   Maximum Marks : 80

N.B. :—(1) Attempt  All  questions.

(2) All  questions carry equal marks.

  




  




  




P.T.O.

 Seat
  No.



  




    

 

 

 

 

2 [4301]-313



Total No. of Questions—5] [Total No. of Printed Pages—2

[4301]-314
T.Y. B.A. EXAMINATION, 2013

URDU

Special  Paper  III

(2008  PATTERN)

Time : Three Hours   Maximum Marks : 80

N.B. :—  (i ) Attempt All questions.

 (i i ) Figures to the left indicate full marks.

  




  




 

 




P.T.O.

 Seat
  No.



   




  




2 [4301]-314



Total No. of Questions—5] [Total No. of Printed Pages—3

[4301]-315
T.Y. B.A. EXAMINATION, 2013

URDU

Special Paper IV

(2008  PATTERN)

Time : Three Hours   Maximum Marks : 80

N.B. :—(i ) All  questions are compulsory.

(i i ) Figures to the left indicate full marks.

     

 

 

 

     

 

 

 

P.T.O.

 Seat
  No.



    

 

 

 


 

 

  

    



 

 
 


 



  




2 [4301]-315



   




    

 

  

 

3 [4301]-315



Total No. of Questions—4+4] [Total No. of Printed Pages—8+4

Seat

No. [4301]-316

T.Y. B.A. EXAMINATION, 2013

HINDI (G-3)

fganh % lkekU;&3

(fuca/k] dkO;&ukVd rFkk ys[ku)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

ikB~;&iqLrdsa :— (i)  fuca/k lkSjHkµlaik- lkS- mek tk/koA

(ii) xkFkk dq#{ks= dhµeuksgj ';ke tks'khA

lwpuk,° :— (i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSaA

1. (v) fuEufyf[kr vaxzsth ikfjHkkf"kd 'kCnksa esa ls fdUgha N% ds fganh i;kZ;okph 'kCn

fyf[k, % [6]

(1) Assistant

(2) Canal Officer

(3) Chief Controller

P.T.O.
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(4) Director of Estates

(5) Foreign Secretary

(6) Luggage Inspector

(7) Office Supervisor

(8) Store Inspector.

(vk) fuEufyf[kr vaxz sth laf{kfIr;ks a es a ls fdUgha pkj ds iw.k Z fganh i;kZ;

fyf[k, % [8]

(1) A.P.L.

(2) B.D.

(3) C.C.I.

(4) C.V.C.

(5) D.I.C.

(6) G.O.I.

(7) I.T.

(b) fuEufyf[kr esa ls fdlh ,d fo"k; ij lekpkj ys[ku dhft, % [6]

(1) egkfo|ky; esa laiUu foosdkuan t;arh (;qok egksRlo)A

(2) egkjk"V™ cSad esa ^fganh fnol* ds volj ij ^fganh lIrkg* dk

vk;kstuA
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2. fuEufyf[kr vorj.kksa esa ls fdUgha nks dh llanHkZ O;k[;k dhft, % [10]

(1) vtqZu us eq>s vkSj nq;ksZ/ku us esjh lsuk dks pquk gS

blfy;s izLrqr gqvk gw° eSa] vius gh nksuksa /kM+ksa esa

laf/k U;k;ksfpr djkusA

fca/k x;k gS vkt /keZ_ ck.kksa ls v/keZ ds

fudkys mUgsa] vU;Fkk os chaËk nsaxs jktu

vki dkSjoksa dks HkhA

(2) /keZ ugha_ U;k; ugha_ ;qº] ;qº] ;qº!

dkSjoksa dh ,d jV] ;qº] ;qº] ;qº!

eSa mBk ck°gsa_

ph[kdj lh[k ;g nsrk jgk gw°

eks{k gh ugha_

vFkZ vkSj dke Hkh gksrs /keZ ls gSa flºA

(3) lq[k&nq[k_ gkfu&ykHk_ t;&ijkt;

lcdks cjkcj ekudj ;fn cusxk rw ughaA

deZ ij vf/kdkj gS rsjk

fdarq gS ugha deZ ds Qy ij

Qy dh pkg er dj_ c°/k deZ ds Qy lsA
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(4) mRifŸk dk eSa gh cht gw°

l`f"V dk eSa gh vkfn_ eSa gh e/;_ eSa gh vUr gw°A

dgk° rd crk≈°_ varghu gSa foHkwfr;k° esjh

;s tks Hkh gSa_ esjs gh va'k gSa

tks Hkh gSa] eSa gh gw°A

3. (v) fuEufyf[kr esa ls fdUgha nks ds mŸkj fyf[k, % [10]

(1) fdlku ds thou dk o.kZu ljnkj iw.kZflag us fdl izdkj fd;k

gS \

(2) vkpk;Z gtkjhizlkn f}osnhth us ^esjh tUeHkwfe* fuca/k esa ygqjh dk'kh

xk°o dk fp=.k fdl izdkj fd;k gS \

(3) 'kfuxzg ds laca/k esa MkW- xq.ksth us fdu&fdu izpfyr va/kfo'oklksa

dk mYys[k fd;k gS \

(vk) fuEufyf[kr iz'uksa esa ls fdUgha nks ds mŸkj fyf[k, % [10]

(1) egkHkkjr ds ;qº esa xq# Êks.kkpk;Z dh e`R;q dSls gksrh gS \

(2) ^gfLrukiqj izlax* dk o.kZu dhft,A

(3) ^xkFkk dq#{ks= dh*µdkO; ukVd dh ukf;dk ÊkSinh vk/kqfud ukjh

dk izrhd gSA dSls \
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4. (v) fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj fyf[k, % [10]

(1) ^cq<+kikµg°lh ugha] #nu gS_ LoxZ ugha ujd gSA* bl dFku dh leh{kk

dhft,A

(2) fuca/kdkj ^fnudjth*µ^^lkgl dh ftanxh lcls cM+h ftanxh gksrh gSA**

,slk D;ksa dgrs gSa \

(vk) fuEufyf[kr iz'uksa esa ls fdlh ,d dk mŸkj fyf[k, % [10]

(1) ^xkFkk dq#{ks= dh*µdkO;&ukVd ds vk/kkj ij uk;d Jhœ".k dk

pfj=&fp=.k dhft,A

(2) ^xkFkk dq#{ks= dh* dkO;&ukVd dh dFkkoLrq fy[krs gq, mlds ekË;e

ls ukVddkj us dkSulk lans'k fn;k gS \

(b) fuEufyf[kr esa ls fdlh ,d fo"k; ij i=ys[ku dhft, % [5]

(1) Hkkjr ljdkj ds LokLF; ea=ky; }kjk ^L=h&Hkzw.kgR;k jksdFkke gsrq* egkjk"V™

ljdkj dks izsf"kr ^Kkiu* dk uewuk rS;kj dhft,A

(2) funs'kd] Hkkjrh; jsy foHkkx dh vksj ls dk;kZy;ksa esa Bhd le;

ij mifLFkfr gsrq izsf"kr ^ifji=* dk uewuk rS;kj dhft,A

(bZ) fuEufyf[kr esa ls fdlh ,d ifjPNsn dk fganh esa vuqokn dhft, % [5]

Character is destiny; character is that on which the destiny of

nation is built. One cannot have great nation with men of small

character. But whether in public life or student life, we cannot

reach great heights if we are lacking in character. We cannot

climb the mountain when the very ground at our feet is

crumbling.
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vFkok

pkfj´; Eg.kts HkkX;] pkfj´; Eg.kts dsY;keq š jk"V™kps HkforO; ?kMrs rs- lkekU;

pkfj´;kP;k yksdkaeq š jk"V™ egku gks≈ 'kdr ukgh- lkoZtfud thou vlks vFkok

fo|kFkhZ thou vlks tksi;±r vkiY;k pkfj´;kr derjrk vlsy rksi;±r vki.k

,dk fof'k"V maphi;±r iksgpw 'kdr ukgh- tj vkiY;k ik;k[kkyhy tehu ljdr

vlsy rj vki.k ioZr p<w 'kd.kkj ukgh-
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[4301]-316

iz;kstuewyd fganh % lkekU;Lrj&3

le; % rhu ?kaVs iw.kk±d % 80

lwpuk,° :— (i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'uksa ds iw.kk±d gSaA

1. (v) fuEufyf[kr vaxzsth okD;ksa esa ls fdUgha vkB okD;ksa dk fganh esa vuqokn

dhft, % [8]

(1) Chief Controller has returned the papers.

(2) Nothing is due from the contractor.

(3) The banks have granted loans on cash terms to be flood

stricken persons.

(4) The matter has been under consideration for a long

time.

(5) Copy forwarded for information and necessary action.

(6) Government sanctioned as interest free loan to such

employees whose houses were damaged by the floods.

(7) Our call bell is not in working order. Please get it repaired

soon.

(8) The bill is returned as a joining report is not attached

with it.
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(9) The final bill is not on the prescribed form.

(10) The matter has been referred to the Administration

Ministry.

(11) The receipt of the letter has been acknowledged.

(12) This amount has become irrecoverable. May be written

off.

(vk) fuEufyf[kr vaxzsth laf{kfIr;ksa esa ls fdUgha vkB laf{kfIr;ksa dk fganh esa vuqokn

dhft, % [8]

(1) C.T.B.T.

(2) C—DEC

(3) D.R.D.A.

(4) F.E.R.A

(5) G.A.T.T.

(6) I.B.R.D.

(7) I.M.F.

(8) I.R.D.P.

(9) N.C.T.E.

(10) R.R.B.

(11) S.A.A.R.C.

(12) U.K.
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2. (v) fuEufyf[kr esa ls fdUgha nks fo"k;ksa ij fjiksVZ ys[ku dhft, % [8]

(1) jsy nq?kZVuk

(2) egkfon~;ky; esa euk;k x;k fganh fnol

(3) vius xk°o esa lEiUu pquko tkxj.k vfHk;ku

(4) viuh dkWyksuh dk LoPNrk vfHk;kuA

(vk) fuEufyf[kr ifjPNsn dk lkjys[ku dhft, vFkok ifjPNsn ds voyksdukRed

iz'uksa ds mŸkj fyf[k, % [8]

dfork Nancº gksrh gS vkSj gj Nan dh viuh xfr gksrh gS] vr% mldk

viuk izHkko Hkh gksrk gSA lkFk gh mldk ,d lhek rd dfork ds Hkko

ls lEcU/k Hkh gksrk gSA fQj vuqoknd D;k djs \ Hkkjrh; Hkk"kkvksa esa

,d izdkj ds Nan gSa] tks Qkjlh vkfn esa nwljh rjg ds gSa vkSj ;wjksih;

Hkk"kkvksa esa rhljh rjg dsA ,slh fLFkfr esa nks gh jkLrs vuqoknd ds lkeus

gSaµ;k rks og y{; Hkk"kk esa izkIr mi;qDr Nan esa vuqokn dj ns] ij ,slk

djus ls ewy Nan dk lkjk izHkko lekIr gks tk,xk] ;k fQj og lzksr lkexzh

ds Nan esa gh vuqokn djsA fdUrq blesa Hkh ckr ugha cusxhA ,d rks ml

Nan dks ml Hkk"kk esa mrkj ikuk ges'kk vklku ugha gksxk] ;fn mrkj Hkh

ysaA lzksr lkexzh dk Nan lzksr Hkk"kk&Hkkf"k;ksa ij ijaijkxr :i esa tks izHkko

Mkyrk vk jgk gS] y{; Hkk"kk&Hkk"kh ij vuH;Lr gksus ds dkj.k og izHkko

ugha Mky ik,xkA
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vFkok

(1) Nancº dfork dk vuqokn dSls lEHko gS \

(2) ys[kd us Nan ds dkSu&dkSuls xq.kksa dk mYys[k fd;k gS \

(3) y{; Hkk"kk vkSj lzksr Hkk"kk fdls dgrs gSa \

(4) izLrqr x|ka'k dk mfpr 'kh"kZd nhft,A

3. (v) fuEufyf[kr esa ls fdlh ,d ij vkdk'kok.kh vFkok nwjn'kZu ds fy, foKkiu

dk uewuk rS;kj dhft, % [6]

(1) gkse fFk,Vj Vhoh

(2) jkT;Lrjh; dfork izfr;ksfxrk

(3) u;k dEI;wVj

(4) egkfon~;ky;ksa dh vksj ls dY;k.kdkjh ;kstuk,°A

(vk) fuEufyf[kr esa ls fdlh ,d ifjPNsn dk fganh esa vuqokn dhft, % [6]

Like prophet Gandhiji did not merely show the way he followed

it and took with him millions of his fellowmen. His philosophy

of passive resistance was based on two concepts—non-violence

and the abiding faith that every human being has a moral

sense to which ultimately a successful appeal can always be

made. In South Africa he fought General Smuts and in India

British Imperialism with that powerful weapon with results

which are recorded in some of the most inspiring pages of

history.



[4301]-316 11 P.T.O.

vFkok

xk°/khthauh vkEgkl nsonwrkizek.ks QDr ekxZp nk[kfoyk ukgh rj R;kauh ts

dkgh lkafxrys rs Lor% dsys vkf.k yk[kksas lkFkhauk R;kauh vkiY;k lkscr

?ksrys- lR;kxzgkps R;kaps rRoKku nksu fopkjkaoj vk/kkfjr gksrsµvfgalk vkf.k

n`< fo'okl dh ts uSfrd tkx`rh ckˇx.kkÚ;k izR;sd O;fDr toˇ vlrs

o 'ksoVh T;koj dqBY;kgh xks"Vhpk ;'kLoh izHkko iMw 'kdrks- R;kauh nf{k.k

vf›dsr tujy LeV~l vkf.k Hkkjrkr lkezkT;kcjkscj ;kp 'kfDr'kkyh

'kL=kus y<k fnyk T;kps ifj.kke bfrgklkP;k egku LQwrhZnk;d i`"BkaeË;s

vafdr vkgsr-

4. (v) fuEufyf[kr esa ls fdUgha pkj y?kwŸkjh iz'uksa ds mŸkj fyf[k, % [20]

(1) vuqokn ds egRo dks le>kb,A

(2) jktHkk"kk fganh ds 351 vuqPNsn ij izdk'k Mkfy,A

(3) lwpuk izkSn~;ksfxdh dk HkweaMyhdj.k ij fdl izdkj izHkko iM+k

gS \

(4) tulapkj ek/;eksa esa fganh dk iz;ksx fdl izdkj gks jgk gS \ Li"V

dhft,A

(5) dsaÊh; ljdkjh dk;kZy;ksa esa jktHkk"kk fganh dk dk;kZUo;u fdl izdkj

gksrk gS \

(6) {ks= dk;Z dk vFkZ ,oa egRo le>kb,A
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(vk) fuEufyf[kr fo"k;ksa esa ls fdUgha pkj ij fVIif.k;k° fyf[k, % [16]

(1) nwjn'kZu dh Hkk"kk

(2) nwjn'kZu vkSj iz;kstuewyd fganh

(3) {ks= dk;Z dh iz.kkfy;k°

(4) izfrosnu fjiksVZ

(5) fganh izpkj djus okyh LoSfPNd fganh laLFkkvksa dk ifjp;

(6) vuqla/kku {ks= dk p;uA
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Seat

No. [4301]-317

T.Y. B.A. EXAMINATION, 2013

HINDI : SPECIAL-3

fganh % fo'ks"k&3

fganh lkfgR; dk bfrgkl

(vkfndky ls vk/kqfud dky rd)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk,° :— (i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSaA

1. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj fyf[k, % [16]

(d) fganh lkfgR; ds bfrgkl dk dky&foHkktu vkSj ukedj.k ds fo"k; esa izfrikfnr

fofHkUu erksa dh leh{kk dhft,A

([k) jhfrdkyhu lkfgR; dh izeq[k izo`fŸk;ksa dk foospu dhft,A

2. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj fyf[k, % [16]

(x) œ".kHkfDr dkO; dh lkekU; izo`fŸk;ksa dk ifjp; nhft,A

(?k) izseekxhZ dkO;/kkjk dk ifjp; nsrs gq, mlesa tk;lh dk LFkku fu/kkZfjr

dhft,A

P.T.O.
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3. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj fyf[k, % [16]

(p) izxfroknh dkO;/kkjk ds izeq[k dfo;ksa dk ukeksYys[k djrs gq, izxfroknh dkO;

dh izo`fŸk;ksa ij izdk'k Mkfy,A

(N) Nk;kokn dh izeq[k fo'ks"krkvksa dk foospu djrs gq, Nk;koknh dfo ds :i

esa t;'kadj izlkn dk ifjp; nhft,A

4. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj fyf[k, % [16]

(t) fganh ukVd ds fodklÿe dk ifjp; nsrs gq, ,d ukVddkj ds :i esa

t;'kadj izlkn dk ;ksxnku Li"V dhft,A

(>) fganh miU;kl fo/kk ds fodklÿe ij izdk'k Mkfy,A

5. (v) fuEufyf[kr iz'uksa esa ls fdUgha pkj iz'uksa ds mŸkj la{ksi esa fyf[k, % [8]

(1) Nk;kokn dh nks fo'ks"krk,° fyf[k,A

(2) izxfrokn ds nks izeq[k dfo;ksa ds uke fyf[k,A

(3) ubZ dfork dh nks izo`fŸk;k° fyf[k,A

(4) ^xksnku* miU;kl ds egRo dks la{ksi esa le>kb,A

(5) Hkkjrsanq ;qx ds nks fuca/kdkjksa ds uke fyf[k,A

(6) t;'kadj izlkn ds nks ukVdksa ds uke fyf[k,A

(vk) fuEufyf[kr iz'uksa esa ls fdUgha vkB iz'uksa ds mŸkj ,d&,d okD; esa

fyf[k, % [8]

(1) ^'ks[kj ,d thouh* ds ys[kd dkSu gSa \

(2) fganh ds fdlh ,d euksoSKkfud miU;kl dk uke fyf[k,A
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(3) gtkjhizlkn n~foosnh ds nks fuca/k laxzgksa ds uke fyf[k,A

(4) Hkkjr&ikd foHkktu ij vk/kkfjr Hkh"e lkguh ds izfln~/k miU;kl dk

uke fyf[k,A

(5) ^eSyk vk°py* ds izeq[k ik=ksa ds uke fyf[k,A

(6) ^fiz;izokl* fdldh jpuk gS \

(7) iz;ksxokn ds nks dfo;ksa ds uke fyf[k,A

(8) ^dkek;uh* fdl dkO;/kkjk dh jpuk gS \

(9) ^ljkst&Le`fr* fdldh jpuk gS \

(10) jk"V™h; dkO;/kkjk dh nks fo'ks"krk,° fyf[k,A
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Seat

No. [4301]-318

T.Y. B.A. EXAMINATION, 2013

HINDI : SPECIAL-4

fganh % fo'ks"k&4

(Hkk"kkfoKku vkSj fganh Hkk"kk)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk,° :— (i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'uksa ds iw.kk±d gSaA

1. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(d) fganh ds 'kCnlewg dk ifjp; nsrs gq, fons'kh 'kCnksa dk egRo Li"V

dhft,A

([k) Hkk"kk ds fofo/k :iksa dk ifjp; nsrs gq, jk"V™Hkk"kk dk egRo v/kksjsf[kr

dhft,A

2. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(x) nsoukxjh fyfi dk ukedj.k crkdj mlds xq.k&nks"k Li"V dhft,A

(?k) LFkku ds vk/kkj ij O;atuksa dk oxhZdj.k Li"V dhft,A

P.T.O.
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3. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(p) vFkZifjorZu ds dkj.k Li"V dhft,A

(N) Hkk"kkfoKku ds vaxksa dk ifjp; nhft,A

4. fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, % [16]

(1) 'kkjhfjd fofHkUurkokn

(2) dk'kh ukxjh izpkfj.kh lHkk] okjk.klh

(3) okD; foHkktu ds vk/kkj

(4) Loj oxhZdj.kA

5. (v) fuEufyf[kr iz'uksa esa ls fdUgha pkj iz'uksa ds mŸkj la{ksi esa fyf[k, % [8]

(1) iz;Ruyk?ko fdls dgrs gSa \

(2) Hkk"kk dh dksbZ ,d fo'ks"krk Li"V dhft,A

(3) cksyh vkSj Hkk"kk dk vUrj la{ksi esa fyf[k,A

(4) ek=k ds izdkj fyf[k,A

(5) Hkk"kkfoKku dh 'kk[kkvksa dk mYys[k dhft,A

(6) laca/krRo fdls dgrs gSa \

(vk) fuEufyf[kr esa ls fdUgha vkB iz'uksa ds mŸkj ,d&,d okD; esa fyf[k, % [8]

(1) iz;kx esa dk;Zjr jk"V™Hkk"kk dk izlkj djus okyh laLFkk dk uke

fyf[k,A
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(2) Hkk"kk dh ifjHkk"kk fyf[k,A

(3) vo/kh ds fdUgha nks dfo;ksa ds uke fyf[k,A

(4) vFkZladksp fdls dgrs gSa \

(5) Hkkstiqjh dgk° cksyh tkrh gS \

(6) Loj fdls dgrs gSa \

(7) ukflD; /ofu;ksa ds mnkgj.k fyf[k,A

(8) Hkk"kkfoKku dh ifjHkk"kk fyf[k,A

(9) in fdls dgrs gSa \

(10) okD; dh ifjHkk"kk fyf[k,A
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T.Y. B.A. EXAMINATION, 2013
PERSIAN

General  Paper  III
(2008  PATTERN)

Time : Three Hours   Maximum Marks : 80
Text :— (1) Miras-e-Zban-e-Farsi. 

(2) Chahar Maquala.          

N.B. :—(1) All  questions are compulsory.

(2) Figures to the right indicate full marks.

1. Write any one of the following : [16]

(i ) Explain the life sketch and literary works of Shaikh Saadi.

(i i ) Write Anwari as a great Qasida Nigar.

(i i i ) Discuss the poetic art of Iqbal.

2. Explain in Persian or explain and translate into English, Urdu or

Marathi any four of the following : [16]

 


 


 



P.T.O.

 Seat
  No.



 

 

 

 

 

 



3. Explain the life history of literary works of Nizami Urozi. [16]

Or

Trace the general survey of the stories  .

4. (A) Reproduce in your own words in Persian any one of the

following : [8]

  

 

 

(B) Write the central idea of any two of the following : [8]

 

 

 
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5. Translate into English, Urdu or Marathi any two passages of the

following : [16]

 



  




 


 




 


  





 

 

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 

 


 
  

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Seat

No. [4301]-320

T.Y. B.A. EXAMINATION, 2013

SANSKRIT

General Paper III

Title : (1) Pratimanatakam

     (2) Bhaminivilasah

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

1. Translate into English or Marathi any two from Section ‘A’ and ‘B’ each

from the following passages :

iq<hy ifjPNsnkaiSdh ^v* vkf.k ^c* foHkkxkrhy dks.kR;kgh nksgksaps baxzthr fdaok ejkBhr

Hkk"kkarj djk %

Section A

(foHkkx ^v*)

(i) lhrkµge~ vk;Ziq= ek [kyq ek [kYosoa Hkf.krqe~A

jke%µvyeya lEHkzes.kA vfrÿkUr% [kYos"k% dky%A v;s dqrks uq

js.kq% leqRirfr yks/kzlekuxkSj%

lEizko`.kksfr p fn'k% iouko/kwr%A

'kÃ/ofu'p iVgLou/khjuknS%

lewfPNZrks oufena uxjhdjksfr˚

P.T.O.

[10]
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(ii) jktkµ (fdf¥pr~ lek‹oL;) ckykds lqeU= ,d ,o uuq izkIr%A

dk¥pqdh;% µ egkjkt vFk fde~ \

jktkµ d"Va Hkks%A

'kwU;% izkIrks ;fn jFkks HkXuks ee euksjFk%A

uwua n'kjFka usrqa dkysu izsf"krks jFk%˚

rsu fg 'kh?kza izos';rke~A

(iii) vonkfrdk µ vgks vR;kfgre~A ifjgklsukihea oYdyeqiu;UR;k eeSrkon Hk;eklhr~

fda iquyksZHksu ij/kua gjr%A gflrqfeosPNkfeA u [kYosdkfdU;k

gflrO;e~A

(rr% izfo'kfr lhrk lifjokjk)

lhrk µ gys vonkfrdk ifj'kf¡ro.ksZo n`';rsA fdUuq [kfYooSrr~A

psVh µ HkfV~Vuh lqyHkkijk/k% ifjtuks ukeA

vijkºk Hkfo";frA

Section B

(foHkkx ^c*)

(i) xq¥tfr e¥tq fefyUns ek ekyrh ekSueqi;klh%A

f'kjlk onkU;xqjo% lknjesua ogfUr lqjrjo%˚

fda [kyq jRuSjsrS% fda iqujHkzkf;rsu oiq"kk rsA

lfyyefi ;Uua rkode.kZo onua iz;kfr r`f"krkuke~˚

[10]
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(ii) LoyksZdL; f'k[kkef.k% lqjr#xzkeL; /kkekn~Hkqra

ikSyksehiqjgwu;ks% ifj.kfr% iq.;koyhukeflA

lR;a uUnu fda fRona l‚n;SfuZR;a fof/k% izkF;Zrs

RoRr% [kk.Moj≥~xrk.MouVks nwjs∑Lrq oS‹okuj%˚

(iii) e/kq Êk{kk lk{kkne`ueFk okek/kjlq/kk

dnkfpRds"kkafpUu [kyq fon/khjUufi eqne~A

/kzqoa rs thoUrks∑I;gg e`rdk eUner;ks

u ;s"kkekuUna tu;fr txUukFkHkf.kfr%˚

2. Explain with reference to the context any two from Section ‘A’ and

‘B’ each :

^v* vkf.k ^c* foHkkxkrhy izR;sdh nksu okD;kaps llanHk± Li"Vhdj.k djk %

Section A

(foHkkx ^v*)

(i) prq.kk± o.kkZukeHk;feo nkrqa O;oflr%A

(ii) oztrq pjrq /ke± Hkr`ZukFkk fg uk;Z%A

(iii) fuEuLFkyksRikndks fg dky%A

(iv) thokfe 'kwU;L; jFkL; lwr%A

[10]
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Section B

(foHkkx ^c*)

(i) mUenokj.kcqºÓk e/;stBja leqPNyfrA

(ii) fo'ofLeUu/kqukU;% dqyozra ikyf;";fr d%A

(iii) vfLr ee f'kjfl lrra uUndqekj% izHkq% ije%A

(iv) eqdqUneq[kpfUnjs fpjfena pdksj;rke~A

3. Write descriptive notes on any one from Sections ‘A’ and ‘B’ each :

^v* vkf.k ^c* foHkkxkrhy izR;sdh ,dk fo"k;koj foospd Vhi fygk %

Section A

(foHkkx ^v*)

(i) Nandi

ukanh

(ii) Description of kings of Raghukula made by Devakulika.

nsodqfydkus dsysys j?kqoa'kkrhy jktkaps o.kZu-

Section B

(foHkkx ^c*)

(i) Description of a ‘noble person’ in izkLrkfodfoykl-

izkLrkfodfoyklkrhy lTtu iq#"kkaps o.kZu-

(ii) Tadaganyokti

rMkxkU;ksDrh-

[8]

[8]

[10]
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4. Critically appreciate the 5th (fifth) act of izfrekukVde~- [12]

Or

(fdaok)

Discuss Bhasa’s style and his techniques of dramaturgy reflected in

izfrekukVde~-

^izfrekukVdkrhy* Hkklkph Hkk"kk'kSyh vkf.k ukVÓra= ;koj fuca/k fygk-

5. Elaborate description of Krishna made by Jagannatha in Shantavilasa.

txUukFkkus 'kkarfoyklkr dsysys ^œ".ko.kZu*- [12]

Or

(fdaok)

Explain in detail ^deykU;ksfDr%* in Prastavikvilas.

izkLrkfodfoyklkrhy ^deykU;ksfDr%* lfoLrj Li"V djk-
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Seat

No. [4301]-321

T.Y. B.A. EXAMINATION, 2013

SANSKRIT

Special Paper III

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts : (i) y?kqfln~/kkUrdkSeqnh

laKk] dkjd] lfU/k-

(ii) History of Vedic Literature.

oSfnd ok≥~e;kpk bfrgkl

(iii) Sanskrit Composition.

laLœr fuca/kys[ku-

1. Explain any three of the following : [15]

iq<hyiSdh dks.kR;kgh frghaps Li"Vhdj.k djk %

(i) v.kqfnRlo.kZL; pk∑izR;;%A

(ii) ,≥ inkUrknfrA

(iii) "Vquk "Vq%A

(iv) vrks jksjIyqrknIyqrsA

(v) vk/kkjks∑f/kdj.ke~A

P.T.O.
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2. (A) Write notes on any three of the following : [6]

iq<hyiSdh dks.kR;kgh frghaoj Vhik fygk %

(i) /kkrq%A

(ii) vuqukfld%A

(iii) deZA

(iv) lo.kZnh?kZlfU/k%A

(v) bRlaKkA

(B) Split any two conjuncts of the following quoting relevant

rules : [4]

iq<hyiSdh nksgksapk lacaf/kr lw=s lkaxwu laf/kfoxzg djk %

(i) ikod%A

(ii) ir¥tfy%A

(iii) gjh ,rkSA

(iv) fo".kqL=krkA

(C) Give any five Vibhaktis of the underlined words from the following

sentences giving relevant rules : [5]

[kkyhy okD;krhy dks.kR;kgh ikp v/kksjsf[kr 'kCnkaP;k foHkDrh lacaf/kr lw=kaP;k

vk/kkjs lkaxk %

(i) ek.koda iUFkkua i`PNfrA

(ii) jtdL; oL=a nnkfrA

(iii) jkes.k grks ckyhA

(iv) xzkekr~ vk;kfrA
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(v) bUÊk; o"kV~A

(vi) x.ks'kk; ue%A

(vii) eks{ks bPNk vfLrA

(viii) jke% xzkea xPNfrA

3. (A) Write an information on a commentators of the Rgveda. [12]

ΩXosnkP;k Hkk";dkjkafo"k;h FkksMD;kr ekfgrh nÓk-

Or

(fdaok)

Write an essay on the Atharvaveda.

vFkoZosnkoj fuca/k fygk-

(B) Explain the Kalpa and Siksa Vedañga. [12]

dYi vkf.k f'k{kk osnkax Li"V djk-

Or

(fdaok)

Write an essay on Upanisad.

mifu"kn~ ;koj fuca/k fygk-

4. Write critical paragraph on any two of the following : [16]

iq<hyiSdh dks.kR;kgh nksgksaoj foospd ifjPNsn fygk %

(i) Grammar of Panini

ikf.kuh; O;kdj.k
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(ii) Structure of the Rgveda

ΩXosnkph jpuk

(iii) Chandas

NUnl~

(iv) Sadvimsabrahmana

"kM~foa'kczkg~e.k-

5. Write a short essay in Sanskrit on any one of the following : [10]

[kkyhyiSdh dks.kR;kgh ,dkoj laLœrkr laf{kIr fuca/k fygk %

(i) dfo% Hkkl%A

(ii) ijksidkjk; lrka foHkwr;%A

(iii) iznw"k.kleL;kA
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Texts : vkRekukRefoosd (Atmanatmaviveka)

rdZlaxzg (Tarkasamgraha)

1. (A) Explain with reference to the context (any three) of the

following : [15]

[kkyhyiSdh dks.kR;kgh frUghaps llanHkZ Li"Vhdj.k djk %

(i) 'kjhjifjxzgkn~ nq%[ka tk;rsA

(ii) izdj.kizfrik|L; rUe/;s ikSuk%iqU;su izfriknueH;kl%A

(iii) LFkwy'kjhja uke i¥phœr&Hkwr%dk;± deZtU;a tUekfn"kM~fodkje~AA

(iv) dkj.k'kjhja uke 'kjhj};gsrq%A

(v) LFkwy'kjhje~ vUue;dks"k%A

P.T.O.
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(B) Explain with reference to the context (any three) of the

following : [15]

[kkyhyiSdh dks.kR;kgh frUghaps llanHkZ Li"Vhdj.k djk %

(i) ckykuka lq[kcks/kk; fÿ;rs rdZl¬zg%A

(ii) r= xU/korh i`fFkohA

(iii) la;ksxuk'kdks xq.kks foHkkx%A

(iv) okD;a f}fo/ke~A

(v) v;FkkFkkZuqHkofL=fo/k% la'k;foi;Z;rdZHksnkr~A

2. Who is the Adhikari according to Sankaracarya ? [15]

'kadjkpk;k±P;k ers vf/kdkjh dks.k \

Or

(fdaok)

Explain fully the concept of subtle-body.

^lw{e'kjhj* laiw.kZi.ks Li"V djk-

3. Explain fully the ‘Pratyaksapramana’. [15]

^izR;{kizek.k* laiw.kZ Li"V djk-

Or

(fdaok)

Explain fully the Upamanapramana and Sabdapramana.

^miekuizek.k* o ^'kCnizek.k* iw.kZi.ks Li"V djk-
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4. Write critical notes on any two of the following : [10]

[kkyhyiSdh dks.kR;kgh nksgksaoj fpfdRld Vhik fygk %

(i) euu o fufn/;klu-

Manana and Nididhyasana.

(ii) Pranamayakosa.

izk.ke;dks"k-

(iii) Ajñana

vKku-

5. Write critical notes on any two of the following : [10]

[kkyhyiSdh dks.kR;kgh nksgksaoj fpfdRld fVik fygk %

(i) Pañcavayavi Vakya

i¥pko;oh okD;

(ii) Dravya

ÊO;

(iii) Paksa, Sapaksa and Vipaksa.

i{k] li{k vkf.k foi{k-
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osˇ % rhu rkl ,dw .k xq.k % 80

Nalakaha (u«dgk)

1. Translate any two of the following passages into English or

Marathi : [8]

[kk«h«iSdh dks.kR;kgh nksu ifjPNsnkaps baxzthr vFkok ejkBhr Hkk"kkarj djk %

(i) vu«ks Oo u«ks nqfOolgrs;iljks ljkslosjhfgaA

ifRFkoeRFk;i.kfe;i;de«ks ik«, jTta˚

vUu;k u«s.k iqfPN;k eafr.kksµt.kvksofTt;a pso fdega efga ik«sfe] vvks vfg;a \

rsfga Hkf.k;aµfrHkkxw.ka Hkjgºa HkqŸka fulgs.k] rqea iq.k l;«a Hkjgºa HkaqtflA rk tqŸka

iqŸkks fim.kks vfgvks fŸkA fdarq iqjh rD[klh«k vfRFk bvks nksfga tks;.kl,fgaA rRFk

d;acks jk;kA lks rqg vk.ka u eUusbA
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(ii) rks  jk;k,ls.ka  HkÌk  varsmjLl ifMgkjhA

dqekjh,° iqjks fuodqejfoDdes dfgmek<Ÿkk˚

dkflu;jh ujslks ,lks n<Hkq;c«ks [c«ks] ukeA

ojlq bea tb xaxa rqaxrjaxa egfl nÎaq˚

ne;arh, Hkf.kvaµHkÌs ! ijoap.koflf.k.kks dkflokfl.kks lqOoafrA rk u es befEe

jeb e.ka fr vXxvks xPNA

(iii) rvks Nqfj,.k fNUua ol.kºaA ne;arhoRFkap«s f«fg;kba fu;#fgjs.k vD[kjkbaA

oM#D[kg nkfg.kfnlfga tkb fonfCHkfg eXxqA

okefnflfg iq.k dkslf«fg tfga #Ppb rfga «Xxq˚

vga iq.k vUuRFk ofPpLlaA rvks vlÌa #;arks Oo fugq;Ddeks xaqraq i;Íks u«ksA

fi;i.kbf.ka ilqŸka of«;da/kja i«ks;arks xarw.k dsfŸk;a fi HkwfeHkkxa fpafrma ioŸkksA

2. Explain with reference to the context any two of the following :  [8]

iq<h«iSdh dks.kR;kgh nksgksaps llanHkZ Li"Vhdj.k djk %

(i) ta ib.kks Hko.ka ra iba fo.kk ijkHkoHko.ka ps;a ukjh.kaA

(ii) fu;tkblaxed, nqD[ks nqD[ka /kqoa ,bA

(iii) ik,.k dqiqfjlk.ka u lgkoks vUugk gksbA

3. Compare the story of u« from dqekjik«izfrcks/k and from egkHkkjr-  [16]

dqekjik«izfrcks/kkr vk«sY;k o egkHkkjrke/;s vl«sY;k u«dFksph rq«uk djk-
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Or

(fdaok)

Give the character-sketch of ne;arh-

ne;arhps O;fDrfp=.k djk-

4. Write a critical paragraph on any one of the following : [8]

iq<h«iSdh dks.kR;kgh ,dk fo"k;koj foospd ifjPNsn f«gk %

(i) Date and work of Somaprabhacarya

lkseizHkkpk;k±pk dk« o dk;Z

(ii) Story of King Mammana and Queen Viramati.

jktk eEe.k o jk.kh ohjerhph dFkk-

5. Translate any two of the following into English or Marathi : [8]

[kk«h«iSdh dks.kR;kgh nksgksaps baxzthr fdaok ejkBhr Hkk"kkarj djk %

(A) ,RFkarjs nqTtm nqf..kok# e;.kkm# io.ka t;dqek#A

.km folgb rb;m fnolq ,arq vPNb fojgk.k«s >ai nsarq˚

/kwekb o«b /kx/kxb fpŸkq .ka eafn# vCHkarjs if«ŸkqA

pafn.km panq pan.kq t«Ìq dIiqjde«n«lsTteÌq˚
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nkfg.kek#m lh;«t«kb° rgks vfXxQqfYa«xb° dso«kb°A

f.kÏgb vaxqoaxb° v.kaxq lTt.kfg;;kb° o filq.klaxq˚

.khllb llb osob res.k /kkgob /kkgk iapes.kA

mÔ.kvkgj.kilkg.kkb° lOob° vaxgks° vlqgko.kkb°˚

(B) ra f.klq.ksfo osoafr leqfÎ; vIiq.kq os fc rkm dl/kk,fg° g;m iq.kqIiq.kqA

^fda tkjgks W .kkfg lqo..kq ?kjs tsa dMm ?kMkos fo Nqgb djs̊

v..kq fo ,fŸkm lksgXxq dm ts dad.kq nsb dqek# rmA

dMqvD[kjigjHk;kmjm latk;m cs fo f.k#Ÿkjm˚

gDdkjsfo iHkf.km dwjHkMq ^g; tksŸks egkjgoh<s pMqA

,;m nqÎm vo«D[k.km lfl/ko«ke«dq««aN.km˚

ekfganiqjgks W nwjarjs.k ifjf?kfofo vkm lqgqW jgojs.kA

ftg eqvgq° .k vkob oŸk egq .ka f.klq.ksfo lan.kq tqŸkq «gq˚

(C) gk dEeq dkb° fdm dsmeb [k«s eqb; «gslfg do.k xbA

gk rk; efgan ebanq /kjs lqil..kfdfŸk ifMjD[k djs˚

gk ek;fj rqgq fe .k laFkofg eqPNkfo; nqfg; leqRFkofgA

xa/kOogks nsogks nk.kogks foTtkgfd..kjek.kogks̊



[4301]-323 5 P.T.O.

tD[kgks jD[kgks jD[kgks lfg; .ka rks iapk.k.ks.k xfg;A

ra f.klq.ksfo xa/kOokfgobZ j.ks nqTtm ijmo;kjeb˚

ef.kpwMq j;.kpwMgs nbm iapk.k.kq tsRFkq rsRFkq vbmA

vÎkom lkom gksfo fFkm gfj ikjkmÎm rs.k fdm˚

6. Explain with reference to the context any two of the following :  [8]

[kk«h«iSdh dks.krsgh nksu llanHkZ Li"V djk %

(i) ,gq tb .kkes.k v.karoh# nljgHkk;# v.kj..ktkmA

(ii) mIi..k fpar dgks d..k nsfeA

(iii) fda o;.ksfg° ogq,Wfg okfgjsfgA

(iv) eb° ljlm v..kq .k dks fo ikmA

7. Critically evaluate 19th canto of vat.kkio.kat;oqŸkarq- [16]

vat.kkio.kat;oqŸkarqP;k 19O;k laf/kps foospd jlxzg.k djk-

Or

(fdaok)

Give the character sketch of vatuk-

vatukps O;fDrfp=.k djk-
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8. Give notes on any two from the following : [8]

[kk«h«iSdh dks.kR;kgh nksuoj fVik f«gk %

(i) jko.kkps ozrxzg.k-

Ravana’s observance of vows.

(ii) iouat;kpk 'kksd-

Lamentation of Pavanajaya.

(iii) izgflr vkf.k olarek«k-

Prahasita and Vasantamala.
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PART A

(Udana I, II, III)

1- Translate the following into English or Marathi (any two) : [12]

baxzth fdaok ejkBhr Hkk"kkarj djk (dks.krsgh nksu) %

(1) vFk [kks vk;Lek uUnks lgk;dkua fHkD[kwua Hkrdoknsu p mifDdrdoknsu p

vV~Vh;ekuks gjk;ekuks ftxqPNekuks ,dks owidV~Bks vIierks vkrkih ifgrrks fogjUrks

ufpjLlso&;LlRFkk; dqyiqŸkk lEenso vxkjLek vuxkfj;a iCctfUr

rnuqŸkjaµcz„pfj;ifj;kslkua fnV~Bso /kEes l;a vfHk¥¥kk lfPNdRok milEiTt

fogkfl A ^^[kh.kk tkfr] oqflra cz„pfj;a] dra dj.kh;a] ukija bRFkŸkk;k** fr

vCHk¥¥kkfl A v¥¥krjks [kks iuk;Lek uUnks vjgra vgksfl A

(2) ^^fdLl iu Roa] uUn] vufHkjrks cz„pfj;a pjfl] u lDdksfl cz„pfj;a

lU/kkjsrqa] flD[ka iPpD[kk; ghuk;kofŸkLllh** fr\ ^^lkfd;kuh ea HkUrs]
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tuindY;k.kh ?kjk fuD[keUrLl miM~<qfYyf[krsfg dslsfg viyksdsRok ea ,rnokspµ

^rqoVa [kks] v∏;iqŸk] vkxPNs∏;klh* fr A lks [kks vga] HkUrs] reuqLljekuks

vufHkjrks cz„pfj;a pjkfe] u lDdksfe cz„pfj;a lU/kkjsrqa] flD[ka iPpD[kk;

ghuk;kofŸkLlkeh** fr A

(3) rsu [kks iu le;su i¥peŸkkfu nsorklrkfu mLlqDda vkiUukfu gksfUr vk;Lerks

egkdLliLl fi.MikrifVykHkk; A vFk [kks vk;Lek egkdLliks rkfu i¥perkfu

nsorklrkfu ifVfD[kfiRok iqCc.gle;a fuoklsRok iŸkphojeknk; jktxga fi.Mk;

ikfofl&;su nfyÌfofl[kk di.kfofl[kk isldkjfofl[kk A vÌlk [kks Hkxok

vk;LeUra egkdLlia jktxgs fi.Mk; pjUra ;su nfyÌfofl[kk di.kfofl[kk

isldkjfofl[kk A

(4) ,oa es lqraµ,d le;a Hkxok m#osyk;a fogjfr uTtk usj¥tjk; rhjs cksf/k#D[kewys

iBekfHklEcqºks A rsu [kks iu le;su Hkxok lŸkkga ,diYy≥~dsu fuflUuks

gksfr foeqfŸklq[kifVlaosnh A vFk [kks Hkxok rLl lŸkkgLl vPp;su rEgk

lekf/kEgk oqV~BfgRok jfŸk;k efT>ea ;kea ifVPpleqIikna ifVyksea lk/kqda

eulkdkfl A

2- Explain with reference to the context (any two) : [8]

lanHkkZlfgr Li"Vhdj.k djk (dks.krsgh nksu) %

(1) befLae lfr bna gksfr] beLlqIiknk bna mIiTtfr] befLae vlfr bna u gksfr]

beLl fujks/kk bna fu#T>fr A
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(2) ^^vu¥¥kiksfle¥¥kkra] nUra lkjs ifrfV~Bra A

[kh.kkloa oUrnksla] rega czwfe czk„.k**fUr ˚

(3) ^^lCca ijola nqD[ka] lCca bLlfj;a lq[ka A

lk/kkj.ks fog¥¥kfUr] ;ksxk fg nqjfrDdek**fr ˚

(4) ^^;ks czk„.kks ckfgriki/kEeks]

fugqaagq≥~dks fuDdlkoks ;rŸkks A**

3- Answer any one of the following : [12]

[kkyhyiSdh ,dkps mŸkj fygk %

(1) ^cksf/koXxks* ;k ikBkps fpfdRld jlxzg.k djk-

(2) ^eqpfyUnlqŸka* ;k ikBkps fpfdRld jlxzg.k djk-

4- Write short notes on (any two) : [8]

FkksMD;kr fVik fygk (dks.krsgh nksu) %

(1) r.gk

(2) czk„.klqŸka

(3) ckfg;lqŸka

(4) jktlqŸka A
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PART B

(Cariyapitaka)

1- Translate the following into English or Marathi (any two) : [12]

baxzth fdaok ejkBhr Hkk"kkarj djk (dks.krsgh nksu) %

(1) ^^iqukija ;nk gksfe] pwˇcksf/k lqlhyok A

Hkoa fnLoku Hk;rks] usD[kEea vfHkfuD[kfea ˚

^^;k es nqfrf;dk vkfl] czk„.kh dudlfUuHkk A

lkfi oV~Vs vuisD[kk] usD[kEea vfHkfuD[kfe ˚

^^fujky;k fNUucU/kw] vuisD[kk dqys x.ks A

pjUrk xkefuxea] ckjk.kfleqikxeqa ˚

(2) ^^rs ea j¥¥kks nLlf;alq] ikiLl ikilsfouks A

fnLoku ra l¥¥kkisfla] ee¥p olekuf;a ˚

^^lks ea rRFk [kekisfl] egkjTtenkfl es A

lksga rea nkyf;Rok] iCcfta vuxkfj;a ˚

^^u es nsLla egkjTta] dkeHkksxks u nsfLl;ks A

lCc¥¥kqra fi;a e∏ga] rLek jTta ifjPpft**fUr ˚

(3) ^^lg dksis leqIiUus] lhyCcreuqLlfja A

rRFkso dksia fuXxf.ag] uknkfla ofM~<rwifj ˚
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^^;fn ua czk„f.ka dksfp] dksV~Vs∏; fr.glfŸk;k A

uso lhy ifHkUns∏;a] cksf/k;k;so dkj.kk ˚

^^u eslk czk„.kh nsLlk] ufi es cya u foTtfr A

lCc¥¥kqra fi;a e∏ga] rLek lhykuqjfD[kl**fUr ˚

2- Explain with reference to the context (any two) : [8]

lanHkkZlfgr Li"Vhdj.k djk (dks.krsgh nksu) %

(1) lPpsu es leks ufRFk] ,lk es lPpikjeh**fr ˚

(2) ^^u rLl vfyda Hkf.kraa] ;Fkk okpa vdklga A

lPpsu es leks ufRFk] ,lk es lPpikjeh**fr ˚

(3) ^^bfr lhyora gsrq] ukjfDa[k ee thfora A

iCcktsfla pga rLl] lnk ik.kkfrikfrd**fUr ˚

(4) lŸkkga /kkjf;Roku] mXxrs jfoe.Mys A

jFksu ea uhgfjRok] lkjFkh oueqikxfe ˚

3- Write short notes (any two) : [8]

laf{kIr fVik fygk (dks.krsgh nksu) %

(1) osLlUrjpfj;k

(2) ekr≥~xpfj;k

(3) usD[kEea

(4) lCc¥¥kqra A
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4- Write an essay on any one of the following into Marathi or

English : [12]

[kkyhyiSdh dks.kR;kgh ,dk fo"k;koj ejkBh vFkok baxzthrwu fuca/k fygk %

(1) flfojktpfj;k

(2) vfdfŸkoXxks A



Total No. of Questions—5] [Total No. of Printed Pages—4+2
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T.Y. B.A. EXAMINATION, 2013

ARABIC

General Paper III

(2008  PATTERN)

Time : Three Hours   Maximum Marks : 80

1. Translate into English or Urdu or Marathi any two of the following

passages : [16]

 















P.T.O.

 Seat
  No.



 















 














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2. (A) Explain with reference to the context any  four of the following

couplets : [8]

 



 



 



 



 



 



 


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(B) Write the short notes on any two of the following poets : [8]

 

 

 

 

3. (A) Explain with reference any one of the following Surahs : [8]

 

 

 

 

(B) Summarise any two of the following lessons : [8]

 

 

 
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4. Define with examples any two of the following topics : [16]

 

 

 

 

5. (A) Translate the following passage into English : [8]









(B) Translate the following passage into Arabic : [8]

‘‘Madras is a big city. Its inhabitants exceed three million

persons. It is the capital of the state of Tamil Nadu. It is

situated in South on the Bay of Bengal. It is an industrial and
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commercial city. The ships anchor at its port and carry its

goods and bring to the traders and the industrialists what is

required by them from abroad. An Airport, Highways and

the Railway Station connect her with the other states of

India.’’
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-326

T.Y. B.A. EXAMINATION, 2013

ECONOMICS

General Paper III

(Indian Public Finance)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any

two) : [10]

(i) State the importance of Public Finance.

(ii) Explain the concept of ‘Gender Budget’.

(iii) Explain the advantages of Deficit Budget.

(iv) Explain the Revenue Sources of State Government.

2. Write notes in 100 words each (any four) : [20]

(i) Private Finance and Public Finance.

(ii) Types of Budget.

P.T.O.
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(iii) Burden of Internal and External Public Debt.

(iv) Instruments of Fiscal Policy.

(v) Centre-state financial relations.

(vi) 13th Finance Commission.

3. Answer the following questions in 200-250 words each (any

three) : [30]

(i) Explain ‘The Principle of Maximum Social Advantage’.

(ii) Explain the classification of public expenditure.

(iii) Explain the process of preparation and presentation of Indian

Central Budget.

(iv) State and explain the causes of Centre-State Conflict on

Finance.

(v) Explain the methods of repayment of Public Debt.

4. Answer the following questions in 500 words (any one) : [20]

(i) Explain in detail the effects of Taxation on Production,

Distribution and Employment.

(ii) State the meaning of Deficit Financing and explain causes and

effects of deficit financing.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [10]

(i) lkoZtfud vk;O;;kps egRo lkaxk-

(ii) f«axk/kkfjr vankti=dkph ladYiuk Li"V djk-

(iii) rqVhP;k vankti=dkps Qk;ns Li"V djk-

(iv) jkT; ljdkjP;k eglq«h mRiUukps ekxZ Li"V djk-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) %  [20]

(i) [kktxh vk;O;; vkf.k lkoZtfud vk;O;;

(ii) vankti=dkps izdkj

(iii) lkoZtfud dtkZpk varxZr o ck· Hkkj

(iv) jktdks"kh; /kksj.kkph lk/kus

(v) dsaÊ&jkT; foŸkh; laca/k

(vi) rsjkok foŸkh; vk;ksx-

3. [kk«h« izðukaph izR;sdh 200-250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) %  [30]

(i) egŸke lkekftd «kHkkps rRo Li"V djk-

(ii) lkoZtfud [kpkZps oxhZdj.k Li"V djk-
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(iii) HkkjrkP;k dsafÊ; vankti=dkph vk[k.kh vkf.k lknjhdj.kkph izfÿ;k Li"V

djk-

(iv) dsaÊ&jkT; foŸkh; la?k"kkZph dkj.ks lkaxk o Li"V djk-

(v) lkoZtfud dtkZP;k ijrQsMhP;k iºrh Li"V djk-

4. [kk«h« izðukps 500 ðkCnkar mŸkj f«gk (QDr ,d) % [20]

(i) mRiknu] foHkktu vkf.k jkstxkj ;kofj« djkps ifj.kke lfoLrj Li"V djk-

(ii) rqVhP;k vFkZHkj.;kpk vFkZ lkaxk vkf.k rqVhP;k vFkZHkj.;kph dkj.ks vkf.k ifj.kke

Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-327

T.Y. B.A. EXAMINATION, 2013

ECONOMICS

Special Paper III

(S-3 : International Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any

two) : [10]

(i) State the meaning and scope of International Economics.

(ii) State the importance of gains of International Trade.

(iii) State the functions of I.M.F.

(iv) State the objectives of W.T.O.

2. Write short notes in 100 words each (any four) : [20]

(i) International trade

(ii) Protected trade policy

P.T.O.
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(iii) Terms of trade

(iv) Convertibility of Indian rupees

(v) Foreign Trade multiplier

(vi) World Trade Organization and India.

3. Answer the following questions in 200 to 250 words each (any

three) : [30]

(i) Explain the arguments in favour and against of free trade

policy.

(ii) Explain the causes of unfavourable terms of trade to less

developed countries.

(iii) Explain the India’s export-import policy.

(iv) State the objectives and functions of World Bank.

(v) Explain the causes of deficit in balance of payments of

India.

4. Answer any one of the following questions in 500 words : [20]

(i) Explain and critically examine Heckscher-Ohlin theory of

international trade.

(ii) Explain the causes of disequilibrium of balance of payments

and measures for correct disequilibrium.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) %  [10]

(i) vkarjjk"V™h; vFkZðkkL=kpk vFkZ o O;kIrh lkaxk-

(ii) vkarjjk"V™h; O;kikj «kHkkps egRo lkaxk-

(iii) vkarjjk"V™h; uk.ks fu/khph dk;sZ lkaxk-

(iv) tkxrhd O;kikj la?kVusph mfÌ"Vs Li"V djk-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) %  [20]

(i) vkarjjk"V™h; O;kikj

(ii) laj{khr O;kikj /kksj.k

(iii) O;kikj ðkrhZ

(iv) Hkkjrh; :i;kph ifjorZuh;rk

(v) fonsðkh O;kikj xq.kd

(vi) tkxrhd O;kikj la?kVuk vkf.k Hkkjr-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(i) eqDr O;kikj /kksj.kkP;k cktwpk o fo#º cktwpk ;qDrhokn Li"V djk-

(ii) vYifodlhr nsðkkP;k O;kikjðkrhZ izfrdw« vl.;kph dkj.ks Li"V djk-



[4301]-327 4

(iii) Hkkjrkps vk;kr&fu;kZr /kksj.k Li"V djk-

(iv) tkxrhd c°dsph mfÌ"Vs o dk;sZ lkaxk-

(v) HkkjrkP;k O;ogkjrks«kP;k rqVhph dkj.ks Li"V djk-

4. [kk«h«iSdh dks.krkgh ,d izðukph mŸkj 500 ðkCnkar f«gk % [20]

(i) vkarjjk"V™h; O;kikjkpk gsDpj&vksg«hupk flºkar foðkn d:u R;kps fVdkRed

ifj{k.k djk-

(ii) O;ogkjrks« vlerks«kph dkj.ks lkaxwu vlerks« nq#Lr dj.;kps mik; Li"V

djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-328

T.Y. B.A. EXAMINATION, 2013

ECONOMICS

Special Paper IV

(S-4 : Quantitative Techniques and Project Work

Only for Internal Students)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 50

N.B. :— (i) All questions are compulsory.

(ii) Answer should be neat and to the point.

(iii) Figures to the right indicate full marks.

(iv) Use of calculator is allowed.

1. Answer the following (any two) : [10]

(i) State the sources of secondary data.

(ii) State the merits of mode.

(iii) Solve :

5y = 100 Q  y = .......... ?

(iv) Find the mode from the following series :

4, 2, 4, 2, 1, 3, 2, 1, 4, 2, 3, 1, 2, 4, 6, 4, 2, 3, 5, 0, 9,

8, 2.

2. Answer the following (any two) : [10]

(i) State the importance of tabulation.

(ii) State the characteristics of good report.

P.T.O.
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(iii) Find simple interest on Rs. 20,000 for two years at 10% rate

of interest.

(iv) The population of village is 1,50,000. The male-female ratio

is 2 : 3. Calculate total male and female.

3. Answer the following (any two) : [16]

(i) Explain the main steps of report writing.

(ii) What is sampling ? Explain the types of sampling.

(iii) Find the compound interest on Rs. 10,000 for 5 years at 8%

rate of interest.

(iv) Calculate the mean from the following table :

Class Interval Frequency

0—10 10

10—20 13

20—30 12

30—40 20

40—50 5

50—60 10

4. Answer the following (any one) : [14]

(i) Explain in detail the importance and types of tabulation.

(ii) Calculate the median and mode from the following table :

X F

20 8

30 12

40 20

50 10

60 6

70 4
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(ejkBh :ikarj)

oš  % 2 rkl ,dw .k xq.k % 50

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mŸkjs leidZ o eqÌslwn vlkohr-

(iii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iv) dWYD;w«sVj okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs f«gk (dks.krsgh nksu) %  [10]

(i) ekfgrh lad«ukps nq∏;e Úksr lkaxk-

(ii) cgq«dkps xq.k lkaxk-

(iii) lksMok %

5y = 100 

Q

 y = .......... ?

(iv) [kk«h« inek«sP;k vk/kkjs cgq«d dk<k %

4, 2, 4, 2, 1, 3, 2, 1, 4, 2, 3, 1, 2, 4, 6, 4, 2, 3, 5, 0, 9,

8, 2.

2. [kk«h« izðukaph mŸkjs f«gk (dks.krsgh nksu) %  [10]

(i) lkj.khps egRo lkaxk-

(ii) pkaxY;k vgok« «s[kukph oSfðk"Vs lkaxk-

(iii) 10% njkus 20,000 #- eqÌ«kps ljˇO;ktkus 2 o"kkZr fdrh O;kt gksbZ« \

(iv) ,dk [ksMÓkph «ksdla[;k 1,50,000 vkgs- L=h&iq#"k izek.k 2 : 3 vls vkgs]

rj [ksMÓkrh« L=h o iq#"kkaph la[;k dk<k-

3. [kk«h« izðukaph mŸkjs f«gk (dks.krsgh nksu) %  [16]

(i) vgok« «s[kukps eq[; VIis lkaxk-

(ii) uewuk fuoM Eg.kts dk; \ uewuk fuoMhps izdkj foðkn djk-

(iii) 10,000 #- jDdesoj 8% O;ktnjkus 5 o"kkZlkBh pÿok< O;kt dk<k-
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(iv) [kk«h« rDR;kP;k vk/kkjs e/;ek (Mean) dk<k %

oxk±rj okjaokfjrk

0—10 10

10—20 13

20—30 12

30—40 20

40—50 5

50—60 10

4. [kk«h« izðukaph mŸkjs f«gk (dks.krkgh ,d) % [14]

(i) lkj.khps egRo lfoLrj foðkn djk- lkj.khps izdkj lkaxk-

(ii) [kk«h« rDR;kP;k vk/kkjs e/;kad (Median) vkf.k cgq«d (Mode)

dk<k %

X F

20 8

30 12

40 20

50 10

60 6

70 4
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Total No. of Questions—4+4] [Total No. of Printed Pages—8+4

Seat

No. [4301]-329

T.Y. B.A. EXAMINATION, 2013

ECONOMICS

Special Paper IV

(Quantitative Techniques)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answer should be precise and to the point.

(iv) Use of calculator is allowed.

1. Solve any two of the following : [10]

(1) A = {3, 4, 5, 7}, B = {5, 6, 7, 8}

Find :

A ∪ B, A ∩ B.

(2) A shopkeeper buys a desk for Rs. 5,000 and sells it for

Rs. 5,600. What is his gains per cent ?

(3) Solve the following :

P + 2 P 3
P

6 3

−
− = .

(4) Explain the basic concept of sample.
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2. Solve any four of the following : [20]

(1) The flowers in each meter square of a lawn were counted

and the number was recorded below :

Number of Flowers Number of such

in each sq. m Meter Squares

0 8

1 6

2 5

3 3

4 2

5 1

Draw a bar chart to display the data above.

(2) 100 cars were tested to see how far they travelled on 10

litres of a certain petrol and their results recorded

below :

Distance in km Number of Cars

100—109 5

110—119 15

120—129 25

130—139 35

140—149 20

Draw less than and more than curves.

(3) Differentiate between the following :

(i) Histogram and Bar diagram.

(ii) Classification and Tabulation.
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(4) Scale the data and find the mean of the following :

0.01, 0.03, 0.04, 0.07, 0.09.

(5) What is the probability that a letter of alphabet (English) selected

at random is a vowel ?

(6) Define and discuss (i) quartile deviation and (ii) standard

deviation.

3. Solve any three of the following : [30]

(1) Use matrix method to solve the following pair of simultaneous

equations :

       3x + y = – 1

       x + 2y = – 1.

(2) When will average variable cost (AVC) be at its minimum value

for the given total cost (TC) function :

     TC = 40 + 82q – 6q2 + 0.2 q3.

(3) In a competitive market, where the supply price in Rs. is

P = 3 + 0.25q and demand price is P = 15 – 0.75q. If the

Govt. imposes a tax per unit of Rs. 4, how much of a price

rise will this tax mean to consumers ? What will be the tax

revenue raised ?
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(4) Calculate standard deviation and mean for the following :

         X = 1, 2, 4, 6, 8, 9.

(5) Derive the determinant of matrix :

       

4 3 10

A = 7 0 3 .

12 2 5

 
 
 
 
 
  

4. Solve any one of the following : [20]

(1) Explain each of the following :

(i) Least square method

(ii) Moving average method

(iii) Semi-average method

(iv) Link relative method.

(2) State the merits and demerits of each of the

following :

(i) Arithmetic mean

(ii) Geometric mean

(iii) Median

(iv) Mode.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs leiZd o fcupwd vlkohr-

(iv) lk/kk dWYD;q«sVj okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krsgh nksu izðu lksMok %  [10]

(1) tj A = {3, 4, 5, 7}, B = {5, 6, 7, 8}, rj A ∪ B vkf.k

A ∩ B dk<k-

(2) ,dk nqdkunkjkus ,d Vsc« 5,000 #- «k fodr ?ksr«s vkf.k 5,600 #-

«k fod«s- R;k«k gks.kkjk ðksdMk uQk fdrh \

(3) lksMok %

P + 2 P 3
P

6 3

−
− = .

(4) ueqU;kph ladYiuk Li"V djk-

2. [kk«h«iSdh dks.krsgh pkj izðu lksMok %  [20]

(1) xorkP;k ,dk LDosVj ehVj e/kh« Qq«s ekst«h vkf.k [kk«h« izek.ks vkdMsokjh

feˇk«h %

izR;sd LDosvj ehVj e/kh« vðððððkk LDosvj ehVlZph

Qq«s la[;k

0 8

1 6

2 5

3 3

4 2

5 1

ojh« vkdMsokjh nðkZfo.kkjk LraHkk«s[k dk<k-
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(2) 10 «hVj isV™ks«e/;s xkMh fdrh /kkors gs igk.;klkBh 100 xkMÓkapk vH;kl

ds«k] o [kk«h« vkdMsokjh feˇk«h %

varj (fdeh-) xkMÓkaph la[;k

100—109 5

110—119 15

120—129 25

130—139 35

140—149 20

lapf;r okjaokfjrk oÿ dk<k-

(3) [kk«h« ckchae/kh« Qjd Li"V djk %

(i) vk;rfp= vkf.k LraHkk«s[k

(ii) oxhZdj.k o lkj.khdj.k-

(4) [kk«h« vkdMsokjho:u ljkljh dk<k %

0.01, 0.03, 0.04, 0.07, 0.09.

(5) baxzth v{kjkae/kwu ;n`PNsus ,d v{kj mp««s rj rs v{kj Eg.kts Loj vls«

;kph ðkD;rk ekstk-

(6) prqFkZd fop«u vkf.k izekf.kr fop«u ;kaph O;k[;k djk o Li"V

djk-

3. [kk«h«iSdh dks.krsgh rhu izðu lksMok % [30]

(1) eWfV™Dl iºrhpk okij d:u f}p« lehdj.k lksMok %

       3x + y = – 1

       x + 2y = – 1.
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(2) TC = 40 + 82q – 6q2 + 0.2 q3 gs ,dw.k [kpZ lehdj.k fn«s«s vlrkuk

ljkljh cn«rk [kpZ fdeku ikrˇh dsOgk xkBs« rs lkaxk-

(3) Li/kkZRed cktkjke/;s iqjoBk fdaer #- P = 3 + 0.25q vkgs] vkf.k ekx.kh

fdaer #- P = 15 – 0.75q vkgs- tj ðkklukus izR;sd mRiknukoj #- 4

brdk dj vkdkj«k rj miHkksDR;kauk |koh «kx.kkjh fdaer fdrh gksbZ«] vkf.k

dj eglw« fdrh xksˇk gksbZ« \

(4) ljkljh o izekf.kr fop«u dk<k %

       X = 1, 2, 4, 6, 8, 9.

(5) [kk«h« eWfV™Dlps fu/kkZj.k djk %

       

4 3 10

A = 7 0 3 .

12 2 5

 
 
 
 
 
  

4. [kk«h«iSdh dks.krkgh ,d izðu lksMok % [20]

(1) dk«ekf«dsP;k dks.kR;k ?kVdklkBh [kk«h« iºrh mi;ksxh iMrkr rs f«gk o

Li"V djk %

(i) fdeku oxZ iºr

(ii) cn«rh ljkljh iºr

(iii) mikUR; ljkljh iºr

(iv) lk[kˇh lkis{k iºr

(v) izFke Qjd iºrh-
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(2) [kk«h fn«sY;k izR;sdkps xq.k o nks"k lkaxk %

(i) xf.kr e/;

(ii) Hkwferh e/;

(iii) Hkkfjr e/;

(iv) e/;dk

(v) cgq«d-
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[4301]-329

S4 : Development and Environmental Economics

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any

two) : [10]

(1) Explain the causes of water pollution.

(2) Explain the concept of economic growth.

(3) Explain the vicious circle of poverty.

(4) Explain the importance of land reforms.

2. Write short notes in 100 words each (any four) : [20]

(1) Indicators of economic growth

(2) Big push

(3) Critical minimum effort theory

(4) Population explosion

(5) Balance growth

(6) Importance of environment.
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3. Answer the following questions in 200 to 250 words each (any

three) : [30]

(1) Explain the causes of low productivity of Agriculture.

(2) Explain the characteristics of less developed country.

(3) Explain the Karl Marx’s theory of economic

development.

(4) State and explain the main objectives of monetary policy of

developing countries.

4. Answer any one of the following in 500 words : [20]

(1) What is economic development ? Explain the role played by

Multinational Companies in economic development.

(2) What is economic planning ? Explain the need and types of

economic planning.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) t« iznq"k.kkph dkj.ks Li"V djk-
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(2) vkfFkZd o`ºhph ladYiuk Li"V djk-

(3) nkfjÊÓkps nq"Vpÿ Li"V djk-

(4) tehu lq/kkj.kkps egRo Li"V djk-

2. [kk«h« izR;sdh 100 ðkCnkar Vhik f«gk (dks.kR;kgh pkj) %  [20]

(1) vkfFkZd o`ºhps funsZðkd

(2) izcˇ pk«uk fdaok tksjkpk /kDdk flºkar

(3) fu.kkZ;d fdeku iz;Ru flºkUr

(4) «ksdla[;k foLQksV

(5) lerks« fodkl

(6) i;kZoj.kkps egRo-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) ðksrhph vYi mRikndrsph dkj.ks Li"V djk-

(2) vYifodflr nsðkkaph oSfðk"VÓs Li"V djk-

(3) vkfFkZd fodklkpk dk«Z ekDlZpk flºkar Li"V djk-

(4) fodluðkh« nsðkkrh« p«ufo"k;d /kksj.kkph eq[; mfÌ"VÓs lkaxk o Li"V

djk-
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4. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) vkfFkZd fodkl Eg.kts dk; \ vkfFkZd fodklkr cgqjk"V™h; daiU;kaph Hkwehdk

ikj ikMrkr-

(2) vkfFkZd fu;kstu Eg.kts dk; \ vkfFkZd fu;kstukph xjt vkf.k izdkj Li"V

djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—7

Seat

No. [4301]-330

T.Y. B.A. EXAMINATION, 2013

POLITICS

General Paper III

(India and The World)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) : [10]

(i) India—Non-Aligned Movement

(ii) Security Council

(iii) Human Rights

(iv) Non-Proliferation Treaty (NPT).

2. Attempt any four questions (in 100 words each) : [20]

(i) Panchsheel doctrine

P.T.O.
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(ii) Simla Pact

(iii) World Bank

(iv) India’s National Security—Communalism

(v) India-Soviet Friendship Treaty

(vi) Comprehensive Test Ban Treaty (C.T.B.T.)

3. Attempt any three questions in 250 words each : [30]

(i) State causes of emergence of Non-Aligned Movement.

(ii) Explain the contribution of Jawaharlal Nehru’s in India’s Foreign

Policy.

(iii) Discuss the causes of failure of disarmament.

(iv) Explain the Indo-European relation.

(v) Explain the causes of Terrorism.

4. Attempt any one question in 500 words : [20]

(i) Explain the features of India’s Foreign Policy.

(ii) Discuss the contribution of W.T.O., I.M.F. and World Bank

to develop India.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.krsgh nksu izðu lksMok (izR;sdh 50 ðkCnkar) % [10]

(i) Hkkjrkph vf«Irrk

(ii) lqj{kk lferh

(iii) ekuoh gDd

(iv) v.oL= izlkjcanh djkj (N.P.T.).

2. [kk«h«iSdh dks.krsgh pkj izðu lksMok (izR;sdh 100 ðkCnkar) % [20]

(i) iapðkh« rRos

(ii) fle«k djkj

(iii) tkxfrd c°d

(iv) Hkkjrh; jk"V™h; lqjf{krrk&tekrokn

(v) Hkkjr&jfðk;k eS=h djkj

(vi) lh- Vh- ch- Vh-

3. [kk«h«iSdh dks.krsgh rhu izðu lksMok (izR;sdh 250 ðkCnkar) % [30]

(i) vf«Irrk pˇoˇhP;k mn;kph dkj.ks lkaxk-
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(ii) HkkjrkP;k ijjk"V™ /kksj.kkrh« tokgj«k« usg:aps ;ksxnku Li"V djk-

(iii) fu%ðkL=hdj.kkP;k vi;ðkkP;k dkj.kkaph ppkZ djk-

(iv) Hkkjr&;qjksfi;u laca/k Li"V djk-

(v) ngðkroknkph dkj.ks Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) HkkjrkP;k ijjk"V™ /kksj.kkph oSfðk"Vs Li"V djk-

(ii) HkkjrkP;k fodklkr tkxfrd O;kikj la?kVuk] tkxfrd uk.ksfu/kh vkf.k tkxfrd

c°d ;kaP;k ;ksxnkukph ppkZ djk-
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[4301]-330

(International Organisations)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) : [10]

(i) Nature of International Organizations

(ii) Nature of UNO

(iii) GATT

(iv) Collective Security.

2. Attempt any four questions (in 100 words each) : [20]

(i) UNO and Disarmament

(ii) Objectives of European Union

(iii) Objectives of W.T.O.

(iv) Nature of Terrorism

(v) Non-Proliferation Treaty—NPT

(vi) Principles of SAARC.
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3. Attempt any three questions (in 250 words each) : [30]

(i) Explain the functions of World Bank.

(ii) Explain the UNO’s importance as International Center Power.

(iii) Explain the challenges before the International Organisations.

(iv) Explain the functions of International Monetary Fund.

(v) Explain the importances of NGO.

4. Attempt any one question (in 500 words) : [20]

(i) Explain the functions of International Atomic Energy Agency

(IAEA).

(ii) Give a review of International Economic Organizations.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.krsgh nksu izðu lksMok (izR;sdh 50 ðkCnkar) % [10]

(i) vkarjjk"V™h; la?kVukaps Lo:i

(ii) la;qDr jk"V™la?kkps Lo:i

(iii) xWV djkj (GATT)

(iv) lkewfgd lqjf{krrk-
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2. [kk«h«iSdh dks.krsgh pkj izðu lksMok (izR;sdh 100 ðkCnkar) % [20]

(i) la;qDr jk"V™s vkf.k fu%ðkL=hdj.k

(ii) ;qjksih;u la?kkph mfÌ"Vs

(iii) tkxfrd O;kikj la?kVusph mfÌ"Vs

(iv) ngðkroknkps Lo:i

(v) v.oL= izlkjcanh djkj

(vi) lkdZps rŸos-

3. [kk«h«iSdh dks.krsgh rhu izðu lksMok (izR;sdh 250 ðkCnkar) % [30]

(i) tkxfrd c°dsph dk;sZ Li"V djk-

(ii) vkarjjk"V™h; e/;orhZ lŸkk Eg.kwu ;quksps egRo Li"V djk-

(iii) vkarjjk"V™h; la?kVukiq<h« vkOgkus Li"V djk-

(iv) vkarjjk"V™h; uk.ksfu/khph dk;sZ Li"V djk-

(v) fcxj&ðkkldh; la?kVusps egRo Li"V djk-

4. [kk«h«iSdh dks.krkgh ,dk izðukaps mŸkj f«gk (500 ðkCnkar) % [20]

(i) vkarjjk"V™h; v.kqðkDrh laLFksph dk;sZ Li"V djk-

(ii) vkarjjk"V™h; vkfFkZd la?kVukapk vk<kok ?;k-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-331

T.Y. B.A. EXAMINATION, 2013

POLITICS

Special Paper III

(Introduction to Public Administration)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(i) Historical approach

(ii) Unity of Command

(iii) Functions of Planning Commission

(iv) Lokpal.

2. Write short notes in 100 words each (any four) : [20]

(i) New Public Administration

P.T.O.
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(ii) Comparative Approach

(iii) Types of Staff Agencies

(iv) Methods of Training

(v) Nature of Public Administration

(vi) Merits of Administrative Tribunals.

3. Answer any three of the following questions in 200 to 250 words

each : [30]

(i) Explain the difference between Public and Private

Administration.

(ii) Define Recruitment. Discuss the kinds of Recruitment.

(iii) What is Department ? State the bases of the department.

(iv) Describe the budgetary process in India.

(v) State the nature of Public Policy.

4. Answer any one of the following in 500 words : [20]

(i) Explain the nature and functions of Management.

(ii) Define delegated legislation. Discuss the causes for the growth

of delegated legislation.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(i) ,sfrgkfld n`f"Vdksu

(ii) vkKSD;

(iii) fu;kstu vk;ksxkph dk;sZ

(iv) «ksdik«-

2. dks.kR;kgh pkjoj fVik f«gk (izR;sdh 100 ðkCnkar) % [20]

(i) uo«ksd izðkklu

(ii) rq«ukRed n`f"Vdksu

(iii) LVkQ vfHkdj.kkps izdkj

(iv) izfðk{k.kkP;k iºrh

(v) «ksdizðkklukps Lo:i

(vi) izðkkldh; U;k;kf/kdj.kkps xq.k-
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3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnki;±r f«gk % [30]

(i) «ksd izðkklu o [kktxh izðkklukrh« Qjd Li"V djk-

(ii) Hkjrhph O;k[;k djk- HkjrhP;k iºrh foðkn djk-

(iii) [kkrs Eg.kts dk; \ [kkR;kps vk/kkj lkaxk-

(iv) Hkkjrkrh« vankti=dh; izfÿ;kps o.kZu djk-

(v) lkoZtuhd /kksj.kkps Lo:i lkaxk-

4. [kk«h«iSdh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) O;oLFkkiukps Lo:i o dk;sZ Li"V djk-

(ii) iznŸk fof/kfu;ekph O;k[;k djk- iznŸk fof/kfu;e ok<hP;k dkj.kkph ppkZ

djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-332

T.Y. B.A. EXAMINATION, 2013

POLITICS

S-4 : Special Paper IV

(Political Concepts and Ideologies)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Progressive Nationalism.

(ii) Guild Socialism.

(iii) Neo-Liberal concept of State.

(iv) Types of Liberty.

2. Write short notes in 100 words each (any four) : [20]

(i) Max Weber’s classification of Authority.

P.T.O.
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(ii) Nature of State.

(iii) Bhudan.

(iv) Principles of Democratic Socialism.

(v) Syndicalism.

(vi) Meaning and nature of Feminism.

3. Answer any three of the following questions in 200 to 250 words

each : [30]

(i) Meaning and nature of the term ‘Power’.

(ii) Meaning and types of political obligation.

(iii) Gram Swarajya.

(iv) Features, merits and demerits of Fabianism.

(v) Liberal perspective of Feminism.

4. Answer any one question in 500 words : [20]

(i) Give the meaning of the term ‘Liberty’ and ‘Equality’. Explain

the relationship between ‘Liberty’ and ‘Equality’.

(ii) Define the term, ‘Nationalism’. Discuss various elements responsible

for the growth of Nationalism.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk % [10]

(i) izkxfrd jk"V™okn-

(ii) O;olk; la?kokn-

(iii) uo&mnkjeroknh jkT; ladYiuk-

(iv) Lokra´;kps izdkj-

2. dks.kR;kgh pkjoj FkksMD;kr Vhik f«gk (izR;sdh 100 ðkCnkr) % [20]

(i) eSDl oscjps vf/kdkjkps oxhZdj.k-

(ii) jkT;kps Lo:i-

(iii) Hkwnku-

(iv) «ksdðkkgh lektoknkph rRos-

(v) Jfed la?kokn-

(vi) L=hoknkpk vFkZ vkf.k Lo:i-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkr f«gk % [30]

(i) lŸkk ladYiuspk vFkZ vkf.k Lo:i-
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(ii) jktdh; vkca/kukps izdkj vkf.k vFkZ f«gk-

(iii) xzke LojkT;-

(iv) Qsfc;u lektoknkph oSfðk"VÓs] xq.k vkf.k nks"k f«gk-

(v) L=hoknkpk mnkjeroknh n`f"Vdksu-

4. [kk«h«iSdh dks.kR;kgh ,d izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) ^Lokra´;* vkf.k ^lerk* ;k ladYiuk Li"V djk- ^Lokra´;* o ^lerk* ;karh«

laca/k Li"V djk-

(ii) ^jk"V™okn* ladYiusph O;k[;k f«gwu jk"V™oknkP;k ok<hl dkj.khHkwr Bj.kkÚ;k

fofo/k ?kVdkaph ppkZ djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-333

T.Y. B.A. EXAMINATION, 2013

HISTORY

General Paper III

[History of the Marathas (1630-1818)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) What is meant by ‘Bakhar’ ?

(ii) What is meant by ‘Bargir and Shiledar’ ?

(iii) Explain the concept of ‘Maratha Confederacy’.

(iv) What is meant by ‘Mirasdar’ ?

2. Write short notes in 100 words each (any four) : [20]

(i) Ajnapatra.

P.T.O.
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(ii) Historical contribution of Saint Eknath.

(iii) Importance of Jawali Victory.

(iv) Salient features of Council of Eight Ministers.

(v) Role of Patil in Village Administration.

(vi) Paintings under the Peshwa.

3. Answer any three of the following questions in 250 words each : [30]

(i) Why did Chh. Shivaji Maharaj coronate himself ? State its

significance.

(ii) Analyse the nature of Mughal-Maratha conflict during the period

from 1681-1689.

(iii) Give an account of the Land Revenue System under the

Chh. Shivaji Maharaj.

(iv) Assess the consequences of Third Battle of Panipat.

(v) Evaluate the position of women during the Peshwa period.

4. Answer any one of the following questions in 500 words : [20]

(i) Bring out the written sources useful for the Maratha History.

(ii) Review the Central and Provincial Administration under the

Peshwa.



[4301]-333 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) ^c[kj* Eg.kts dk; \

(ii) ^ckjxhj o fðk«snkj* Eg.kts dk; \

(iii) ^ejkBk eaMˇ* gh ladYiuk Li"V djk-

(iv) ^fejklnkj* Eg.kts dk; \

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.kR;kgh pkj) % [20]

(i) vkKki=-

(ii) lar ,dukFkkaps ,sfrgkfld ;ksxnku-

(iii) tkoˇh fot;kps egRo-

(iv) v"Viz/kku eaMˇkph oSfðk"VÓs-

(v) xzke izðkklukrh« ikV«kph Hkwfedk-

(vi) isðkosdk«hu fp=d«k-
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3. [kk«h«iSdh dks.krsgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnkr f«gk % [30]

(i) N=irh fðkokth egkjktkauh jkT;kfHk"ksd dk ds«k \ R;kps egRo lkaxk-

(ii) b-l- 1681&1689 ;k dk«[kaMkrh« eksx«&ejkBk la?k"kkZps foð«s"k.k djk-

(iii) N=irh fðkokth egkjktkaP;k dkˇkrh« tfeu eglw« O;oLFkspk vk<kok ?;k-

(iv) frlÚ;k ikfuir;qºkP;k ifj.kkekaps eqY;ekiu djk-

(v) isðkosdk«hu L=h;kaP;k fLFkrhps eqY;ekiu djk-

4. [kk«h«iSdh dks.krkgh ,d izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(i) ejkBÓkaP;k bfrgklklkBh mi;qDr vl«sY;k f«f[kr lk/kukapk vk<kok ?;k-

(ii) isðkosdk«hu dsaÊh; o izkafr; izðkklukpk ekxksok ?;k-



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4301]-334

T.Y. B.A. EXAMINATION, 2013

HISTORY

Special Paper IV

[History of Transformation in Modern Maharashtra (1818-1960)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Discuss the experiments of National Education in the 19th

century in Maharashtra.

(2) Write a short note on the “Depressed Class Mission”.

(3) Discuss the changes in means of Transportation during the

British rule.

(4) Write a short note on the “Peasants-Workers Party”.

2. Write short notes in 100 words each (any four) : [20]

(1) “Maharashtra Dharma”
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(2) Cultural impact of the British Administration

(3) Bombay Association

(4) Impact of the non-Brahmin Movement in Maharashtra

(5) Economic Nationalism

(6) Meaning and philosophy of “Cooperative Movement”.

3. Answer the following questions in 250 words each (any three) : [30]

(1) Explain the economic impact of the British Rule in

Maharashtra.

(2) Review the moderate phase of the National Movement.

(3) Explain the contribution of the “Satyashodhak Samaj” in the

struggle for equality.

(4) Review the peasant movement in Modern Maharashtra.

(5) Give a brief review of Social Change and Marathi Literature.

4. Answer the following question in 500 words (any one) : [20]

(1) Review contribution of the “Samyukta-Maharashtra Movement

in creation of the Maharashtra State”.

(2) Discuss the contribution of Dr. Babasaheb Ambedkar in the

struggle for equality.



[4301]-334 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) 19O;k ðkrdkrh« egkjk"V™krh« jk"V™h; fðk{k.kkP;k iz;ksxkaph ppkZ djk-

(2) FkksMD;kr fVi f«gk µ fMizsLM D«kl feðku-

(3) fczVhðkdk«hu nˇ.koˇ.k lk/kukaP;k cn«kaph ppkZ djk-

(4) FkksMD;kr fVi f«gk µ ^ðksrdjh&dkexkj i{k*-

2- izR;sdh 100 ðkCnkr FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) egkjk"V™ /keZ

(2) fczVhðk izðkklukps lkaLœfrd ifj.kke

(3) ckWEcs vlksfl,ðku

(4) egkjk"V™krh« czk„.ksrj pˇoˇ

(5) vkfFkZd jk"V™okn

(6) lgdkj pˇoˇhpk vFkZ vkf.k rRoiz.kk«h-

3- [kk«h« izðukaph izR;sdh 250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) fczVhðk ðkklukps egkjk"V™koj >k«s«s vkfFkZd ifj.kke Li"V djk-
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(2) jk"V™h; pˇoˇhrh« eokˇ dk«[kaMkpk vk<kok ?;k-

(3) lersP;k «<Ókrh« lR;ðkks/kd lektkps ;ksxnku Li"V djk-

(4) vk/kqfud egkjk"V™krh« ðksrdjh pˇoˇhpk vk<kok ?;k-

(5) ^lkekftd cn« o ejkBh lkfgR;* ;kpk FkksMD;kr vk<kok ?;k-

4- [kk«h« izðukps mŸkj 500 ðkCnkr f«gk (dks.krsgh ,d) % [20]

(1) egkjk"V™ jkT;kP;k LFkkiuse/kh« ^la;qDr egkjk"V™ pˇoˇhP;k* ;ksxnkukpk

vk<kok ?;k-

(2) lersP;k «<Óke/kh« MkW- ckcklkgsc vkacsMdj ;kaP;k ;ksxnkukph ppkZ djk-



[4301]-334 5 P.T.O.

[4301]-334

(History of Modern China and Japan)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the political philosophy of Dr. Sun-Yat-Sen.

(2) State the consequences of Sino-Japanese War (1904-05).

(3) State the objects of the First Five Year Plan of China.

(4) What is meant by Economic Resurgence ?

2. Write short notes in 100 words each (any four) : [20]

(1) Treaty of Nanking

(2) Open Door Policy

(3) Long March

(4) Zaibatsu

(5) Anglo-Japanese Alliance (1902)

(6) Rome-Berlin-Tokyo Axis.

3. Answer the following questions in 250 words each (any three) : [30]

(1) Explain the causes and consequences of Taiping Rebelion in

China.
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(2) State the causes and consequences of the Revolution of 1911

in China.

(3) Examine the domestic policy of Chiang-Kai-Shek.

(4) Explain the role of Japan in the World War I.

(5) State the causes for the rise of Militarism in Japan.

4. Answer the following question in 500 words (any one) : [20]

(1) Which role was played by Mao-Tse-Tung in the history of

China ?

(2) Discuss the various reforms during the period of Meiji

Restoration in Japan.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) % [10]

(1) MkW- lu~&;r~&lsu~ ;kaps jktfd; rRoKku Li"V djk-
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(2) 1904&05P;k phu&tiku ;qºkps ifj.kke lkaxk-

(3) phuP;k ifgY;k iapokf"kZd ;kstusph mfÌ"VÓs lkaxk-

(4) vkfFkZd iqu#RFkku Eg.kts dk; \

2- izR;sdh 100 ðkCnkr FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) ukufdaxpk rg

(2) eqDr}kj /kksj.k

(3) «k°x ekpZ

(4) >ScRlq

(5) baX«aM&tiku djkj (1902)

(6) jkse&cf«Zu&VksD;ks v{k-

3- [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkr f«gk (dks.krsgh rhu) % [30]

(1) phue/kh« rk;fiax mBkokph dkj.ks o ifj.kke Li"V djk-

(2) lu~ 1911P;k phue/kh« jkT;ÿkarhph dkj.ks o ifj.kke lkaxk-

(3) p°x&dkbZ&ðksdP;k varxZr /kksj.kkps eqY;ekiu djk-

(4) tikuph ifgY;k egk;qºkrh« Hkwfedk Li"V djk-

(5) tikue/kh« «"djoknkP;k mn;kph dkj.ks lkaxk-
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4- [kk«h« izðukps 500 ðkCnkr mŸkj f«gk (dks.krkgh ,d) % [20]

(1) phuP;k bfrgklkr ekvks&Rls&rqax ;kauh dks.krh Hkwfedk ctko«h \

(2) esbZth&iquLFkkZiusP;k dkˇkr tikue/;s >k«sY;k fofo/k lq/kkj.kkaph ppkZ

djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-335

T.Y. B.A. EXAMINATION, 2013

HISTORY

Special Paper III

[History of Medieval India (1206-1707 A.D.)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the concept Feudalism.

(2) Explain the position of women in the Sultanate period.

(3) Explain the social structure during Mughal period.

(4) State the salient features of Mughal Architecture.

2. Write short notes in 100 words each (any four) : [20]

(1) Raziya Sultan
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(2) Sufism

(3) Krishnadeva Raya

(4) Mansabdari System

(5) Revenue system of the Mughals

(6) Taj Mahal.

3. Answer the following questions in 250 words each (any three) : [30]

(1) Examine the various experiments of Sultan Muhammed

Tughluq.

(2) Describe the various useful literary historical sources for the

study of medieval Indian History.

(3) Review the development of an architecture during the

Sultanate period.

(4) Describe the various reforms of Shershah Sur.

(5) Discuss the trade and industry during the Mughal period.

4. Answer the following question in 500 words (any one) : [20]

(1) Explain the military administration of Sultan Alauddin

Khalji.

(2) Discuss the central and provincial administration of Mughals.



[4301]-335 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) ^ljatkeðkkgh* gh ladYiuk Li"V djk-

(2) lq«rkuðkkghdk«hu fL=;kaph fLFkrh Li"V djk-

(3) eq?k«dk«hu lekt jpuk Li"V djk-

(4) eq?k« LFkkiR;d«sph Bˇd oSfðk"VÓs lkaxk-

2- izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) jf>;k lq«rku

(2) lqQh>e

(3) jktk œ".knsojk;

(4) eulcnkjh iºr

(5) eq?k«kaph eglw« O;oLFkk

(6) rktegk«-

3- [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) lq«rku eqgEen rq?k«dkP;k fofo/k iz;ksxkaps eqY;ekiu djk-
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(2) e/;dk«hu HkkjrkP;k bfrgklkP;k vH;klk«k mi;qDr vl«sY;k fofo/k f«[khr

,sfrgklhd lanHkZ lk/kukaps o.kZu djk-

(3) lq«rkuðkkghdk«hu LFkkiR;d«sP;k fodklkpk vk<kok ?;k-

(4) ðksjðkgk lqjP;k fofo/k lq/kkj.kkaps o.kZu djk-

(5) eq?k«dk«hu O;kikj o mnÓksxkaph ppkZ djk-

4- [kk«h« izðukps 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) % [20]

(1) lq«rku v«k≈Ìhu f[k«thph «"djh izðkklu O;oLFkk Li"V djk-

(2) eq?k«kaP;k dsaÊh; o izkarh; izðkklu O;oLFksph ppkZ djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-336

T.Y. B.A. EXAMINATION, 2013

ANTHROPOLOGY

General Paper 3

(Maharashtra — A Cultural Region)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in 50 words each : [10]

(1) Explain the concept of ‘Maharashtra Dharma’.

(2) What is Godavari Parulekar’s work among Warlis ?

(3) What is traditional Balutedari system ?

(4) Women’s contribution in Political movement of Maharashtra.

2. Write short notes on any four of the following in 100 words

each : [20]

(1) Ek Gaon Ek Panvatha
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(2) Peasant Movement

(3) Khandoba

(4) Warli Art

(5) Right to Information — Anna Hajare

(6) Maharshi Shinde — As a social reformer.

3. Answer any three of the following in 250 words each : [30]

(1) Explain the importance of Konkan as a cultural region.

(2) Explain the role of Dnyaneshwar and Tukaram in cultural life

of Maharashtra.

(3) Discuss the significance of Industrialization in Economic life

of Maharashtra.

(4) Explain the role of Shahu Maharaj and Dr. Ambedkar in social

reform movement of Maharashtra.

(5) Discuss the contribution of Maharshi Karve and Karmaveer

Bhaurao Patil in Educational Movement of Maharashtra.

4. Answer any one of the following in 500 words : [20]

(1) Explain the cultural importance of Tamasha, Lavani and Kirtan.

(2) Describe the social reform movement of Lokmanya Tilak and

G.K. Gokhale.



[4301]-336 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 50 ðkCnkai;±r mŸkjs f«gk % [10]

(1) ^egkjk"V™ /keZ* gh ladYiuk foðkn djk-

(2) xksnkojh i#«sdjkaps okj«hae/kh« dk;Z dk; vkgs \

(3) ikjaikfjd c«qrsnkjh iºr Eg.kts dk; \

(4) egkjk"V™kP;k jktdh; pˇoˇhrh« fL=;kaps ;ksxnku-

2- [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh 100 ðkCnkai;±r FkksMD;kr fVik f«gk % [20]

(1) ,d xko ,d ik.koBk

(2) ðksrdjh pˇoˇ

(3) [kaMksck

(4) okj«h d«k

(5) ekfgrhpk vf/kdkj µ v..kk gtkjs

(6) egf"kZ fðkans µ ,d lekt lq/kkjd-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh 250 ðkCnkai;±r mŸkjs f«gk % [30]

(1) ,d lkaLœfrd foHkkx Eg.kwu dksd.kkps egRo Li"V djk-
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(2) Kkusðoj vkf.k rqdkjke ;kaph egkjk"V™kP;k lkaLœfrd thoukrh« Hkqfedk Li"V

djk-

(3) egkjk"V™kP;k vkfFkZd thoukrh« vkSnÓksfxdj.kkps egRo ;kph ppkZ djk-

(4) ðkkgw egkjkt vkf.k MkW- vkacsMdj ;kaph egkjk"V™kP;k lektlq/kkj.kk pˇoˇhrh«

Hkqfedk Li"V djk-

(5) egf"kZ dosZ vkf.k deZohj Hkk≈jko ikVh« ;kaps egkjk"V™kP;k ðkS{kf.kd pˇoˇhrh«

;ksxnkukoj ppkZ djk-

4- [kk«h«iSdh dks.kR;kgh ,d izðukps 500 ðkCnkai;±r mŸkj f«gk % [20]

(1) rekðkk] «ko.kh vkf.k fdrZu ;kps lkaLœfrd egRo foðkn djk-

(2) «ksdekU; fVˇd vkf.k th-ds- xks[k«s ;kaps lektlq/kkj.kk pˇoˇ Li"V djk-



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4301]-337

T.Y.B.A. EXAMINATION, 2013

GEOGRAPHY (G-3)

(Gg-310 : Geography of Travel and Tourism)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer the following questions in about 20 words each (any ten) : [20]

(1) Define a domestic tourist.

(2) Write two characteristics of foreign tourist.

(3) Name any two National Parks in India.

(4) What is heritage tourism ?

(5) Name of any two natural factors that attract the tourist.

(6) Name any two hill stations in India.

(7) State the two disadvantages of water transport.

(8) Give any two functions of the Indian Tourism Development

Corporation.

(9) State any two economic impacts of tourism.
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(10) In which states are Pandharpur and Tirupati located ?

(11) What are the main attractions of the tourist place

Mahabaleshwar ?

(12) What do you mean by the symbiotic relationship between tourism

and environment ?

(13) State any two stages in the process of tourism planning.

2. Answer the following questions in about 50 words each (any two) : [10]

(1) Advantages of Air transportation

(2) Motels

(3) Sea side resorts

(4) Tourism and land pollution.

3. Answer the following questions in about 150 words each (any two) : [20]

(1) Explain importance of tourism.

(2) Explain the various social factors that attract the tourists.

(3) Explain Mahabaleshwar as a tourist place.

(4) Write a note on the Regional tourism planning.

4. Answer the following questions in about 300 words each (any two) : [30]

(1) Explain the various types of accommodations.
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(2) Explain the various cultural factors affecting on Tourism

Development.

(3) Tourism is an ‘economic activity’. Explain.

(4) Explain the various stages or levels in the process of tourism

planning.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vko';d rsFks lqcd vkœR;k dk<k-

(iv) udk'kk LVsfUlypk okij.;kl ijokuxh vkgs-

1- [kkyhy izðukaph mŸkjs izR;sdh lqekjs 20 'kCnkar fygk (dks.krsgh ngk) % [20]

(1) ns'kh i;ZVdkph O;k[;k fygk-

(2) fons'kh i;ZVdkph nksu oSf'k"VÓs fygk-

(3) Hkkjrkrhy nksu jk"V™h; m|kukaph ukos fygk-

(4) ijaijk i;ZVu Eg.kts dk; \

(5) i;ZVdkauk vkdf"kZr dj.kkjs dks.krsgh nksu uSlfxZd ?kVd lkaxk-

(6) Hkkjrkrhy dks.krsgh nksu fxjhLFkkus lkaxk-

(7) tyokgrqdhps nksu rksVs lkaxk-

(8) Hkkjrh; i;ZVu fodkl egkeaMˇkph dks.krhgh nksu dk;sZ lkaxk-

(9) i;ZVukps dks.krsgh nksu vkfFkZd ifj.kke lkaxk-
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(10) ia<jiwj o fr#irh dks.kR;k jkT;kr vkgsr \

(11) egkcˇs'oj ;k i;ZVu LFkˇkph eq[; vkd"kZ.ks dks.krh \

(12) i;ZVu o i;kZoj.k ;krhy lgthoh ukrs Eg.kts dk; \

(13) i;ZVu fu;kstuke/khy dks.kR;kgh nksu ik;Ú;k lkaxk-

2- [kkyhy izðukaph izR;sdh lqekjs 50 'kCnkar mŸkjs fygk (dks.krsgh nksu) % [10]

(1) gokbZ okgrqdhps Qk;ns

(2) eksVsYl

(3) lkxj fdukÚ;kojhy i;ZVuLFkˇs

(4) i;ZVu o Hkwiznw"k.k-

3- [kkyhy izðukaph mŸkjs izR;sdh lqekjs 150 'kCnkar fygk (dks.krsgh nksu) % [20]

(1) i;ZVukps egRo Li"V djk-

(2) i;ZVdkyk vkdf"kZr dj.kkjs fofo/k lkekftd ?kVd Li"V djk-

(3) egkcˇs'ojps i;ZVufo"k;d egRo Li"V djk-

(4) ^izknsf'kd ikrˇhojhy i;ZVu fu;kstu* ;koj fVi fygk-

4- [kkyhy izðukaph mŸkjs izR;sdh lqekjs 300 'kCnkar fygk (dks.krsgh nksu) % [30]

(1) fuoklLFkkukps fofo/k izdkj Li"V djk-

(2) i;ZVu fodklkoj ifj.kke dj.kkjs lkaLœfrd ?kVd Li"V djk-

(3) ^i;ZVu gh vkfFkZd fÿ;k vkgs-* Li"V djk-

(4) i;ZVu fu;kstukrhy fofo/k VIis Li"V djk-



[4301]-337 5 P.T.O.

[4301]-337

(Gg-310 : Geography of Tropical Agriculture)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer the following questions in about 20 words each

(any ten) : [20]

(1) State two technological determinants of Tropical Agriculture.

(2) Define systematic approach.

(3) State two characteristics of Plantation Agriculture.

(4) Name any two states in Tropical Asia.

(5) What is Land Fragmentation ?

(6) Name any two methods of irrigation.

(7) What is dryland farming ?

(8) Define food security.

(9) Define Green revolution.

(10) Name any two types of workers.

(11) What is Biotechnology ?

(12) Define organic farming.

(13) Name any two irrigation projects in India.
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2. Write notes on the following in about 50 words each (any two) : [10]

(1) Regional approach

(2) Canal irrigation

(3) Nala bunding

(4) Group plantation.

3. Answer the following questions in about 150 words each (any two) : [20]

(1) Explain the scope of Agricultural Geography.

(2) Describe the characteristics of shifting cultivation.

(3) Explain the role of agro-tourism in agricultural development.

(4) Discuss the use of modern technology in Indian Agriculture.

4. Answer the following questions in about 300 words each (any two) : [30]

(1) What is plantation agriculture ? Explain characteristics and

problems of plantation agriculture.

(2) What is drought ? Explain the causes and effects of drought.

(3) Explain the concept and methods of Watershed Management.

(4) Explain the importance of agriculture in Indian economy.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vko';d rsFks lqcd vkœR;k dk<k-

(iv) udk'kk LVsfUlypk okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh eqˇ baxzth iz'uif=dk igkoh-
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1- [kkyhy izðukaph mŸkjs izR;sdh lqekjs 20 'kCnkar fygk (dks.krsgh ngk) % [20]

(1) m".kdfVca/kh; 'ksrhps nksu rkaf=d ?kVd lkaxk-

(2) lq=cº ekaM.kh iºrhph O;k[;k lkaxk-

(3) eˇ;kP;k 'ksrhph nksu xq.koSf'k"VÓs lkaxk-

(4) m".kdfVca/kh; vkf'k;krhy dks.kR;kgh nksu ns'kkaph ukos lkaxk-

(5) rqdMhdj.k Eg.kts dk; \

(6) tyflapukP;k nksu flapu iºrhaph ukos lkaxk-

(7) dksjMokgq 'ksrh Eg.kts dk; \

(8) ^vUulqj{kk* O;k[;k lkaxk-

(9) gjhrÿkarhph O;k[;k lkaxk-

(10) dkexkjkaP;k nksu izdkjkaph ukos lkaxk-

(11) tSora=Kku Eg.kts dk; \

(12) lsafÊ; 'ksrhph O;k[;k lkaxk-

(13) Hkkjrkrhy dks.kR;kgh nksu tyflapu izdYikaph ukos lkaxk-

2- izR;sdh lqekjs 50 'kCnkar fVik fygk (dks.krsgh nksu) % [10]

(1) izknsf'kd vH;kliºrh

(2) dkˇok tyflapu

(3) ukˇkcafMax

(4) xV 'ksrh-
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3- [kkyhy izðukaph mŸkjs izR;sdh lqekjs 150 'kCnkar fygk (dks.krsgh nksu) % [20]

(1) œ"kh Hkwxksykph O;kIrh Li"V djk-

(2) LFkykarjhr 'ksrhph xq.koSf'k"VÓs o.kZu djk-

(3) œ"kh fodklkrhy œ"kh i;ZVukph Hkwfedk Li"V djk-

(4) Hkkjrh; 'ksrhrhy vk/kqfud ra=KkukP;k okijkph ppkZ djk-

4- [kkyhy izðukaph mŸkjs izR;sdh lqekjs 300 'kCnkar fygk (dks.krsgh nksu) % [30]

(1) eˇ;kph 'ksrh Eg.kts dk; \ eˇ;kP;k 'ksrhps xq.koSf'k"VÓs o leL;k Li"V

djk-

(2) vo"kZ.k Eg.kts dk; \ vo"kZ.kkps dkj.ks o ifj.kke Li"V djk-

(3) ik.kyksV {ks= fodklkph ladYiuk o iºrh Li"V djk-

(4) Hkkjrh; vFkZO;oLFksrhy 'ksrhps egRo Li"V djk-
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Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4301]-338

T.Y.B.A. EXAMINATION, 2013

S-3 : GEOGRAPHY

(Gg-320 : Fundamental Concepts in Geography)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer of the following questions in about 20 words each

(any ten) : [20]

(1) Who has separated Africa and Asia continent by Red Sea ?

(2) Who has introduced the concept of Unity in Diversity ?

(3) Define the term ‘Peneplain’.

(4) Name any two causes of climate change.

(5) Write the stages of demographic transition theory.

(6) Differentiate between State and Nation.

(7) Define Heartland theory.

(8) Write any two problems of rural-urban fringe.

(9) What is satellite town ?

(10) Define Applied Geography.
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(11) What is Idealism ?

(12) Write any two stages of economic development.

(13) Write any two causes of sea level changes.

2. Write notes on the following in 50 words each (any two) : [10]

(1) Contribution of Friedrich Ratzel

(2) Systematic Geography

(3) Causes of sea level changes

(4) Globalisation.

3. Answer the following questions in about 150 words each (any

two) : [20]

(1) Describe the Von Thunen model of landuse.

(2) Explain the Davisian cycle of erosion.

(3) Discuss the need of sustainable development.

(4) Describe the Rimland theory.

4. Answer the following questions in about 300 words each (any

two) : [30]

(1) Define weather forecasting. Explain the techniques used for

weather forecasting.

(2) Explain the theory of Industrial Location by Weber.

(3) Discuss the stages in Demographic Transition Theory.

(4) What is economic development ? Discuss the levels of development

in Rostow’s model.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) udkðkk LVsfUl«pk okij.;kl ijokuxh vkgs-

1. [kk«h« izðukaph izR;sdh lqekjs 20 ðkCnkr mŸkjs |k (dks.krsgh ngk) % [20]

(1) rkacMÓk leqÊkiklwu vkf›dk vkf.k vkfðk;k [kaM osxˇs dks.kh ds«s \

(2) ^fofo/krsr ,drk* gh ladYiuk dks.kh ekaM«h \

(3) ^ler« eSnku* ladYiusph O;k[;k lkaxk-

(4) gokeku cn«kph dks.krsgh nksu dkj.ks lkaxk-

(5) ^«ksdla[;k laÿe.k* flºkarkP;k voLFkk f«gk-

(6) jk"V™ o jkT; e/kh« Qjd-

(7) ^Úgn;LFk«* flºkarkph O;k[;k lkaxk-

(8) v/kZ&ukxjh iznsðkkP;k dks.krsgh nksu leL;k f«gk-

(9) mixzg ðkgj (lWVs«kbV) Eg.kts dk; \

(10) mi;ksftr Hkwxks«kph O;k[;k |k-

(11) vknðkZokn Eg.kts dk; \

(12) vkfFkZd fodklkP;k dks.kR;kgh nksu voLFkk f«gk-

(13) leqÊikrˇhr gks.kkÚ;k cn«kaph dks.krhgh nksu dkj.ks f«gk-
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2. [kk«h«iSdh izðukaph izR;sdh 50 ðkCnki;±r mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) ›sMfjd jWVR>s« ;kaps ;ksxnku

(2) ÿecº Hkwxks«

(3) leqÊikrˇh cn«kph dkj.ks

(4) tkxfrdhdj.k-

3. [kk«h«iSdh izðukaph izR;sdh 150 ðkCnkr mŸkjs nÓk (dks.krsgh nksu) % [20]

(1) OgkWuFkqusu ;kaP;k Hkweh mi;kstu flºkarkps lfoLrj o.kZu djk-

(2) MsOghlps vi{kj.k pÿ Li"V djk-

(3) ðkkðor fodklkph xjt ;koj lfoLrj ppkZ djk-

(4) ifj?kh; flºkarkps o.kZu djk-

4. [kk«h«iSdh izðukaph izR;sdh 300 ðkCnkr mŸkjs f«gk (dks.krkgh nksu) % [30]

(1) gokeku vankt Eg.kts dk; rs lkaxwu gokeku vanktorZfo.;klkBh okij«h tk.kkjh

ra=s Li"V djk-

(2) oscjpk mnÓksx/kanÓkP;k LFkkfudhdj.kkpk flºkar Li"V djk-

(3) «ksdla[;k laÿe.k flºkarkP;k voLFkkaps lfoLrj o.kZu djk-

(4) vkfFkZd fodkl Eg.kts dk; rs lkaxwu jksLVks ;kaP;k flºkarkrh« fodklkP;k

voLFkk lfoLrj o.kZu djk-
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[4301]-338

(Gg-320 : Contemporary Issues and Geography)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map-stencils is allowed.

1. Answer the following questions in about 20 words each (any ten) : [20]

(1) Write the definition of terrorism.

(2) What is the meaning of EL-Nino ?

(3) Write any two examples of Non-exhaustible resources.

(4) What is meant by Ozone depletion ?

(5) Write any two causes of Swine-Flu.

(6) What is meant by revolution ?

(7) Give any two examples of major river water disputes in world.

(8) Write any two types of forest fire.

(9) Write any two types of contemporary issues.

(10) Give any two examples of pilgrim centers in India.

(11) Write any two characteristics of concept of Globalization.

(12) Define the concept of landslide.

(13) Give the definition of poverty.
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2. Write notes on the following in about 50 words each (any two) : [10]

(1) Effects of AIDS

(2) Causes of Drought

(3) Biological Weathering

(4) Effects of Cyclone.

3. Answer the following in 150 words each (any two) : [20]

(1) Explain the causes and effects of earthquake.

(2) Explain the effects of conflicts due to caste.

(3) Explain the causes for creation of nuclear weapons.

(4) Describe the causes of migration.

4. Answer the following in about 300 words each (any two) : [30]

(1) What do you mean by Contemporary Issues ? Explain the nature

of contemporary issues.

(2) Explain the causes and effects of over-population.

(3) Define the conflicts of race. Discuss the causes and effects

of conflict due to race.

(4) Explain the types of migration with reference to Time and

Distance.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) udkðkk LVsfUl«pk okij.;kl ijokuxh vkgs-
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1- [kk«h«iSdh izðukaph izR;sdh lqekjs 20 ðkCnkar mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) ngðkroknkph O;k[;k |k-

(2) ,«&fuukspk vFkZ lkaxk-

(3) vfuokðkh lk/kulaiŸkhph nksu mnkgj.ks |k-

(4) vks>ksu {k; Eg.kts dk; \

(5) LokbZu IY;q vktkjkph nksu dkj.ks lkaxk-

(6) ÿkarh Eg.kts dk; \

(7) txkrh« izeq[k nksu unh t«oknkph mnkgj.ks |k-

(8) ou vkxhps dks.krsgh nksu izdkj lkaxk-

(9) l|dk«hu ?kMkeksMhaps dks.krsgh nksu izdkj f«gk-

(10) Hkkjrkrh« dks.krsgh nksu /kkfeZd ðkgjkaph ukos f«gk-

(11) tkxfrdhdj.k ladYiusph nksu oSfðk"Vs f«gk-

(12) Hkwehikrkph O;k[;k |k-

(13) nkfjÊÓkph O;k[;k f«gk-

2. [kk«h«iSdh izðukaph izR;sdh lqekjs 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) ,M~lps ijh.kke

(2) vko"kZ.kkph dkj.ks

(3) tSfod fonkj.k

(4) vkorkZps ijh.kke
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3. [kk«h«iSdh izðukaph izR;sdh 150 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) Hkwdaikph dkj.ks o ijh.kke Li"V djk-

(2) tkrh; la?k"kkZps ijh.kke lkaxk-

(3) v.oL= fufeZrhph dkj.ks Li"V djk-

(4) LFk«karjkph dkj.ks Li"V djk-

4. [kk«h«iSdh izðukaph izR;sdh lqekjs 300 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) l|dk«hu ?kMkeksMhaph O;k[;k lkaxwu Lo:i Li"V djk-

(2) vfrfjDr «ksdla[;sph dkj.ks o ijh.kke Li"V djk-

(3) okafðkd la?k"kZ Eg.kts dk; \ ;kps dkj.ks o ijh.kke lfoLrj f«gk-

(4) LFk«karjkps dk«ko/kh o varjkuqlkj izdkj Li"V djk-



Total No. of Questions—7+5+5] [Total No. of Printed Pages—4

Seat

No. [4301]-339

T.Y.B.A. EXAMINATION, 2013

MUSIC (laxhr) lkekU; th&3

(2008 PATTERN)

fof'k"V lwpuk :— ;k lapkrh« jkxlaxhr xk;u] lrkj vkf.k rc«k ;kiSdh dks.krhgh ,d

izðuif=dk lksMok-

jkxlaxhr xk;u

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— ifg«k izðu vfuok;Z vkgs- ifgY;k vfuok;Z izðuklg moZfjr iz'ukaiSdh  dks.krsgh

rhu vls ,dw.k pkj izðu lksMok-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph fo«afcr cafnðk (cMk [;k«) Lojf«ihcº

djk- [5]

2. eqyrkuh vkf.k jkxsJh ;kiSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh vkjksg&vojksg&idM

vkf.k oSf'k"VÓkalg f«gk- [5]

3. >qejk] fryokMk vkf.k nhipanh ;kiSdh dks.kR;kgh ,dk rk«kph ekfgrh fygwu rkyys[ku

djk- [5]

4. [kkyhyiSdh dks.kR;kgh nksuoj fVik fygk % [5]

(i) ladh.kZ jkx

(ii) Nk;kyx jkx

(iii) Lo;aHkw Loj&lgk;d ukn

(iv) Jqrh&Loj foHkktu-

P.T.O.
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5. [kkyhyiSdh dks.kR;kgh nksuoj FkksMD;kr fygk % [5]

(i) izca/k

(ii) vfucº xku

(iii) laf/kizdk'k jkx

(iv) jkxkax jkx-

6. [kkyhyiSdh dks.kR;kgh ,dk laxhrKkps thou dk;Z fo'kn djk % [5]

(i) ia- dqekj xa/koZ

(ii) iafMrk eksxqckbZ dqMhZdj

(iii) ia- Hkhelsu tks'kh-

7. [kkyhyiSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus f«gk % [5]

(i) jkxlaxhr vkf.k tu#ph

(ii) ik‹oZlaxhr

(iii) laxhrkP;k mRiŸkh fo"k;hps fopkj-
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[4301]-339

lrkj

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— ifg«k izðu vfuok;Z vkgs-

ifgY;k vfuok;Z izðuklg moZfjr iz'ukaiSdh dks.krsgh rhu vls ,dw.k pkj

izðu lksMok-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph fo«afcr cafnðk (elhr[kkuh xr) Lojf«ihcº

djk- [5]

2. 'kadjk vkf.k jkxsJh ;kiSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh vkjksg&vojksg&

idM vkf.k oSf'k"VÓkaklg f«gk- [5]

3. >irky vkf.k lwyrky ;kiSdh dks.kR;kgh ,dk rk«kph ekfgrh fygwu ,diV vkf.k

nqIiV f«gk- [5]

4. [kkyhyiSdh dks.kR;kgh ,dk laxhrKkps thou dk;Z fo'kn djk % [5]

(i) iafMr fuf[ky cWuthZ

(ii) m- vyh vdcj [kk°

5. [kkyhyiSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus f«gk % [5]

(i) ,dyoknu o o`anoknu

(ii) laxhrkps mi;kstu-
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[4301]-339

rc«k

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— ifg«k izðu vfuok;Z vkgs-

ifgY;k vfuok;Z izðuklg moZfjr iz'ukaiSdh dks.krsgh rhu vls ,dw.k pkj

izðu lksMok-

1. ,drky vkf.k >irky ;kiSdh dks.kR;kgh ,dk rkykph ,diV] nqIiV o frIiV rkyfyihcº

djk- [5]

2. vouº ok|kafo"k;h foLr`r foospu djk- [5]

3. ikçkR; rkyok|kafo"k;h laf{kIr foospu djk- [5]

4. fnYyh] vtjkMk vkf.k y[kukS ;kiSdh dks.kR;kgh nksu cktkaph oSf'k"VÓs FkksMD;kr fo'kn

djk- [5]

5. rqeP;k vkoMR;k rcykoknd dykdkjkph oknu oSf'k"VÓs foLrkjkus fygk- [5]
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Seat

No. [4301]-340
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laxhr fo'ks"k (,l&3)
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fo'ks"k lwpuk :— ;k lapkrh« jkxlaxhr xk;u] lrkj vkf.k rc«k ;kiSdh dks.krhgh ,d

izðuif=dk lksMok-

jkxlaxhr xk;u

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— ifg«k izðu vfuok;Z vkgs- ifgY;k vfuok;Z izðuklg moZfjr iz'ukaiSdh  dks.krsgh

rhu vls ,dw.k pkj izðu lksMok-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph fo«afcr cafnðk (cMk [;k«) Lojf«ihcº

djk- [5]

2. rksMh (fe;ka dh rksMh) vkf.k njckjh dkuMk ;kiSdh dks.kR;kgh ,dk jkxkph laiw.kZ

'kkL=h; ekfgrh vkjksg&vojksg&idM vkf.k oSf'k"VÓkalg f«gk- [5]

3. ^#id&rhozk* vkf.k ^,drky&pkSrky* ;kiSdh dks.kR;kgh ,dk rky tksMhph rwyuk

djk- [5]

4. [kkyhyiSdh dks.kR;kgh nksu fVik fygk % [5]

(i) xkule; flºkar

(ii) izca/k

(iii) ijesy izos'kd jkx

(iv) tkrh xk;u-

P.T.O.
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5. [kkyhyiSdh dks.kR;kgh nksuoj FkksMD;kr fygk % [5]

(i) gkeZuh

(ii) fucº xku

(iii) esyMh

(iv) vfucº xku-

6. [kkyhyiSdh dks.kR;kgh ,dk laxhrKkps thou dk;Z fo'kn djk % [5]

(i) ia- efYydktqZu eUlqj

(ii) yrk eaxs'kdj

(iii) ia- dqekj xa/koZ-

7. [kkyhyiSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus fygk % [5]

(i) laxhr jRukdj

(ii) daB lk/kuk

(iii) laxhr f'k{k.kkps izkphu Lo:i-



[4301]-340 3 P.T.O.

[4301]-340

lrkj

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— ifg«k izðu vfuok;Z vkgs-

ifgY;k vfuok;Z izðuklg moZfjr iz'ukaiSdh  dks.krsgh rhu vls ,dw.k pkj

izðu lksMok-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph fo«afcr cafnðk (elhr[kkuh xr) Lojf«ihcº

djk- [5]

2. rksMh (fe;k° dh rksMh) vkf.k xkorh ;kiSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h;

ekfgrh vkjksg&vojksg&idM vkf.k oSf'k"VÓkalg f«gk- [5]

3. leku ek=kaP;k dks.kR;kgh nksu rk«kaps rkSyfud foospu djk- [5]

4. rqeP;k vkoMR;k lrkj okndkph oknu 'kSyhfo"k;d oSf'k"VÓs fo'kn djk- [5]

5. [kkyhyiSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus fygk % [5]

(i) izkphu laxhrK

(ii) gosyh laxhr ijaijk-
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[4301]-340

rc«k

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— ifg«k izðu vfuok;Z vkgs-

ifgY;k vfuok;Z izðuklg moZfjr iz'ukaiSdh  dks.krsgh rhu vls ,dw.k pkj

izðu lksMok-

1. iapelokjh vkf.k eŸk ;kiSdh dks.kR;kgh ,dk rkykph ,diV] nqIiV o frIiV rkyfyficº

djk- [5]

2. rqEgh vH;klysY;k dks.kR;kgh ,dk rkykP;k osxosxˇÓk ek=k la[;sP;k nksu frgk;k

fygk- [5]

3. rkykps n'k izk.k lkaxwu R;kaps Li"Vhdj.k djk- [5]

4. rcY;kph lkFk&laxr ;k fo"k;h foLrkjkus fygk- [5]

5. [kkyhyiSdh dks.kR;kgh ,dk rcykoknd dykdkjkps thou&pfj= fygk % [5]

(i) ia- lkerk izlkn

(ii) gkth foyk;r [kk°

(iii) ykyk Hkokfunkl-



Total No. of Questions—7+5+5] [Total No. of Printed Pages—4

Seat

No. [4301]-341

T.Y. B.A. EXAMINATION, 2013

MUSIC (laxhr)

(Special Paper-4)

(2008 PATTERN)

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

fo'ks"k lwpuk :— ;k lapkrh« ^jkxlaxhr xk;u] lrkj vkf.k rc«k* ;kiSdh dks.krhgh
,d izðuif=dk lksMok-

(jkxlaxhr xk;u)

lwpuk :— ifg«k izðu vfuok;Z vkgs- ifgY;k vfuok;Z izðuklg moZfjr izðukaiSdh
dks.krsgh rhu vls ,dw.k pkj izðu lksMok-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph fo«afcr cafnðk (cMk [;k«) Lojf«ihcº
djk-  [5]

2. e/kqoafr vkf.k uan ;kiSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh vkjksg&
vojksg&idM vkf.k oSfðk"VÓkalg f«gk- [5]

3. leku ek=kaP;k dks.kR;kgh nksu rk«kaps rkS«fud foospu djk-  [5]

4. [kk«h«iSdh dks.kR;kgh nksuoj fVik f«gk % [5]

(1) ikðoZlaxhr

(2) /ofueqÊ.k

(3) xk;ukr ðkCnksPpkjkaps egŸo

P.T.O.
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5. [kk«h«iSdh dks.kR;kgh nksuoj FkksMD;kr f«gk % [5]

(1) laxhrklkBh laxzgk«;s

(2) laxhr Li/kk±ps egŸo

(3) eSfQ« lknjhdj.kkps ra=

6. [kk«h«iSdh dks.kR;kgh ,dk laxhrKkps thou dk;Z foðkn djk % [5]

(1) ia- jkekJ; >k

(2) fgjkckbZ cMksnsdj

(3) ia- fðkodqekj ðkekZ-

7. [kk«h«iSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus f«gk % [5]

(1) laxhr fðk{k.kµLo:i] leL;k o vk/kqfud dkˇkpk izHkko

(2) laxhr o fo|qr izlkjek/;es

(3) laxhr o O;olk;kP;k laf/k-



[4301]-341 3 P.T.O.

[4301]-341

lrkj

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :— (i) ifg«k izðu vfuok;Z vkgs-

(ii) ifgY;k vfuok;Z izðuklg moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj

izðu lksMok-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph fo«afcr cafnðk (eflr[kkuh xr) Lojf«ihcº

djk-  [5]

2. ek:fcgkx vkf.k «f«r ;kiSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh

vkjksg&vojksg&idM vkf.k oSfðk"VÓkalg f«gk- [5]

3. pkSnk ek=kaP;k dks.kR;kgh nksu rk«kaph rkS«fud oSfðk"VÓs o egRo foðkn djk- [5]

4. [kk«h«iSdh dks.kR;kgh ,dk laxhrKkps thou dk;Z foðkn djk % [5]

(1) m- fo«k;r [kk°

(2) m- >kfdj gqlsu

5. [kk«h«iSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus f«gk % [5]

(1) laxhr vkf.k O;olk;kP;k laf/k

(2) /ofueqÊ.k ra=-
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[4301]-341

rc«k

osˇ % 1 rkl 30 fefuVs ,dw .k xq.k % 20

lwpuk :—(i) ifg«k izðu vfuok;Z vkgs-

(ii) ifgY;k vfuok;Z izðuklg moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj

izðu lksMok-

1. rqEgh vH;kl«sY;k dks.kR;kgh ,dk rk«kP;k nksu osxosxˇÓk «;dkjh f«gk- [5]

2. leku ek=kaP;k vusd rk«kaph oSfðk"VÓs lksnkgj.k foðkn djk- [5]

3. rc«koknukps fofo/k ckt ;kfo"k;h foLr`r foospu djk-  [5]

4. dukZVd laxhr o fganqLrkuh laxhrkrh« fofo/k rk«kaph lfoLrj rw«uk djk- [5]

5. [kk«h«iSdh dks.kR;kgh ,dk rc«koknd d«kdkjkps thou&pfj= f«gk- [5]

(1) m- equhj pqfM;k° ok«s

(2) ia- ukuk ikuls

(3) m- beke c[l



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-342

T.Y. B.A. EXAMINATION, 2013

ANCIENT INDIAN HISTORY, CULTURE

AND ARCHAEOLOGY

General Paper III

(Outline of Religion and Philosophy)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any

two) : [10]

(1) Composition of Atharvaveda.

(2) Varkari cult

(3) Jain Triratnas

(4) Mahayana sect.

2. Write notes on the following in 100 words each (any four) : [20]

(1) Upanishadas

P.T.O.
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(2) Historical importance of Ramayana

(3) Composition of the Puranas.

(4) Shwetambara and Digambar sects

(5) Arya Ashtangika Marga

(6) Kakuda Katyayana’s Philosophy.

3. Answer the following questions in 200-250 words each (any three) : [30]

(1) Explain main philosophy of Rigveda.

(2) State cultural importance of Mahabharata.

(3) Write the salient features of Lokayatikas.

(4) State the main causes for the rise of Buddhism.

(5) Take a review of the Heterodox sects in ancient

India.

4. Answer the following questions in 500 words (any one) : [20]

(1) State the composition of the Bhagvadgita; and write the philosophy

of Karmayoga in it.

(2) Describe the life and teachings of Bhagwan Mahavira.



[4301]-342 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) %  [10]

(1) vFkoZosnkph jpuk-

(2) okjdjh laiznk;

(3) tSu f=jRus

(4) egk;ku laiznk;-

2. izR;sdh 100 ðkCnkr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) mifu"kns

(2) jkek;.kkps ,sfrgkfld egRo

(3) iqjk.kkaph jpuk

(4) ðosrkacj vkf.k fnxacj iaFk

(5) vk;Z v"Vkafxd ekxZ

(6) ddqn dkR;k;ukps rRoKku-
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3. [kk«h«iSdh dks.krsgh rhu izðukaph izR;sdh 200&250 ðkCnkr mŸkjs f«gk % [30]

(1) ΩXosnkps izeq[k rŸoKku Li"V djk-

(2) egkHkkjrkps lkaLœfrd egRo lkaxk-

(3) «ksdk;frdkaph Bˇd oSfðk"VÓs f«gk-

(4) ckSn~/k /kekZP;k mn;kph izeq[k dkj.ks lkaxk-

(5) izkphu Hkkjrkrh« voSfnd laiznk;kapk vk<kok ?;k-

4. [kk«h« izðukps mŸkj 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(1) Hkxonxhrsph jpuk lkaxk vkf.k R;krh« deZ;ksxkps rŸoKku f«gk-

(2) Hkxoku egkohjkaps thou&pfj= vkf.k fðkdo.k o.kZu djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-343

T.Y. B.A. EXAMINATION, 2013

G-3 : PUBLIC ADMINISTRATION

(Local Self-Government in India)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) State the importance of Local Self-Government.

(2) State the importance of 74th Amendment.

(3) Explain the demerits of Local Self-Government.

(4) Write the functions of Gram Panchayat.

2. Write notes in 100 words each (any four) : [20]

(1) Role of B.D.O. in development.

P.T.O.
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(2) State the functions of C.E.O. in Zilla Parishad.

(3) State the merits of Decentralization.

(4) Power of District Collector.

(5) State the features of Local Self-Government.

(6) Write the composition and functions of Cantonment

Boards.

3. Answer any three of the following questions in 250 words each : [30]

(1) State the objectives of Panchayat Raj.

(2) Explain the various problems of Panchayat Raj in India.

(3) State the functions of Divisional Commissioner.

(4) Explain the importance of 73rd Amendment.

(5) State the powers and functions of Zilla Parishad.

4. Answer any one of the following questions in 500 words : [20]

(1) Explain the problems of Metropolitan cities

(2) State the composition, powers and functions of Municipal

Council.



[4301]-343 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) %  [10]

(1) LFkkfud Loðkklukps egRo lkaxk-

(2) 74O;k ?kVuknq#Lrhps egRo lkaxk-

(3) LFkkfud Loðkklukps nks"k Li"V djk-

(4) xzke iapk;rhph dk;sZ f«gk-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(1) fodklkrh« xVfodkl vf/kdkÚ;kph Hkwfedk-

(2) ftYgkifj"knsrh« eq[;kf/kdkÚ;kph dkes lkaxk-

(3) fodsafÊdj.kkps xq.k lkaxk-

(4) ftYgkf/kdkÚ;kph lŸkk-

(5) LFkkfud Loðkklukph oSfðk"VÓs lkaxk-

(6) dWUVkWuesaV cksMZph jpuk vkf.k dk;sZ f«gk-
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3. [kk«h«iSdh dks.krsgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk % [30]

(1) iapk;rjktph mfÌ"VÓs lkaxk-

(2) Hkkjrkrh« iapk;rjkt laLFksP;k fofo/k leL;k Li"V djk-

(3) foHkkxh; vk;qDrkph dk;sZ lkaxk-

(4) 73O;k ?kVuknq#Lrhps egRo Li"V djk-

(5) ftYgkifj"knsph lŸkk vkf.k dk;sZ lkaxk-

4. [kk«h«iSdh dks.krkgh ,d izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(1) eksBÓkðkgjkP;k leL;k Li"V djk-

(2) uxjifj"knsph jpuk] vf/kdkj vkf.k dkes lkaxk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-344

T.Y. B.A. EXAMINATION, 2013

PUBLIC ADMINISTRATION

(S-3 : Development Administration)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any

two) : [10]

(1) State the concept of Development Administration.

(2) State the importance of globalization.

(3) What is public opinion ?

(4) State the functions of planning.

2. Write the notes in 100 words each (any four) : [20]

(1) Importance of social  justice.

P.T.O.



[4301]-344 2

(2) Organization of National Development Council

(3) Role of Bureaucracy

(4) Nature of International Agencies.

(5) State the functions of co-operatives.

(6) State the features of Agricultural Development.

3. Answer the following questions in 250 words each (any three) : [30]

(1) Explain the national system of Education.

(2) State the meaning and nature of Bureaucracy.

(3) Explain the problems of Development Administration.

(4) State the functions of community development.

(5) Explain the major issues of globalization.

4. Answer the following questions in 500 words each (any one) : [20]

(1) Explain the nature and scope of Development

Administration.

(2) Describe the policies of social welfare development in

India.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) %  [10]

(1) fodkl izðkklukph ladYiuk lkaxk-

(2) tkxfrdhdj.kkps egRo lkaxk-

(3) «ksder Eg.kts dk; \

(4) fu;kstukph dk;Z lkaxk-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(1) lkekftd U;k;kps egRo

(2) jk"V™h; fodkl ifj"knsph jpuk

(3) uksdjðkkghph Hkwfedk

(4) vkarjjk"V™h; vfHkdj.kkps Lo:i

(5) lgdkjkph dk;Z lkaxk

(6) œ"kh fodklkph oSfðk"VÓs lkaxk-
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3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) jk"V™h; fðk{k.k iºrh Li"V djk-

(2) uksdjðkkgh vFkZ o Lo:i lkaxk-

(3) fodkl izðkklukP;k leL;k Li"V djk-

(4) lkeqnkf;d fodklkph dk;sZ lkaxk-

(5) tkxfrdhdj.kkps eq[; eq|s Li"V djk-

4. [kk«h« izðukaph mŸkjs 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(1) fodkl izðkklukps Lo:i vkf.k O;kIrh Li"V djk-

(2) Hkkjrkrh« lektdY;k.kkph /kksj.ks foðkn djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-345

T.Y. B.A. EXAMINATION, 2013

PUBLIC ADMINISTRATION

S-4 : Comparative Public Administration (India, U.K. and U.S.A.)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the evolution of Comparative Public Administration.

(2) State the objectives of Training.

(3) Write the meaning of Administrative Law.

(4) Explain the Integrity in Administration.

2. Write notes in 100 words each (any four) : [20]

(1) State the nature of Comparative Public Administration.

(2) Right to Strike.

(3) State the importance of Administrative Tribunals.

P.T.O.
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(4) Write the causes of corruption in India.

(5) Explain the traditional approaches to the study of Public

Administration.

(6) State the functions of Machinery of Negotiations.

3. Answer the following questions in 250 words each (any three) : [30]

(1) Explain the methods of recruitment.

(2) Write the types of training in India.

(3) Explain the scope of Comparative Public Administration.

(4) State the Employer-Employee relations.

(5) Explain the modern approaches to the study of Public

Administration.

4. Answer any one question in 500 words each : [20]

(1) Explain the methods of Training in India and UK.

(2) Evaluate the necessity and growth of Administrative Tribunals.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-
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1. [kk«h« izðukaph izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) rq«ukRed «ksdizðkklukpk mxe Li"V djk-

(2) izfðk{k.kkpk mÌsðk lkaxk-

(3) izðkkldh; dk;nÓkpk vFkZ f«gk-

(4) izðkkldh; ,dkRerk Li"V djk-

2. izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) % [20]

(1) rq«ukRed «ksdizðkklukps Lo:i lkaxk-

(2) laikpk vf/kdkj-

(3) izðkkldh; U;k;kf/kdj.kkps egRo lkaxk-

(4) Hkkjrkrh« Hkz"Vkpkjkph dkj.ks f«gk-

(5) «ksdizðkklukP;k vH;klkpk ikjaifjd n`f"Vdks.k Li"V djk-

(6) okVk?kkVh dj.kkÚ;k ;a=.ksph dk;sZ lkaxk-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnkr f«gk % [30]

(1) HkjrhP;k iºrh Li"V djk-

(2) Hkkjrkrh« izfðk{k.kkps izdkj f«gk-

(3) rq«ukRed «ksdizðkklukph O;kIrh Li"V djk-
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(4) ek«d&lsod laca/k lkaxk-

(5) «ksdizðkklukP;k vH;klkpk vk/kqfud n`f"Vdks.k Li"V djk-

4. [kk«h«iSdh dks.krkgh ,d izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(1) Hkkjr vkf.k baX«aM e/kh« izfðk{k.kkP;k iºrh Li"V djk-

(2) izðkkldh; U;k;kf/kdj.kkph vkoð;drk vkf.k ok<hps ewY;ekiu djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4301]-346

T.Y. B.A. EXAMINATION, 2013

PSYCHOLOGY

General Paper III

(Industrial and Organizational (I/O) Psychology)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) Explain the functions of Industrial and Organizational (I/O)

Psychology.

(2) Explain the concept of standard application blanks.

(3) State the present position of Industrial and Organizational (I/O)

Psychology.

(4) State the concept of time and motion study.

2. Write notes in 100 words each (any four) : [20]

(1) Job satisfaction and Attitude

(2) Person-Machine System

(3) Leadership style

(4) Training programme evaluation

(5) Resume

(6) Future of Industrial and Organizational (I/O) Psychology.

P.T.O.
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3. Answer in 200 to 250 words each (any three) : [30]

(1) State the work space design.

(2) Explain the components of job satisfaction.

(3) Explain the ‘X’ and ‘Y’ theory of leadership.

(4) Describe the various techniques for training knowledge and

skill.

(5) Describe the recruitment techniques.

4. Answer in 500 words (any one) : [20]

(1) Describe the rating and non-rating methods of job performance

evaluation.

(2) Define Work Motivation. Explain the theory of Work Motivation.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) vkS|ksfxd o la?kVukRed ekulðkkL=kph dk;sZ Li"V djk-

(2) izekf.kr vtZ izi= ladYiuk Li"V djk-

(3) vkS|ksfxd o la?kVukRed ekulðkkL=kph l|fLFkrh foðkn djk-

(4) dk« o xrh vH;kl laKk foðkn djk-
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2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(1) dk;Zlek/kku o vfHko`Ÿkh

(2) ekuo&;a= iz.kk«h

(3) usr`RoðkS«h

(4) izfðk{k.k dk;Zÿe ewY;kadu

(5) O;fDrxr ekfgrhpk xks"kokjk (Resume)

(6) vkS|ksfxd o la?kVukRed ekulðkkL=kpk Hkfo";dkˇ-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) dk;Z vodkðk vkjk[kMk foðkn djk-

(2) dk;Z lek/kkukps ?kVd Li"V djk-

(3) usr`Rofo"k;d ^{k* o ^;* flºkar Li"V djk-

(4) Kku vkf.k dkSðkY; izfðk{k.kkP;k fofo/k ra=kps o.kZu djk-

(5) dkexkj HkjrhP;k ra=kps o.kZu djk-

4. 500 ðkCnkar mŸkjs f«gk (dks.krkgh ,d) % [20]

(1) deZpkjh fuoZrZu ewY;kadukP;k infuðp;u o infuðp;u fojfgr iºrhaps o.kZu

djk-

(2) dk;Z izsj.ksph O;k[;k |k- dk;Z izsj.ksps flºkar Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-347

T.Y. B.A. EXAMINATION, 2013

PSYCHOLOGY

Special Paper III

(Experimental Psychology and Scientific Research)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Explain division of attention.

(ii) What are the characteristics of psychological test ?

(iii) Explain the goals of scientific research.

(iv) Explain field experiment method.

2. Write short notes in 100 words each (any four) : [20]

(i) Visual space perception

(ii) Trial and error in thinking

P.T.O.
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(iii) Norms

(iv) Experimental Approach

(v) Quota Sampling

(vi) Systematic observation.

3. Answer any three questions in 200-250 words each : [30]

(i) What is attention ? Discuss the theories of attention.

(ii) What is thinking ? Describe various tools of thinking.

(iii) Define Psychological test. Discuss various types of test.

(iv) What is probability ? Explain types of probability sampling.

(v) Explain Interview as a method of data collection.

4. Answer the following questions in 500 words each (any one) : [20]

(i) Illustrate the method of average error.

(ii) What is problem statement ? Discuss the sources and criteria

of problem statement.

(ejkBh :ikarj)

osˇ % 3 rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-
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1. [kk«h« izðukaph mRrjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) % [10]

(i) vo/kku foHkktu Li"V djk-

(ii) ekulðkkL=h; pkp.khph oSfðk"Vs dks.krh \

(iii) ðkkL=h; laðkks/kukph /;s;s Li"V djk-

(iv) {ks=h; iz;ksx iºrh Li"V djk-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) n`ð; vodkðk laosnu

(ii) fopkj izfÿ;srh« iz;Ru vkf.k izekn

(iii) ekunaM

(iv) izk;ksfxd mikxe (n`"Vhdksu)

(v) fu;rkaðk uewuk p;u

(vi) iºrðkhj fujh{k.k-

3. [kk«h« izðukaph mRrjs izR;sdh 200-250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(i) vo/kku Eg.kts dk; \ vo/kkukP;k miiRrhaph ppkZ djk-

(ii) fopkj izfÿ;k Eg.kts dk; \ fopkj izfÿ;sP;k fofo/k lk/kukaps o.kZu

djk-
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(iii) ekulðkkfL=; pkp.khph O;k[;k nÓk- pkp.khP;k fofo/k izdkjkaph ppkZ djk-

(iv) laHkkO;rk Eg.kts dk; \ laHkkO;rk uequk p;ukps izdkj Li"V djk-

(v) iznRr lad«ukph ,d iºrh Eg.kwu eq«k[kr ra= Li"V djk-

4. [kk«h« izðukaph mRrjs 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(i) ljkljh izekn iºrh lksnkgj.k Li"V djk-

(ii) leL;k fo/kku Eg.kts dk; \ leL;k fo/kkukph mxeLFkkus vkf.k fud"kkaph

ppkZ djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4301]-348

T.Y. B.A. EXAMINATION, 2013

YOGVIDYA

General Paper III

(Vyavaharik Yoga)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain any one from the following in 50 words : [5]

(i) State the importance of Omkar Sadhana.

(ii) State the name of Yama and Niyama.

2. Write short notes (any two) : [10]

(i) School of Yoga

(ii) Rajyoga

(iii) Asana

(iv) Aims and objectives of Yoga.

P.T.O.
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3. Answer any two questions from the following in 200 to 250 words

each : [15]

(i) Discuss how to protect the health by Yoga.

(ii) State the role of Yoga in sports.

(iii) How does Yoga help to Mental health.

4. Attempt any one question in detail : [10]

(i) Discuss the Yoga and social life.

(ii) State the application of Yoga to higher level persons.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 40

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dkps 50 ðkCnkr Li"Vhdj.k |k % [5]

(i) ¨ lk/kusps egRo lkaxk-

(ii) ;e&fu;ekaps ukos lkaxk-

2. FkksMD;kr Vhik |k (dks.kR;kgh nksu) % [10]

(i) ;ksxkps izdkj

(ii) jkt;ksx

(iii) vklu

(iv) ;ksxkps /;s; vkf.k mfÌ"Vs-
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3. [kk«h«iSdh dks.kR;kgh nksu izðukaps izR;sdh 200 rs 250 ðkCnkr mŸkj |k % [15]

(i) ;ksxk}kjs vkjksX; lao/kZu djrk ;sbZ« dk \ ppkZ djk-

(ii) ;ksxðkkL=kph [ksˇkrh« Hkqehdk Li"V djk-

(iii) ekufld LokLF; lao/kZuklkBh ;ksxkpk mi;ksx dlk gksrks \

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps lfoLrj mŸkj |k % [10]

(i) ;ksx vkf.k lekt&thou ppkZ djk-

(ii) mPpinLFk vf/kdkÚ;kauk gks.kkjk ;ksxkpk mi;ksx lkaxk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-349

T.Y. B.A. EXAMINATION, 2013

HISTORY OF CIVILIZATION

General Paper III

(World Culture)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Explain the concept ‘Neolithic’.

(ii) Ancient Chinese literature.

(iii) Who was ‘Ahur Mazda’ ?

(iv) What was the contribution of Galileo to Science ?

2. Write short notes in 100 words each (any four) : [20]

(i) Code of Hammurabi.

P.T.O.
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(ii) Early Vedic Literature.

(iii) City states in Ancient Greece.

(iv) Concept ‘Manor’.

(v) Term ‘Reformation’.

3. Answer the following questions in 250 words each (any three) : [30]

(i) Discuss the salient features of Paleolithic Age.

(ii) What do you know about the Inca and Maya Civilizations ?

(iii) State the causes for the rise of Jainism.

(iv) Describe the contribution of Rene Descartes and Isaac Newton

to Modern Science.

(v) Explain the effects of ‘Reformation’.

4. Answer the following questions in 500 words (any one) : [20]

(i) Write an essay on the art, architecture and religion of Persian

civilization.

(ii) Take a review of the various geographical discoveries during

the ‘Age of Discoveries’.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) ^uokðe;qx* gh ladYiuk Li"V djk-

(ii) izkphu fpuh lkfgR; (ok≥~e;) lkaxk-

(iii) ^vgqj e÷n~* dks.k gksrs \

(iv) xWf«f«vksps foKkuk«k ;ksxnku dks.krs vkgs \

2. izR;sdh 100 ðkCnkar Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) gEeqjkchph dk;nslaghrk-

(ii) iwoZ&oSfnd lkfgR;-

(iii) izkphu xzhle/kh« ^uxjjkT;s*-

(iv) ^eWuksj* gh ladYiuk-

(v) ^/keZlq/kkj.kk* gh laKk-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) iqjkðe;qxkP;k Bˇd oSfðk"VÓkaph ppkZ djk-

(ii) badk vkf.k ek;k ;k laLœrhfo"k;h rqEgkl dk; ekfgr vkgs \
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(iii) tSu /kekZP;k mn;kph dkj.ks lkaxk-

(iv) jsus nsdkrZ vkf.k vk;>Wd~ U;wVu ;kaps vk/kqfud foKkukl vl.kkjs ;ksxnku o.kZu

djk-

(v) /keZlq/kkj.kk pˇoˇhps ifj.kke Li"V djk-

4. [kk«h« izðukaps 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) % [20]

(i) ifðkZ;u laLœrhrh« d«k] LFkkiR; vkf.k /keZ ;koj fuca/k f«gk-

(ii) ðkks/kkaps ;qx njE;kuP;k fofo/k HkkSxksf«d ðkks/kkapk vk<kok ?;k-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-350

T.Y. B.A. EXAMINATION, 2013

HOME ECONOMICS

G-3 : Dynamics and Challenges of Indian Society

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following concepts in 50 words each (any two) : [10]

(i) Social change.

(ii) Social conformity.

(iii) Dowry system.

(iv) Intermarriage system.

2. Write short notes in 100 words each (any four) : [20]

(i) Importance of social change.

P.T.O.
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(ii) Characteristics of society.

(iii) Causes of deviation.

(iv) Adoption system.

(v) Causes of social value conflict.

(vi) “Marriage and Sex”.

3. Answer the following questions in 200 words each (any

three) : [30]

(i) Explain the factors influencing on social change process.

(ii) Explain the characteristics of traditional society.

(iii) “The status of women is changing in Indian society.”

Explain.

(iv) Explain the functions of family.

(v) Explain the causes of Divorce.

4. Answer the following question in 500 words (any one) : [20]

(i) Explain the characteristics of modern society.

(ii) Explain the causes and effects of Dowry system.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« ladYiukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) lkekftd ifjorZu-

(ii) lkekftd vuqpˇu-

(iii) gqaMk iºrh-

(iv) vkarjfookg iºrh-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(i) lkekftd ifjorZukps egRo-

(ii) lektkph oSfðk"VÓs-

(iii) fopˇukph dkj.ks-

(iv) nŸkd iºrh-

(v) lkekftd ewY; la?k"kkZph dkj.ks-

(vi) ^^fookg vkf.k «Safxdrk**-
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3. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(i) lkekftd ifjorZu izfÿ;soj ifj.kke dj.kkjs ?kVd Li"V djk-

(ii) ijaijkxr lektkph oSfðk"VÓs Li"V djk-

(iii) ^^Hkkjrh; lektkr fL=;kapk ntkZ cnˇr vkgs-** Li"V djk-

(iv) dqVwackph dk;sZ Li"V djk-

(v) ?kVLQksVkph dkj.ks Li"V djk-

4. [kk«h« izðukaps 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) % [20]

(i) vk/kqfud lektkph oSfðk"VÓs Li"V djk-

(ii) gqaMk iºrhph dkj.ks vkf.k ifj.kke Li"V djk-



Total No. of Questions—4+4+4] [Total No. of Printed Pages—8+4

Seat

No. [4301]-351

T.Y. B.A. EXAMINATION, 2013

DEFENCE AND STRATEGIC STUDIES

D.S. G-3(A) : International Security

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) Explain the concept of New Cold War.

(ii) State the meaning of National Security.

(iii) What is Balance of Power ?

(iv) State the characteristics of Post-Cold War Period.

2. Write short notes in 100 words each (any four) : [20]

(i) Functions of Diplomats

P.T.O.
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(ii) Concept of Arms Control

(iii) Concept of Non-alignment

(iv) Prevention of War

(v) Concept of Detente

(vi) Meaning of Terrorism.

3. Answer in 200 to 250 words each (any three) : [30]

(i) Explain the problems of global warming and its

effects.

(ii) State the origin and development of Cold War.

(iii) Explain the nature of ethnic conflicts.

(iv) State the means and types of balance of power.

(v) Explain the causes of war.

4. Answer any one of the following questions in 500 words : [20]

(i) Explain the causes and effects of Terrorism.

(ii) State the role of non-alignment in maintaining International

Security.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) uohu ðkhr;qºkph ladYiuk Li"V djk-

(ii) jk"V™h; lqj{kspk vFkZ lkaxk-

(iii) lŸkspk lerks« Eg.kts dk; \

(iv) ðkhr ;qºksŸkj dkˇkph oSfðk"Vs lkaxk-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) jktu;Kkaph dk;sZ-

(ii) ðkL=fu;a=.kkph ladYiuk-

(iii) vf«Irrsph ladYiuk-

(iv) ;qº jks[k.;kps mik;-

(v) r.kkoðkSfFkY;@l«ks[;kph ladYiuk-

(vi) ngðkroknkpk vFkZ-



[4301]-351 4

3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) oSfðod rkiekuok<hph leL;k vkf.k R;kps ifj.kke Li"V djk-

(ii) ðkhr;qºkpk mxe vkf.k fodkl lkaxk-

(iii) okafðkd la?k"kkZps Lo:i Li"V djk-

(iv) lŸksP;k lerks«kph lk/kus o izdkj lkaxk-

(v) ;qºkph dkj.ks Li"V djk-

4. dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) ngðkroknkph dkj.ks vkf.k ifj.kke Li"V djk-

(ii) vkarjjk"V™h; lqj{kk fVdfo.;krh« vf«Irrkoknkph Hkwfedk lkaxk-



[4301]-351 5 P.T.O.

[4301]-351

D.S. G-2(B) : Military Geography

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) Explain the characteristics of Desert.

(ii) State the strategic importance of Afghanistan.

(iii) Explain the concept of Geostrategy.

(iv) State the meaning of Strategy.

2. Write short notes in 100 words each (any four) : [20]

(i) Concept of Tactics.

(ii) Importance of Military Geography.

(iii) Natural Gas.

(iv) Strategic importance of Andaman and Nicobar Islands.

(v) Strategic importance of J and K.

(vi) Problems of Jungle Warfare.
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3. Answer in 200 to 250 words each (any three) : [30]

(i) State in detail the principles of logistics.

(ii) Explain in detail the geostrategic importance of oil in West

Asia.

(iii) State the scope and uses of Geostrategy.

(iv) Explain the meaning and concept of Military Geography.

(v) Explain the impact of Geography on Land Warfare.

4. Answer any one in 500 words : [20]

(i) Explain in detail the factors of National Power.

(ii) Describe the characteristics and logistic problems in plain

warfare.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) ok«qdke; iznsðkkph oSfðk"Vs Li"V djk-
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(ii) vQxkf.kLrkups lkefjd egRo lkaxk-

(iii) Hkw;qºuhrhph ladYiuk Li"V djk-

(iv) ;qºuhrhpk vFkZ lkaxk-

2. izR;sdh 100 ðkCnkar FkksMD;kr Vhik f«gk (dks.krsgh pkj) % [20]

(i) Mkoispkph ladYiuk

(ii) «"djh Hkwxks«kps egRo

(iii) uSlfxZd ok;w

(iv) vaneku vkf.k fudksckj csVkaps lkefjd egRo

(v) tEew vkf.k dkðehjps lkefjd egRo

(vi) tax« ;qº/kkj.ksP;k leL;k-

3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) iqjoBk O;oLFksph rRos lfoLrj lkaxk-

(ii) ifðpe vkfðk;krh« rs«kps Hkwlkefjd egRo lfoLrj Li"V djk-

(iii) Hkw;qºuhrhph O;kIrh vkf.k mi;ksx lkaxk-

(iv) «"djh Hkwxks«kpk vFkZ vkf.k ladYiuk Li"V djk-

(v) Hkw;qºiºrhoj Hkwxks«kpk iM.kkjk izHkko Li"V djk-
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4. dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) jk"V™h; ðkDrhps ?kVd lfoLrj Li"V djk-

(ii) eSnkuh ;qº/kkj.k sph oSfðk"Vs vkf.k iqjoBÓkP;k leL;k foðkn

djk-
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[4301]-351

D.S. G-3(C) : Geopolitics

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) State the importance of Wartime Geopolitics.

(ii) Explain Geopolitical thought by Karl Houshoffer.

(iii) State importance of Political Geography.

(iv) What are the objectives of Territorial Water ?

2. Write short notes in 100 words each (any four) : [20]

(i) Geopolitics

(ii) Unified field theory

(iii) Nation

(iv) State

(v) Exclusive Economic Zone

(vi) Political Geography.
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3. Answer in 200 to 250 words each (any three) : [30]

(i) Explain the basic elements of State.

(ii) State the functions of Boundaries.

(iii) What is landlocked State ? State the problems of Landlocked

States.

(iv) What is Maritime Boundary ? Explain the methods of calculating

Maritime Boundaries.

(v) Explain the concept of Buffer State.

4. Answer any one of the following questions in 500 words : [20]

(i) Describe the geographical factors affecting the War.

(ii) Critically examine the Heartland theory of Mackinder.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-
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1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) ;qºdk«hu Hkwjktfurhps egRo lkaxk-

(ii) dk«Z gkSðkksQj ;kaps Hkwjktfurhd fopkj Li"V djk-

(iii) jktdh; Hkwxks«kps egRo lkaxk-

(iv) izknsðkhd t«kðk;kph mfÌ"VÓs dks.krh \

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(i) Hkwjktfurh

(ii) ,d:i {ks= flºkar

(iii) jk"V™

(iv) jkT;

(v) vkFkhZd fuc±/k {ks=

(vi) jktdh; Hkwxks«-

3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) jkT;kps eq«Hkwr ?kVd Li"V djk-

(ii) lhekaps dk;Z lkaxk-
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(iii) Hkwos"Vhr nsðk Eg.kts dk; \ R;kaP;k leL;k lkaxk-

(iv) lkxjh lhek Eg.kts dk; \ R;k ekst.;kP;k iºrh Li"V djk-

(v) ^vk?kkrðkks"kd jk"V™* gh ladYiuk Li"V djk-

4. iq<h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(i) ;qºkoj ifj.kke dj.kkÚ;k HkkSxks«hd ?kVdkaps o.kZu djk-

(ii) eWfdUMj ;kaP;k eeZHkweh flºkarkps fVdkRed ifj{k.k djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—7

Seat

No. [4301]-352

T.Y. B.A. EXAMINATION, 2013

DEFENCE AND STRATEGIC STUDIES

[D.S. S-3 (A) : Maratha Military System (1630-1818 A.D.)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) Explain the social condition in Maharashtra before the birth

of Shivaji.

(2) State the military qualities of Bajirao-I.

(3) State the causes of Shivaji’s victory against Shahiste

Khan.

(4) Explain the role of Rajaram in the war of Maratha

independence.

2. Write short notes in 100 words each (any four) : [20]

(1) Jijabai

(2) Geographical background of Maharashtra before Shivaji

P.T.O.
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(3) Mirza Raje Jaisingh

(4) Dhanaji

(5) Karnataka Campaign

(6) Types of cavalry.

3. Answer in 200 to 250 words each (any three) : [30]

(1) State the causes of the Second Anglo-Maratha War.

(2) Explain the causes of downfall of Maratha power.

(3) State the strategic importance of Jawali and explain the Jawali

incident.

(4) ‘‘Sambhaji as a military leader.’’ Discuss.

(5) ‘‘Shivaji as a Master of Guerrilla tactician.’’ Discuss.

4. Answer any one in 500 words : [20]

(1) Describe the Third Battle of Panipat (1761 A.D.)

(2) Describe the Maratha Military Organisation under the Shivaji

Maharaj.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) eqˇ baxzth izðuif=dk xzk· /kjkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) %  [10]

(1) fðkokth egkjktkaP;k tUekiwohZP;k egkjk"V™krh« lkekthd ifjfLFkrhps o.kZu

djk-

(2) ifgY;k ckthjkokps «"djh xq.k lkaxk-

(3) fðkokth egkjktkaP;k ðkkfgLrs[kkukojh« fot;kph dkj.ks lkaxk-

(4) jktkjkekaph ejkBÓkaP;k Lokra´; ;qºkrh« Hkwfedk Li"V djk-

2. [kk«h« izðukaph mŸkjs izR;sdh 100 ðkCnkar f«gk (dks.krsgh pkj) %  [20]

(1) thtkckbZ

(2) fðkoiwoZdk«hu egkjk"V™kph HkkSxks«hd ikðoZHkweh

(3) fe>kZ jkts t;flax

(4) /kukth

(5) dukZVd eksghe

(6) ?kksMnˇkaps izdkj-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) %  [30]

(1) nqlÚ;k baxzt&ejkBk ;qºkph dkj.ks lkaxk-

(2) ejkBh lŸksP;k irukph dkj.ks Li"V djk-
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(3) tkoˇhps lkefjd egRo lkaxwu tkoˇh izdj.k Li"V djk-

(4) ^^laHkkth egkjkt ,d «"djh usrk-** ppkZ djk-

(5) ^^fðkokth egkjkt ,d dqðk« xfueh usrs gksrs-** ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) 1761P;k ikfuirP;k frlÚ;k «<kbZps o.kZu djk-

(2) fðkokth egkjktkaP;k fu;a=.kk[kk«h« ejkBÓkaP;k «"djh la?kVusps o.kZu

djk-
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[4301]-352

[D.S. S-3(B) : Disaster Management]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) State the Yokohama strategy.

(2) Explain the role of volunteers in local bodies of Disaster

Management.

(3) Explain the types of disaster.

(4) What is Environment Disaster ?

2. Write short notes in 100 words each (any four) : [20]

(1) Meaning of Natural disaster.

(2) Effects of Man-made disaster.

(3) Concept of Disaster Management.

(4) Post-disaster emergency phase.

(5) Required National Policy of Disaster.

(6) Traditional war and disaster.

3. Answer in 200 to 250 words each (any three) : [30]

(1) What are the elements of Disaster Management.

(2) Explain the remedial measures of Disaster.
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(3) Explain in brief the various types of pollution.

(4) State the characteristics of Man-made disaster.

(5) State the nature and types of Natural disaster.

4. Answer any one of the following question in 500 words : [20]

(1) Discuss ‘Biological war and Disaster’’.

(2) Explain in brief the possible solution in disaster.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [10]

(1) ;ksdksgkek ;qºuhrh (/kksj.k) laxk-

(2) vkiŸkh O;oLFkkiukrh« LFkkfud la?kVusrh« Lo;alsodkaph Hkwfedk Li"V

djk-

(3) vkiŸkhps izdkj Li"V djk-

(4) i;kZoj.kh; vkiŸkh Eg.kts dk; \

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) %  [20]

(1) uSlfxZd vkiŸkhpk vFkZ-

(2) ekuofufeZr vkiŸkhps ifj.kke-

(3) vkiŸkh O;oLFkkiukph ladYiuk-

(4) vkiŸkhuarjpk vkf.kck.khpk dkˇ-

(5) vkiŸkhrh« jk"V™h; /kksj.kkph xjt-

(6) ikjaikfjd ;qº vkf.k vkiŸkh-
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3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) %  [30]

(1) vkiŸkh O;oLFkkiukps ?kVd dks.krs \

(2) vkiŸkh fu;a=.kkr Bso.;kP;k mik;;kstuk Li"V djk-

(3) iznw"k.kkps fofo/k izdkj FkksMD;kr Li"V djk-

(4) ekuofuehZr vkiŸkhps oSfðk"Vs lkaxk-

(5) uSlfxZd vkiŸkhps Lo:i o izdkj lkaxk-

4. dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) ^^tSfod ;qº vkf.k vkiŸkh-** ppkZ djk-

(2) vkiŸkhrh« ;ksX; mik;;kstuk Li"V djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—4+2

Seat

No. [4301]-353

T.Y. B.A. EXAMINATION, 2013

DEFENCE AND STRATEGIC STUDIES

[D.S. S-4(A) : Industrial Security]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) State the objectives of Industrial Security.

(ii) What is the right of private defence ?

(iii) How does investigation take place ?

(iv) What is to be done after fire breaks ?

2. Write short notes in 100 words each (any four) : [20]

(i) Indian Penal Code

(ii) First Information Report

(iii) Main gate

(iv) First aid box

(v) Carbon dioxide equipment

(vi) Intelligence.

P.T.O.
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3. Answer in 200 to 250 words each (any three) : [30]

(i) Describe criminal crimes and preventive measures of it.

(ii) Describe industrial espionage.

(iii) Explain security lighting.

(iv) What is fire ? Explain the classification of fire.

(v) State the duties of Security Inspector.

4. Answer any one of the following question in 500 words : [20]

(i) Describe the various types of first aid.

(ii) Explain the security planning and its implementation.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) %  [10]

(i) vkS|ksxhd lqj{ksph mfÌ"VÓs lkaxk-

(ii) [kktxh cpkokpk gDd Eg.kts dk; \

(iii) pkSdðkh dðkh ds«h tkrs \

(iv) vkx «kxY;kuarj dk; djkos \

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krkgh pkj) %  [20]

(i) Hkkjrh; naM lafgrk

(ii) ifg«h [kcj

(iii) eq[; izosðk}kj

(iv) izFkeksipkj isVh

(v) dkcZu Mk;&vkWDlkbZM midj.k

(vi) xksifu; foHkkx-
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3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) %  [30]

(i) QkStnkjh Lo:ikps xqUgs o R;kojh« izfrca/kkRed mik; foðkn djk-

(ii) vkS|ksfxd gsjxhjhps o.kZu djk-

(iii) ^lqj{kk izdkðk O;oLFkk* Li"V djk-

(iv) vkx Eg.kts dk; \ vkxhps ofxZdj.k Li"V djk-

(v) lqj{kk fujh{kdkph drZO;s lkaxk-

4. iq<h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) izFkeksipkjkP;k fofo/k izdkjkaps o.kZu djk-

(ii) vkS|ksxhd lqj{ksps fu;kstu o vae«ctko.kh Li"V djk-
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[4301]-353

[D.S. (S-4) (B) : Research Methodology]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) State the nature of research.

(ii) State the subject-matter of survey.

(iii) Explain the nature of concept.

(iv) State the sources of collection of data.

2. Write short notes in 100 words each (any four) : [20]

(i) Research Process

(ii) Formulation of problem

(iii) Social research

(iv) Design of research

(v) Types of facts

(vi) Objectives of survey.

3. Answer in 200 to 250 words each (any three) : [30]

(i) Explain the major steps in research process.

(ii) What is report writing ? State the objectives of report

writing.
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(iii) State the importance and need of objectivity.

(iv) State the sources of hypothesis.

(v) Explain the phases of research design.

4. Answer any one of the following question in 500 words : [20]

(i) Describe the meaning and importance of concept.

(ii) What is facts collection ? State the characteristics of

facts.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) ewˇ baxzth izðuif=dk xzk· /kjkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) %  [10]

(i) laðkks/kukps Lo:i lkaxk-

(ii) lOgsZ{k.kk«k vkoð;d vl.kkjh lkeqxzh lkaxk-

(iii) ladYiusps Lo:i Li"V djk-

(iv) ekfgrh lad«ukps Úksr lkaxk-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) %  [20]

(i) laðkks/ku izfÿ;k

(ii) leL;k lq=.k

(iii) lkekthd laðkks/ku

(iv) laðkks/kukpk vkjk[kMk

(v) rF;kaps izdkj

(vi) lOgsZ{k.kkps mÌsðk-
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3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(i) laðkks/ku izfÿ;srh« izeq[k VIis Li"V djk-

(ii) vgok« «s[ku Eg.kts dk; \ vgok« «s[kukph mfÌ"Vs lkaxk-

(iii) laðkks/kukr oLrqfu"Brsps egRo o vkoð;drk lkaxk-

(iv) x`fgrdkaps mxeÚksr lkaxk-

(v) laðkks/ku vkjk[kMÓkP;k ik;Ú;k Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) ladYiuspk vFkZ o egRo foðkn djk-

(ii) rF; lad«u Eg.kts dk; \ rF;kaph oSfðk"Vs lkaxk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-354

T.Y. B.A. EXAMINATION, 2013

SOCIAL WORK

(General)

(I—Introduction to Youth Welfare)

(II—Introduction to Rural & Urban Welfare)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two questions in 50 words each : [10]

(i) Define youth welfare.

(ii) Explain the importance of good health.

(iii) Define rural way of life.

(iv) Explain Municipality as a agency of urban development.

2. Answer any four questions in 100 words each : [20]

(i) Explain the problems of Backward classes youth.

(ii) ‘Rural youth is hard working.’ Discuss.

P.T.O.
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(iii) Explain the importance of sex education for youth.

(iv) Discuss the problems and needs of urban communities.

(v) Explain the functions of Zilla Parishad.

(vi) Discuss the problem of health in rural area.

3. Answer any three questions in 200-250 words each : [30]

(i) Explain the importance of group-life for youth.

(ii) Explain the problems of unemployed youth.

(iii) Discuss the strength and limitations of tribal youth.

(iv) Explain the similarity and differences in rural and urban

life.

(v) Discuss about the ‘problem of infrastructure in urban

area’.

4. Answer any one question in 500 words : [20]

(i) Write an essay on ‘Youth and National Integration’.

(ii) Write a detailed note on ‘Role and Responsibilities of Chief

Executive Officer’ of Zilla Parishad in rural development.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkai;±r f«gk %  [10]

(i) ;qod dY;k.kkph O;k[;k |k-

(ii) pkaxY;k vkjksX;kps egRo Li"V djk-

(iii) xzkeh.k thou iºrhph O;k[;k djk-

(iv) uxjikf«dk ukxjh fodklkph ,d laLFkk Eg.kwu Li"V djk-

2. dks.kR;kgh pkj izðukaph mŸkjs izR;sdh 100 ðkCnkai;±r f«gk %  [20]

(i) ekxkloxhZ; ;qodkaP;k leL;k Li"V djk-

(ii) ^xzkeh.k ;qod d"Vkˇw vkgs-* ppkZ djk-

(iii) ;qodkalkBh «Safxd fðk{k.kkps egRo Li"V djk-

(iv) ukxjh leqnk;kaP;k leL;k o xjtkaph ppkZ djk-

(v) ftYgk ifj"knsph dk;sZ Li"V djk-

(vi) xzkeh.k Hkkxkrh« vkjksX;kph leL;k Li"V djk-

3. dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200-250 ðkCnkai;±r f«gk %  [30]

(i) ;qodkalkBh leqg&thoukps egRo Li"V djk-

(ii) csjkstxkj ;qodkaP;k leL;k Li"V djk-
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(iii) vkfnoklh ;qodkaph c«LFkkus vkf.k e;kZnk Li"V djk-

(iv) xzkeh.k vkf.k ukxjh thoukrh« lkE;rk vkf.k Qjd Li"V djk-

(v) ^ukxjh Hkkxkrh« ik;kHkwr lks;hlqfo/kkaph leL;k* ;koj ppkZ djk-

4. dks.kR;kgh ,d izðukps mŸkj 500 ðkCnkai;±r f«gk %  [20]

(i) ^;qod vkf.k jk"V™h; ,dkRerk* ;koj fuca/k f«gk-

(ii) ^ftYgk ifj"knsP;k eq[; dk;Zdkjh vf/kdkÚ;kph xzkeh.k fodklkrh« Hkwfedk

vkf.k tckcnkÚ;k* ;koj lfoLrj fVi.k f«gk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4301]-356

T.Y.B.A. EXAMINATION, 2013

COMMERCE (General—III)

(Business Management)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following in 50 words each (any two) : [10]

(1) State in brief importance of business management.

(2) What is staff organisation ?

(3) State the merits of democratic style of leadership.

(4) State principles of communication in brief.

2. Answer the following in 100 words each (any four) : [20]

(1) State the merits and demerits of planning.

(2) Describe theory ‘X’ and ‘Y’ of motivation.

(3) Describe in brief principles of organisation.

(4) Explain the process of control.

(5) Explain the types of decision.

(6) “Management is a profession.” Discuss.
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3. Answer in 300 words each (any two) : [30]

(1) Explain in detail the functions of management.

(2) Describe various types of communication.

(3) State recent trends in management.

(4) State the meaning, merits and demerits of delegation of authority.

4. Answer in 500 words (any one) : [20]

(1) Explain the principles of management.

(2) Describe different types of organisation structure.

(3) Write a detailed explanatory note on ‘Direction’.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kkyhy izðukaph mŸkjs izR;sdh 50 'kCnkar fygk (dks.krsgh nksu) % [10]

(1) O;olk; O;oLFkkiukps egRo FkksMD;kr lkaxk-

(2) deZpkjh iºrhph la?kVu jpuk Eg.kts dk; \

(3) yksd'kkgh iºrhP;k usr`Rokps Qk;ns lkaxk-

(4) lans'kogukph rRos FkksMD;kr lkaxk-
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2- [kkyhy iz'ukaph izR;sdh 100 'kCnkar mŸkjs fygk (dks.krsgh pkj) % [20]

(1) fu;kstukps Qk;ns o e;kZnk lkaxk-

(2) vfHkiszj.kspk ^{k* flºkar o ^;* flºkar fo'kn djk-

(3) la?kVusph rRos FkksMD;kr lkaxk-

(4) fu;a=.kkph izfÿ;k Li"V djk-

(5) fu.kZ;kps izdkj Li"V djk-

(6) ^O;oLFkkiu ,d is'kk* ;koj ppkZ djk-

3- [kkyhy iz'ukaph izR;sdh 300 'kCnkar mŸkjs fygk (dks.krsgh nksu) % [30]

(1) O;oLFkkiukph dk;sZ lfoLrj Li"V djk-

(2) lans'kogukps fofo/k izdkj fo'kn djk-

(3) O;oLFkkiukrhy vk/kqfud izokg lkaxk-

(4) vf/kdkj iznkukpk vFkZ] Qk;ns o e;kZnk lkaxk-

4- [kkyhy iz'ukph 500 'kCnkar mŸkj fygk (dks.kR;kgh ,d) % [20]

(1) O;oLFkkiukph rRos Li"V djk-

(2) la?kVu jpusps fofo/k izdkjkaps o.kZu djk-

(3) ^fnXn'kZu* ;koj Li"Vhdj.kkRed lfoLrj Vhi fygk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-357

T.Y. B.A. EXAMINATION, 2013

EDUCATION (G-3)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) : [20]

(1) What is counselling ?

(2) Write the meaning of discipline.

(3) What is sensation ?

(4) What is disaster ?

(5) What is the meaning of demonstration method ?

(6) What is mental health ?

(7) Write the meaning of Higher Education.

(8) What is creativity ?

(9) What is personality ?

(10) Write the meaning of action research.

(11) What is indiscipline ?

(12) What is individual differences ?

(13) What is vocational guidance ?

P.T.O.
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2. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the concept of school indiscipline.

(2) Explain the characteristics of personality.

(3) Write the need of Educational Guidance.

(4) Write the limitations of discussion method.

3. Answer the following questions in 150 words each (any two) : [20]

(1) What is imagination ? Explain the educational importance of

imagination.

(2) Explain the effect of globalization on Higher Education.

(3) Explain the causes of individual differences.

(4) What are the three aspects of discipline ? Explain the importance

of social discipline.

4. Answer the following questions in 300 words each (any two) : [30]

(1) Explain the concept of riots. Describe the causes of riots and

suggest the ways to overcome it.

(2) Explain the factors affecting on personality in detail.

(3) What is project method ? Explain the nature, importance and

limitations of project method.

(4) What is mental conflict ? Explain the causes and types of

mental conflict.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vfuok;Z vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh ngk izðukaph mŸkjs izR;sdh 20 ðkCnkar f«gk %  [20]

(1) lewinsðku Eg.kts dk; \

(2) fðkLrhpk vFkZ f«gk-

(3) laosnuk Eg.kts dk; \

(4) vkiŸkh Eg.kts dk; \

(5) fnXnðkZu iºrhpk vFkZ f«gk-

(6) ekufld vkjksX; Eg.kts dk; \

(7) mPp fðk{k.kkpk vFkZ f«gk-

(8) ltZuðkh«rk Eg.kts dk; \

(9) O;fDreRo Eg.kts dk; \

(10) œrh laðkks/kukpk vFkZ f«gk-

(11) csfðkLr Eg.kts dk; \

(12) O;fDrHksn Eg.kts dk; \

(13) O;kolkf;d ekxZnðkZu Eg.kts dk; \
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2. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk % [10]

(1) ðkk«s; csfðkLrhph ladYiuk Li"V djk-

(2) O;fDreRokph oSfðk"VÓs Li"V djk-

(3) ðkS{kf.kd ekxZnðkZukph xjt foðkn djk-

(4) ppkZ iºrhP;k e;kZnk foðkn djk-

3. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 150 ðkCnkar f«gk % [20]

(1) dYiuk Eg.kts dk; \ dYiukaps ðkS{kf.kd egRo Li"V djk-

(2) tkxfrdhdj.kkpk mPpfðk{k.kkojh« izHkko Li"V djk-

(3) O;fDrHksnkph dkj.ks Li"V djk-

(4) fðkLrhps rhu iS«w dks.krs \ lkekftd fðkLrhps egRo Li"V djk-

4. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 300 ðkCnkar f«gk % [30]

(1) nax«hph ladYiuk Li"V djk- nax«hph dkj.ks lkaxwu rh nwj dj.;klkBh mik;

lqpok-

(2) O;fDreRokoj ifj.kke dj.kkjs ?kVd lfoLrj Li"V djk-

(3) izdYi iºrh Eg.kts dk; \ izdYi iºrhps Lo:i] egRo o e;kZnk Li"V

djk-

(4) ekufld la?k"kZ Eg.kts dk; \ ekufld la?k"kkZph dkj.ks o izdkj Li"V djk-



Total No. of Questions—5] [Total No. of Printed Pages—8

Seat

No. [4301]-360

T.Y. B.A. EXAMINATION, 2013

ENGLISH

General Paper III

(G-3 : Enriching Oral and Written Communication)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 60

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. (A) Answer any three of the following in about 20 words each : [6]

(i) What is formal communication ?

(ii) What is upward communication ?

(iii) What is horizontal communication ?

(iv) What is verbal communication ?

(v) What is body language ?

(B) Attempt any three of the following : [6]

(i) Identify the contrast of sounds in the following pairs of

words :

(a) major—measure

(b) talk—walk

P.T.O.
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(ii) Mark the accent :

(a) many

(b) market

(iii) Identify the weak forms in the following

sentences :

(a) I was happy.

(b) He is my brother.

(iv) Mark intonation in the following sentences :

(a) I live in an apartment.

(b) Is the water cool ?

(v) How would you express thanks in the following

situation ?

Someone just gave you a birthday gift.

2. (A) Attempt any three of the following : [6]

(i) Form two words with each of the following suffixes :

(a) .......ment

(b) .......ful
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(ii) Form antonyms with the help of prefixes :

(a) use

(b) honest

(iii) Identify the part of speech of the underlined words :

(a) They stepped on the carpet.

(b) Keep the lights on, please.

(iv) Identify the acceptable combinations of the words

below :

(a) glare at/glare towards

(b) equitable rights/equal rights

(v) Fill in the blanks with appropriate word :

(a) He ran .................. (fast/fastly)

(b) He .................. works (hard/hardly)

(B) Attempt any three of the following : [6]

(i) Write a set of two words each closely related in meaning

to the following words :

(a) connect

(b) cloth
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(ii) Match the following synonyms :

  A     B

(1) mandatory (a) craved

(2) wreck (b) annually

(3) longed (c) destroy

(4) yearly (d) compulsory

(iii) Frame sentences by using the following phrases :

(a) bear with

(b) bear away.

(iv) Coin as many words as possible from the letters used

in the words below :

(a) Football

(b) laboratory.

(v) Identify whether the meaning of the underlined word is

literal or figurative :

(a) It is a cold day.

(b) She gave me a cold look.
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3. Attempt any two of the following : [12]

(a) Imagine that you are facing an interview for the post of Junior

College Teacher in a college. Anticipate any six questions and

write down your responses to them.

(b) Imagine that you are going to interview an industrialist. List

down ten questions you would ask.

(c) A group of three friends is having a discussion on the malpractices

related to elections. Write a dialogue anticipating two utterances

for each of the participants.

4. Attempt any two of the following : [12]

(a) Write a paragraph of about 100 words on any one of the following

topics :

(i) Enviroment

(ii) Fashions.

(b) Write a review of the TV serial you watched recently.

(c) Summarise the following passage :

A new-born baby appears to be sleeping almost all the time.

But as it grows up, its pattern of sleep changes. It sleeps
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less and less and stays awake longer, playing or crying or babbling.

By adulthood, the pattern is well established; people sleep eight

or nine hours a day. Well, not quite that long, for our sleep

habits have changed over the last century or so, and we do

not get as much sleep as we ought to.

In the eighteenth and nineteenth centuries, people went to bed

early, soon after it was dark. They had nothing to do in the

evenings, and their sleep habits were fixed by the alternation

of day and night, light and darkness. They woke up by daybreak

and, thus, they could get nine hours of sleep on an average.

5. (A) Attempt any two of the following : [6]

(i) Punctuate the following passage :

there is an enemy beneath out feet an enemy the more

deadly for its complete impartiality it recognizes no national

boundaries no political parties everyone in the world is

threatened by it the enemy is the earth itself when an

earthquake strikes the world trembles the power of

quake is greater than anything human beings themselves

can produce
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(ii) Rearrange the jumbled sentences below to form well-written

paragraph :

(1) There are direct intellectual effects : the dispelling

of many traditional beliefs, and the adoption of others

suggested by the success of the scientific method.

(2) Then, chiefly as a consequence of new techniques, there

are profound changes in social organization, which are

bringing about corresponding political changes.

(3) The effects of science are various, very different kinds.

(4) Then there are effects on a technique in industry and

war.

(5) Finally, as a result of the new control over the

environment which scientific knowledge has conferred,

a new philosophy is growing up, involving a changed

conception of the place of human beings in the universe.

(iii) Explain the use of any one of the punctuation marks given

below :

(a) question mark

(b) comma
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(B) Attempt any two of the following : [6]

(i) Match the following expressions of telephonic conversation :

A            B

(a) hello (i) I am sorry, he is not

in the office

(b) is this 9899508999 ? (ii) you are welcome

(c) can I speak to Mr. Jog ? (iii) good morning

(d) then I would like to leave (iv) yes, it is

a message

(ii) Complete the telephonic conversation below :

A : Hello, is this 9965886045 ?

B : ................. can I help you ?

A : ................. ?

B : Miss. Nandini is busy in a meeting.

A : Can I leave ................. ?

B : Yes, ................. .

(iii) Write a transcript of a power-point presentation you would

make on ‘Computer Literacy’.



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [4301]-361

T.Y. B.A. EXAMINATION, 2013

ENGLISH

Special Paper III

(S-3 : Introduction to the Study of English Language)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following : [16]

(1) Define Morphology and explain the concepts ‘morphemes’ and

‘allomorphs’.

(2) Explain any two word-formation processes with suitable examples.

(3) Write a note on fricatives in English.

(4) Describe ‘Pure Vowels’ in English.

(5) Explain the concept of ‘Affixation’.

(6) Write a note on Manner of articulation.

2. Write short notes on any four of the following : [16]

(1) Code mixing and Code switching

(2) Bilingualism
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(3) Creole and Pidgin

(4) Nativization of English

(5) Locutionary, illocutionary and perlocutionary acts

(6) Sentence and utterance.

3. Write short notes on any four of the following : [16]

(1) Word Accent

(2) The uses of Falling Tone

(3) Intonation

(4) Abstract and Concrete nouns

(5) Present Aspect

(6) Adjectives.

4. Write short notes on any four of the following : [16]

(1) Dialects

(2) Deixis

(3) Cooperative Principle

(4) The features of American English

(5) Indian English as a non-native variety

(6) Registers.
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5. (A) Answer any two of the following : [8]

(1) Point out the difference between British English

and American English at the levels of spelling and

grammar.

(2) Distinguish between British English and Indian

English

(3) Explain major characteristics of British English.

(B) Do as directed (any four) : [8]

(1) Rewrite two words each by using the following affixes :

(a) .....................ful

(b) Un.....................

(c) .....................less

(d) Vice.....................

(2) Transcribe the following words phonemically :

coffee, police, often, school

(3) Use the correct tense form of the verb given in the

brackets :

I (receive) your message yesterday.
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(4) Identify the register of the following utterance and mention

its markers :

The doctor diagnosed the patient who was suffering

from brain tumour and gave him the treatment of chemo-

therapy.

(5) Identify the deixis in the following utterance and mention

its type :

Raju visited the Taj Mahal. He had gone there with his

wife in winter.



Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [4301]-362

T.Y. B.A. EXAMINATION, 2013

ENGLISH

Special Paper IV

(S-4 : Introduction to Literary Criticism and Critical

Appreciation)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. (A) Attempt any two of the following in about 50 words

each : [8]

(i) How do you define criticism ?

(ii) State briefly the qualifications of a good critic.

(iii) Comment on the theory of Imitation.

(B) Attempt any two of the following in about 50 words

each : [8]

(i) How does sociological approach interpret literature ?

(ii) Discuss briefly the psychological approach to literature.

(iii) Explain how the biography of a writer helps understand

his/her literary work.

P.T.O.
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2. Attempt any two of the following in about 150 words each : [16]

(i) Comment on the influence of Aristotle’s views on Sidney’s defence

of poetry.

(ii) What according to Sidney are the reasons for the superiority

of poetry over other disciplines ?

(iii) Discuss Johnson’s defence of Shakespeare’s intermingling of the

tragic and the comic.

(iv) How do you account for a disciplined neo-classicist like Johnson

defending the violation of norms by Shakespeare ?

3. Attempt any two of the following in about 150 words each : [16]

(i) Why does Wordsworth insist on rustic language and incidents

from common life in the writing of poetry ?

(ii) How do you explain Wordsworth’s definition of poetry ?

(iii) Comment on Arnold’s touchstone method of evaluating

poetry.

(iv) What according to Eliot is ‘historical sense’ and why is it so

important to a poet ?

4. Explain any four of the following literary and critical terms : [16]

(i) Simile

(ii) Metaphor

(iii) Imagery

(iv) Romanticism

(v) The Absurd

(vi) Modernism.
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5. Read the following poem and answer the questions that follow (any

eight) : [16]

I think that I shall never see

A poem lovely as a tree.

A tree whose hungry mouth is pressed

Against the earth’s sweet flowing breasts;

A tree that looks at God all day

And lifts her leafy arms to pray;

A tree that may in summer wear

A nest of robins in her hair;

Upon whose bosom snow has lain;

Who intimately lives with rain.

Poems are made by fools like me

But only God can make a tree.

Questions :

(1) What is as lovely as a poem ?

(2) How does the growing tree worship God ?

(3) How do we know that the tree is a female ?

(4) What is the tree wearing in summer ?

(5) Why does the poet call himself a fool ?
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(6) What is the difference between God and the poet ?

(7) Write any one of the figures of speech in the poem.

(8) Pick out the images that describe the tree in terms of a baby

and a woman.

(9) Why does the poet compare his poem with the tree ?

(10) What is the rhyme scheme of the poem ?

(11) Suggest a suitable title to the poem.



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-363

T.Y. B.A. EXAMINATION, 2013

PHYSICAL EDUCATION

(2008 PATTERN)

Time : Three Hours Maximum Marks : 60

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following in one or two sentences each (any five) :  [10]

(1) Kabaddi team consists of how many players and actually players

playing on court ?

(2) In which year LNIPE-Gwalior was established ?

(3) List out the throwing events in Athletics.

(4) What is the measurement of Judo mat area ?

(5) Explain the types of Olympic games.

(6) ‘LIBRO’ term is used on which game ?

(7) List out the National Sports Awards started by the Government

of India.

P.T.O.
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2. Answer the following in 5 or 6 sentences each (any two) : [10]

(1) Write in detail about NSNIS-Patiyala.

(2) Draw a neat diagram of kho-kho ground with measurements.

(3) Objectives of Olympics games.

3. Answer the following in 20 to 25 sentences each (any two) : [20]

(1) After Independence, which five institutes play an important

role for development of Physical Education ?

(2) Draw a neat diagram of Badminton Court and explain the

basic skills in Badminton.

(3) Define warming up. Explain the importance of warming up

and cooling down in sports.

4. Answer the following in detail (any one) : [20]

(1) Describe and explain in detail about SAI.

(2) Explain the importance of physical education in British period.

(ejkBh :ikarj)

osˇ % 3 rkl ,dw .k xq.k % 60

lwpuk :— (i) loZ izðu lksMfo.ks vfuok;Z vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d R;k fBdk.kh lqcd vkœR;k dk<k-
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1. [kk«h«iSdh dks.kR;kgh ikp izðukaph izR;sdh mŸkjs ,d fdaok nksu okD;kr f«gk % [10]

(1) dcÏh e/;s izR;{k [ksˇ.kkÚ;k [ksˇkMwaph o jk[kho [ksˇkMawph la[;k fdrh

vlrs \

(2) «{ehckbZ jk"V™h; bULVhVÓwV vkWQ fQftd« ,T;wdsðku] XokYgsj ph LFkkiuk dËkh

>k«h \

(3) ^vWFk«sfVDl* ef/k« QsdhP;k ckch dks.kR;k rs f«gk-

(4) ^T;wnks* ;k [ksˇkph ^eWV ,fj;k* fdrh vlrs \

(5) ^vkWf«fEid Li/kkZ* izdkj lkaxk-

(6) ^f«czks* gh laKk dks.kR;k [ksˇkr okij«h tkrs \

(7) dsaÊ ljdkj*ps [ksˇkMw o ekxZnðkZdklkBhP;k iqjLdkjkaph ;knh f«gk-

2. [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh mŸkjs 5 fdaok 6 okD;kr f«gk % [10]

(1) usrkth lqHkk"k jk"V™h; ÿhMk laLFkk] ifr;kˇkfo"k;d ekfgrh f«gk-

(2) [kks&[kks ;k [ksˇkP;k eSnkukph lqcd vkœrh ekstekiklg dk<k-

(3) vkWf«Eihd [ksˇkaps mÌsðk f«gk-

3. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 20 rs 25 okD;kr f«gk % [20]

(1) Lokrá ;kuarj ðkkjhfjd fðk{k.k {ks=kr egRoiw.kZ ;ksxnku ns.kkÚ;k dks.kR;kgh ikp

laLFkkph ekfgrh |k-
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(2) ^cWMfeaVu* dksVZph vkœrh dk<wu [kš klkBh vkoð;d vl.kkjs eq«Hkwr dkSðkY;

dks.krh rs Li"V djk-

(3) ^okfe±x vi*ph O;k[;k Li"V d:u] [kš ke/;s okfe±xvi o dq«hax Mk≈ups

egRo lkaxk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps lfoLrj mŸkj f«gk % [20]

(1) Hkkjrh; ÿhMk izkf/kdj.k o dsafÊ; ljdkjP;k ;kstuk cÌ« ekfgrh |k-

(2) fczVhðk dkˇkrh« 'kkjhfjd fðk{k.kkps egRo Li"V djk-



�







Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-368

T.Y. B.A. EXAMINATION, 2013

LOGIC

G-3 : Methodology of Science

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in 100 words each : [10]

(1) What is the teleological approach to universe ?

(2) What is the problem of Induction ?

(3) State the three stages of evolution of human thought according

to Auguste Comte.

(4) Explain the basic features of a scientific law.

2. Write short notes on any four of the following in 100 words

each : [20]

(1) Methodological Individualism

(2) D-N Model of Explanation

(3) Aristotle’s notion of cause

P.T.O.
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(4) Durkheim’s understanding of social reality

(5) Mechanical approach to universe

(6) Instrumentalism.

3. Answer any three of the following in 250 words each : [30]

(1) What are the objectives of social sciences ? Discuss.

(2) Discuss Hume’s views about causation.

(3) Bring out the difference between a scientific and non-scientific

(popular) explanation.

(4) What is Scientific Hypothesis ? Explain the conditions of

acceptability of hypothesis.

(5) Can social sciences be value neutral according to you ? Give

reasons for your views.

4. Answer any one of the following in 500 words each : [20]

(1) Discuss fully the difference between science and common

sense.

(2) Explain fully the “Unity of Method” thesis.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) ewˇ baxzth izðuif=dkgh igkoh-
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1. dks.kR;kgh nksukaph izR;sdh 100 ðkCnkar mŸkjs |k % [10]

(1) foðokdMs c?k.;kpk iz;kstuoknh n`f"Vdksu Eg.kts dk; \

(2) foxeukph leL;k dk; vkgs rs lkaxk-

(3) vkWxLV dkWEV ;kaP;k ers ekuoh fopkjkP;k fodklkps rhu VIis dks.krs \

(4) oSKkfud fu;ekph ew«Hkwr oSfðk"VÓs Li"V djk-

2. dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar fVik |k % [20]

(1) iºfrðkkL=h; O;fDrokn

(2) Li"Vhdj.kkps Mh&,u- izk:i

(3) vWfjLVkWV« ;kaph dkj.k ladYiuk

(4) Mj[kkbZe ;kaps lkekftd okLrokfo"k;hps vkd«u

(5) foðofo"k;d ;a=oknh n`f"Vdksu

(6) lk/kuokn-

3. izR;sdh 250 ðkCnkar dks.kR;kgh rhukaph mŸkjs |k % [30]

(1) lkekftd ðkkL=kaP;k mfÌ"Vkaph ppkZ djk-

(2) dk;Zdkj.kfo"k;d ·we ;kaP;k erkaph ppkZ djk-

(3) oSKkfud Li"Vhdj.k o u&oSKkfud Li"Vhdj.k (lkekU;/kkj.kk) ;krh« Qjd

Li"V djk-
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(4) oSKkfud flºkUrdYiuk@vH;qixe Eg.kts dk; \ flºkUrdYiusP;k@vH;qixekP;k

Lohdk;ZrsP;k vVh Li"V djk-

(5) lkekftd ðkkL=s rqeP;k ers ewY;fujis{k vlw ðkdrkr dk \ rqeP;k erkps

leFkZu djk-

4. izR;sdh 500 ðkCnkar dks.kR;kgh ,dk izðukps mŸkj |k % [20]

(1) foKku vkf.k lkekU;/kkj.kk ;kph Qjdkph lfoLrj ppkZ djk-

(2) iºrhph ,drk ;k flºkUrkps lfoLrj Li"Vhdj.k |k-



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—7

Seat

No. [4301]-369

T.Y.B.A. EXAMINATION, 2013

SOCIOLOGY

Group ‘A’ (G-3) : Works Industry and Society

Or

Group B (G-3) : Crime and Society

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt Group ‘A’ or Group ‘B’.

(ii) All questions are compulsory.

(iii) Figures to the right indicate full marks.

GROUP A (G-3) : Work, Industry and Society

1. Answer any two of the following in maximum 50 words each : [10]

(1) Importance of Work

(2) Balutedari System

(3) Work related stress

(4) Features of Globalization.

2. Write short notes on any four of the following in maximum 100

words each : [20]

(1) Problems of unorganized/informal sector
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(2) New Economic Policy (1991) of India

(3) Problems of migrant labour

(4) Guild system

(5) Informal relations in Formal Organization

(6) Unemployment in Contemporary India.

3. Answer any three of the following in maximum 250 words each : [30]

(1) State the impact of Information Age on the institutions of

family and marriage.

(2) Explain the features of Japanese Model.

(3) Discuss the features of factory system of production.

(4) Describe the characteristics of unorganized sector.

(5) Explain the effects of liberalization and privatization on workers

in formal sector.

4. Answer any one of the following in maximum 500 words each : [20]

(1) Discuss the nature and types of work in Post-Industrial

Society.

(2) Discuss the strategies and present day challenges faced by

trade union movement in India.
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OR

Group B (G-3) : Crime and Society

1. Answer any two of the following in maximum 50 words each : [10]

(1) Free will Theory

(2) Crime against women

(3) Open prison

(4) Retribution Theory.

2. Write short notes on any four of the following in maximum 100

words each : [20]

(1) Causes of domestic violence

(2) Theory of punishment

(3) Meaning of parole

(4) Crime against caste

(5) Corporate crime

(6) Cyber crime.

3. Answer any three of the following in maximum 250 words

each : [30]

(1) Write the characteristics of juvenile delinquency.
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(2) Explain the nature of International Crime.

(3) Discuss the Marxian perspective to crime.

(4) Explain the causes of terrorism.

(5) Write the factors of crime.

4. Answer any one of the following in maximum 500 words : [20]

(1) Examine the characteristics of organized crime in India.

(2) Write an essay on Criminalization of Politics.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) xV ^v* fdaok xV ^c* lksMok-

(ii) loZ izðu lksMfo.ks vkoð;d vkgs-

(iii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

xV ^v*

1- [kkyhyiSdh dks.kR;kgh nksgksaph izR;sdh deky 50 'kCnkar mŸkjs fygk % [10]

(1) dkekps egRo

(2) cyqrsnkjh iºr

(3) dkeklaca/kh rk.k

(4) tkxfrdhdj.kkph oSf'k"V~Ós-
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2- [kkyhyiSdh dks.kR;kgh pkjoj izR;sdh deky 100 'kCnkar FkksMD;kr Vhik fygk % [20]

(1) vukSipkfjd@vla?kfVr {ks=kP;k leL;k

(2) Hkkjrkps uohu vkfFkZd /kksj.k (1991)

(3) LFkykarfjr dkexkjkaP;k leL;k

(4) la?k mRiknu iºrh

(5) vkSipkfjd la?kVukae/khy vukSipkfjd laca/k

(6) ledkyhu Hkkjrkrhy csdkjhph leL;k-

3- [kkyhyiSdh dks.kR;kgh rhu iz'ukaph izR;sdh deky 250 'kCnkar mŸkjs fygk % [30]

(1) ekfgrh ;qxkpk dqVqac vkf.k fookg laLFksojhy izHkko lkaxk-

(2) tikuh izk#ikph oSf'k"VÓs Li"V djk-

(3) dkj[kkuk mRiknu iºrhP;k oSf'k"VÓkaph ppkZ djk-

(4) vla?kfVr {ks=kP;k oSf'k"VÓkaps o.kZu djk-

(5) mnkjhdj.k o [kktxhdj.kkps la?kfVr {ks=krhy dkexkjkaojhy izHkko Li"V

djk-

4- [kkyhyiSdh dks.kR;kgh ,dk iz'ukps deky 500 'kCnkar mŸkj fygk % [20]

(1) mŸkj vkS|ksfxd lektkrhy dkekps Lo:i vkf.k izdkjkaph ppkZ djk-

(2) Hkkjrkrhy dkexkj la?kVukaps Mkoisp o l| vkOgkaukaph ppkZ djk-
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fdaok

xV ^c*

1- [kkyhyiSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 'kCnki;±r fygk % [10]

(1) eqDr bPNk flºkar

(2) fL=;kafo#ºps xqUgs Lo:i

(3) [kqyk rq#ax

(4) cnyk@lwM flºkar-

2- [kkyhyiSdh dks.krhgh pkjoj izR;sdh 100 'kCnkar FkksMD;kr fVik fygk % [20]

(1) dkSVqafcd fgalkpkjkph dkj.ks

(2) f'k{kspk flºkar

(3) iWjksypk vFkZ

(4) tkrhfo#ºpk xqUgk

(5) dkWiksZjsV xqUgk

(6) lax.kdh; xqUgs-

3- [kkyhyiSdh dks.kR;kgh rhuph deky 250 'kCnkar mŸkjs fygk % [30]

(1) ckyxqUgsxkjhph oSf'k"VÓs fygk-

(2) vkarjjk"V™h; xqUgÓkps Lo:i Li"V djk-
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(3) xqUgÓkP;k ekDlZoknh n`"Vhdksukph ppkZ djk-

(4) ng'kroknkph dkj.ks Li"V djk-

(5) xqUgÓkps ?kVd fygk-

4- [kkyhyiSdh dks.kR;kgh ,dkps mŸkj 500 'kCnkar fygk % [20]

(1) Hkkjrkrhy la?kfVr xqUgsxkjhP;k oSf'k"VÓkaps ijh{k.k djk-

(2) jktdkj.kkps xqUgsxkjhdj.k ;koj fuca/k fygk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4301]-370

T.Y.B.A. EXAMINATION, 2012

SOCIOLOGY

(S3 : Social Research Methods)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in maximum 50 words each : [10]

(1) Significance of social research

(2) Review of literature

(3) Secondary sources

(4) Mode.

2. Write short notes on any four of the following in maximum

100 words each : [20]

(1) Objectivity in social research

(2) Meaning and definition of content analysis

(3) Ethics in social research

(4) Ethnography

(5) Coding

(6) Meaning and definition of survey method.
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3. Answer any three of the following in maximum 250 words each : [30]

(1) Explain the merits and demerits of observation technique.

(2) Define hypothesis. State the importance of hypothesis.

(3) Explain the uses and importance of computer in social research.

(4) State the advantages and disadvantages of interview technique.

(5) Describe the merits and demerits of survey method.

4. Answer any one of the following in maximum 500 words : [20]

(1) What is social research ? Explain the major steps in social

research.

(2) Define case study method. State the advantages and limitations

of case study method.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.kR;kgh nksgksaps mŸkj izR;sdh dek« 50 ðkCnkai;±r f«gk % [10]

(1) lkekftd laðkks/kukps egRo

(2) lanHkZ lkfgR;kpk vk<kok

(3) nq∏;e Úksr

(4) cgq«d-



[4301]-370 3 P.T.O.

2- [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh dek« 100 ðkCnkai;±r laf{kIr fVik f«gk % [20]

(1) lkekftd laðkks/kukrh« oLrqfu"Brk

(2) vkðk; foð«s"k.kkpk vFkZ o O;k[;k

(3) lkekftd laðkks/kukrh« uSfrdrk (uhrh rRos)

(4) laLœrh o.kZu@«ksdk«s[k

(5) ladsrhdj.k

(6) losZ{k.k iºrhpk vFkZ o O;k[;k-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh dek« 250 ðkCnkai;±r mŸkjs f«gk % [30]

(1) fujh{k.k ra=kps xq.k&nks"k Li"V djk-

(2) x`ghrœR;kph O;k[;k ns≈u x`ghrœR;kps egRo lkaxk-

(3) lkekftd laðkks/kukr lax.kdkps mi;ksx o egRo Li"V djk-

(4) eq«k[kr ra=kps xq.k&nks"k lkaxk-

(5) losZ{k.k iºrhP;k xq.k&nks"kkaps o.kZu djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukpk dek« 500 ðkCnkai;±r mŸkj f«gk % [20]

(1) lkekftd laðkks/ku Eg.kts dk; \ lkekftd laðkks/kukrh« izeq[k ins (VIis)

Li"V djk-

(2) O;"Vh v/;;u iºrhph O;k[;k |k- O;"Vh v/;;u iºrhps xq.k vkf.k e;kZnk

lkaxk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-371

T.Y. B.A. EXAMINATION, 2013

SOCIOLOGY

Special Paper 4

(Indian Society : Continuity and Change)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in maximum 50 words each : [10]

(i) Contribution of adivasis to the making of Indian Society.

(ii) Impact of modernization on Indian Society.

(iii) Impact of privatization on education.

(iv) Changing nature of family.

2. Write short notes on any four of the following in maximum

100 words each : [20]

(i) Secularism.

P.T.O.
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(ii) Civil society initiatives for unity of Indian Society.

(iii) Language—a challenge to unity of Indian Society.

(iv) Panchayati Raj.

(v) Land alienation and livelihood issues of tribals.

(vi) Changing nature of marriage.

3. Answer any three of the following in maximum 250 words each : [30]

(i) Examine the role of democracy in the direction of nation

building.

(ii) Discuss the efforts of Indian State in dealing with challenges

to the unity of India.

(iii) Explain the impact of globalization on Indian agriculture.

(iv) Describe the changing structure of urban society in India.

(v) Explain the role of media in contemporary India.

4. Answer any one of the following in maximum 500 words : [20]

(i) Examine the contribution of Indus valley civilization and Dravidians

to the making of Indian Society.

(ii) Write an essay on changing nature of caste in rural and urban

India.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksgksaoj izR;sdh 50 ðkCnkai;±r mŸkjs f«gk % [10]

(i) Hkkjrh; lektkP;k tM.k?kM.khrh« vkfnoklhaps ;ksxnku-

(ii) Hkkjrh; lektkojh« vk/kqfudhdj.kkpk izHkko-

(iii) fðk{k.kkojh« [kktxhdj.kkpk izHkko-

(iv) dqVqackps cn«rs Lo:i-

2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh 100 ðkCnkai;±r fVik f«gk % [20]

(i) /keZfujis{krkokn-

(ii) Hkkjrh; lektkP;k ,dkRerslkBhpk ukxjh lektkpk iq<kdkj-

(iii) Hkkjrh; lektkP;k ,dkRersiq<h« Hkk"ksps vkOgku-

(iv) iapk;rh jkT;-

(v) vkfnoklhaps tehu gLrkarj.k o miftfodsps eqÌs-

(vi) fookgkps cn«rs Lo:i-
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3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk % [30]

(i) jk"V™ cka/k.khP;k lanHkkZr «ksdðkkghP;k Hkwfedsps ifj{k.k djk-

(ii) Hkkjrh; lektkP;k ,dkRersP;k vkOgkukauk lkeksjs tkrkuk Hkkjrh; ðkklukP;k iz;Rukaph

ppkZ djk-

(iii) Hkkjrh; œ"khojh« tkxfrdhdj.kkps ifj.kke foðkn djk-

(iv) Hkkjrkrh« ðkgjh lektkP;k cn«R;k lajpusps o.kZu djk-

(v) l|dk«hu Hkkjrkrh« ek/;ekaph Hkwfedk Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukoj 500 ðkCnkai;±r mŸkj f«gk % [20]

(i) Hkkjrh; lektkP;k tM.k?kM.khrh« fla/kw laLœrh vkf.k ^ÊfoM* ;kaP;k ;ksxnkukps

ifj{k.k djk-

(ii) ðkgjh o xzkeh.k Hkkjrkrh« tkrhaP;k cn«R;k Lo:ikoj fuca/k f«gk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-372

T.Y. B.A. EXAMINATION, 2013

MATHEMATICS

(Mathematical Prerequisites)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of electronic calculator is allowed.

1. Attempt any ten of the following : [20]

(1) Define slack and surplus variables.

(2) Find eigenvalues of 

4 0

A = .

2 5

 
 
 − 

(3) Find A + 3B if A = [–4 7], B = [9 10].

(4) Define singular matrix.

(5) Write transpose of 

7 1

A = .

0 3

− 
 
 
 

(6) Find B.A where B = [2, 3], 

1 1

A = .

0 3

− 
 
 
 

P.T.O.
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(7) Define Hessian for z = f(x, y).

(8) Evaluate det(A) if 

8 4

A = .

1 0

− 
 
 
 

(9) Is 

1 2

A =

3 4

 
 
 
 

 invertible ? Justify.

(10) Define null matrix.

(11) Find A + B – C if A = [0 1], B  = [2 –4], C = [4 5].

(12) Write advantages of dual LPP.

(13) Give two matrices A and B such that AB ≠ BA.

2. Attempt any two of the following : [10]

(1) Find adjoint of 

4 1 5

A = 2 3 1 .

3 1 4

− 
 
 − 
 
 − 

(2) Use Jacobian to test functional dependence between

2 2
1 1 2 2 1 1 2 25 3 , 25 30 9 .y x x y x x x x= + = + +

(3) Write the dual of the following LPP :

Minimise :

C = 20z1 + 30z2 + 16z3

Subject to :

2.5z1 + 3z2 + z3 > 3

z1 + 3z2 + 2z3 > 4

    z1, z2, z3 > 0.
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3. Solve any two of the following : [20]

(1) Solve the following LPP by simplex method :

Maximise :

π = 60g1 + 100g2

Subject to :

4g1 + 5g2 < 40, 2g1 + 6g2 < 42

   6g1 + 3g2 < 42, g1, g2 > 0.

(2) Using eigenvalues show that A is negative definite,

where :

         

5 1 2

A = 0 2 0 .

4 2 3

− 
 
 − 
 
 − 

(3) Explain how to optimise function using Hessian for second order

condition.

4. Attempt any two of the following : [30]

(1) Solve the following system of linear equations by Gaussian

elimination method :

1 2 36 2 5 73,x x x+ + =

1 2 37 3 1,x x x− + = −1 2 34 8 9 9.x x x+ − = −

(2) Minimise the cost c = 3x2 + 5xy + 6y2 under the condition

5x + 7y = 800 using Hessian of second order.



[4301]-372 4

(3) Solve by simplex method :

Minimise :

c = 36x1 + 40x2 + 28x3

Subject to :

6x1 + 5x2 + 2x3 > 5,

2 x1 + 5x2 + 4x3 > 3

    x1, x2, x3 > 0.



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-377

T.Y. B.A. EXAMINATION, 2013

PHILOSOPHY

(G-3 : Aesthetics and Social Philosophy)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words

each : [10]

(1) Distinguish between Art and Craft.

(2) Explain the concept of medium in Art.

(3) What is the relation between Science and Religion ?

(4) What is Liberalism ?

2. Write short notes on any four of the following in 100 words

each : [20]

(1) Plato’s theory of Art

(2) Concept of Lokdharmi

P.T.O.
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(3) The organic model of society

(4) Terrorism

(5) Kinds of religion

(6) Aesthetic object.

3. Answer any three of the following questions in 200-250 words

each : [30]

(1) Explain fully Kant’s theory of Aesthetic Judgement.

(2) Discuss Bharatmuni’s rasa theory.

(3) Explain the cosmological argument for the existence of

God.

(4) Discuss Tolstoy’s theory of art.

(5) What is aesthetic attitude ? Explain with reference to

Bullough.

4. Answer any one of the following questions in 500 words : [20]

(1) Discuss fully Marx’s theory of society.

(2) Explain fully St. Augustine’s views on the nature of

evil.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dkgh c?kkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar |k %  [10]

(1) d«k o gLrd«k ;krh« Qjd Li"V djk-

(2) d«srh« ek/;e gh ladYiuk Li"V djk-

(3) /keZ o foKku ;krh« ijLijlaca/k Li"V djk-

(4) mnkjerokn Eg.kts dk; \

2. [kk«h«iSdh dks.kR;kgh pkj Vhik izR;sdh 100 ðkCnkar f«gk %  [20]

(1) I«sVkspk d«kfo"k;d flºkar

(2) ^«ksd/kehZ* gh ladYiuk

(3) lektkps lsafÊ; izfr:i

(4) ngðkrokn

(5) /kekZps izdkj

(6) lqanj oLrw-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200-250 ðkCnkar |k % [30]

(1) lkSan;Z fo/kkukfo"k;hpk dkaVpk flºkar lfoLrj Li"V djk-

(2) Hkjrequhapk jl&flºkar lkaxk-
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(3) bZðojkP;k vfLrRokfo"k;hP;k flºrspk foðodkj.krkoknh flºkar Li"V djk-

(4) VkW«LVkW;pk d«sfo"k;hpk flºkar lfoLrj lkaxk- ppkZ djk-

(5) lkSan;Z&izo`fŸk Eg.kts dk; \ c«ksOg ;k rRoKkukP;k lanHkkZr Li"V djk-

4. [kk«h«iSdh dks.krkgh ,d izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(1) ekDlZpk lektkfo"k;hpk flºkar lkaxwu ppkZ djk-

(2) lar vkWxLVhu ;kaps nqfjrkfo"k;hps fopkj lfoLrj Li"V djk-
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Seat

No. [4301]-378

T.Y. B.A. EXAMINATION, 2013

PHILOSOPHY

(S-3 : Thinkers and Textual Studies : Indian)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in 50 words each : [10]

(1) State the nature of Shiva and Shakti.

(2) Explain the term Anasakti Yoga.

(3) According to Prof. Rajendra Prasad what is the place of Artha

Purushartha in the doctrine of Purushartha.

(4) What are Prof. Dayakrishna’s views about the place of authority

in Indian Philosophy ?

2. Write notes on any four of the following in 100 words

each : [20]

(1) Chidvilasvada

(2) Gandhiji’s notion of Truth

P.T.O.
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(3) Krishnamurti’s views on Freedom.

(4) Prof. Rajendra Prasad’s views about Dharma Purushartha.

(5) Prof. Mohanti’s views on Universalism.

(6) Prof. Barlingay’s understanding of the notion of category.

3. Answer any three of the following in 200-250 words

each : [30]

(1) State and discuss Krishnamurti’s views on Education.

(2) Explain the nature and importance of the concept of

Sarvodaya.

(3) Explicate the interrelation between Sat, Chit and

Ananda.

(4) Discuss in detail of Prof. Mohanti’s distinction between Darshan

and Philosophy.

(5) Discuss critically Prof. Rajendra Prasad’s views about the place

of Moksa in Indian Philosophy.

4. Answer any one of the following in 500 words : [20]

(1) Discuss in detail Dr. Ambedkar’s notion of Dhamma.

(2) Explain Prof. Barlingay’s distinction between distinguishables and

separables. State the philosophical implications of this

distinction.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMokosr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk %  [10]

(1) fðko vkf.k ðkDrh ;kaps Lo:i lkaxk-

(2) vuklDrh ;ksx gs in Li"V djk-

(3) izk- jktsaÊ izlkn ;kaP;k erkuqlkj iq#"kkFkZ flºkarkr vFkZ iq#"kkFkkZps LFkku dðkk

Lo:ikaps vkgs \

(4) Hkkjrh; rRoKkukrh« vf/kdkjizkek.;kP;k LFkkukfo"k;h izk- n;kœ".kkaps fopkj

dk; vkgsr \

2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar Vhik f«gk %  [20]

(1) fpn~fo«klokn

(2) xka/khthaph lR; gh dYiuk

(3) œ".kewrh±ps Lokra´;kfo"k;hps fopkj

(4) /keZ iq#"kkFkkZfo"k;hps izk- jktsaÊizlkn ;kaps fopkj

(5) lkoZf=drkoknkfo"k;h izk- eksgarh ;kaps fopkj-

(6) ladYiukdksVh ckorps izk- ckjf«axs ;kaps vkd«u-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk %  [30]

(1) œ".kewrh±ps fðk{k.kkfo"k;hps fopkj lkaxwu R;kaph ppkZ djk-

(2) loksZn; ;k ladYiusps Lo:i vkf.k egRo Li"V djk-
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(3) lr~] fpr~ vkf.k vkuan ;karh« varl±ca/kkph md« djk-

(4) izk- eksgarh ;kauh nðkZu vkf.k rRoKku ;kar ds«sY;k Hksnkph lfoLrj ppkZ

djk-

(5) Hkkjrh; rRoKkukrh« eks{kkP;k LFkkukfo"k;hP;k izk- jktsaÊizlkn ;kaP;k fopkjkaph

fpfdRld ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) MkW- vkacsMdjkaP;k /kEe ;k dYiusph lfoLrj ppkZ djk-

(2) Qjd dj.;ktksxs vkf.k v«x dj.;ktksxs ;kar izk- ckjf«axs ;kfu ds«s«s Hksn

Li"V djk- ;k Hksnkrwu fu"iUu gks.kkjs rRoKkukRed ijh.kke lkaxk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-379

T.Y. B.A. EXAMINATION, 2013

PHILOSOPHY

[S-IV : Thinkers and Textual Studies (Western)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words

each : [10]

(1) What is Intentionality ?

(2) How does Nietzsche describe truth ?

(3) What is the importance of questioning according to

Heidegger ?

(4) What is Sartre definition of despair ?

2. Write short notes on any four of the following in 100 words

each : [20]

(1) Category mistake

(2) Family resemblance

P.T.O.
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(3) Philosophy as a rigorous science

(4) ‘‘Existence Precedes Essence’’

(5) ‘‘Alethia’’

(6) Peirce’s notion of inquiry.

3. Answer any three of the following questions in 200-250 words

each : [30]

(1) State the official doctrine and discuss Ryle’s criticism of the

official doctrine.

(2) Explain Heidegger’s views regarding the essence of

technology.

(3) What according to Nietzsche is the difference between herd

morality and master morality ?

(4) Sartre’s concept of freedom.

(5) State and discuss Peirce’s views on Pragmatism.

4. Answer any one of the following question in 500 words : [20]

(1) Write a critical essay on Wittgenstein’s picture theory of

meaning.

(2) What are the different types of Euthanasia ? Critically examine

Sullivan’s arguments against Euthanasia.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk %  [10]

(1) lfo"k;rk Eg.kts dk; \

(2) fuRðks lR;kps o.kZu dls djrkr \

(3) gk;Msxj ;kaP;k ers izðu fopkj.;kps dk; egRo vkgs \

(4) lk=Zph oSQY;fo"k;d ifjHkk"kk dk; vkgs \

2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar Vhik f«gk %  [20]

(1) dksVh izekn

(2) dq« lkE;

(3) ,d dkVsdksj foKku ;k Lo:ikrh« rRoKku

(4) lkjrŸokvk/kh vfLrRo

(5) ^^v«sfFk;k**

(6) fivlZ ;kaph ðkks/kkph dYiuk-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar

f«gk % [30]

(1) ^vf/kœr flºkUr* lkaxwu jkbZ« ;kaP;k vf/kœr flºkUrkojh« Vhdsph ppkZ djk-

(2) gk;Msxj ;kaps ra=KkukP;k lkjrŸokcÌ«ps fopkj Li"V djk-
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(3) fuRðks ;kaP;k ers dˇiuhrh vkf.k ek«duhrh ;kr Qjd dk; vkgs \

(4) lk=Z ;kaP;k Lokra´; ladYiusph ppkZ djk-

(5) fivlZ ;kaps Q«izkek.;oknkcÌ«ps fopkj lkaxwu R;kaph ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(1) foV~xsuLVkbu ;kaP;k vFkkZP;k fp= miiŸkhoj fpfdRld fuca/k f«gk-

(2) lqej.kkps osxosx š izdkj dks.krs \ lqej.kkP;k fojks/kh lqf«Ogu ;kauh ekaM«sY;k

;qfDroknkaps fpfdRld ijh{k.k djk-



P.T.O.

Total No. of Questions—3] [Total No. of Printed Pages—2

Seat

No. [4301]-382

T.Y.B.A. EXAMINATION, 2013

COMPUTER APPLICATION

Vocational Paper V

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions (any five) : [20]

(a) Explain waterfall model to develop a website.

(b) What is networking ? State advantages of networking ? Explain

LAN, MAN, WAN.

(c) What is Topology ? Explain different types of topologies with

diagram.

(d) What is search engine ? How does it work ?

(e) Explain EDI with trade cycle.

(f) Explain the procedure to obtain Digital Signature.

2. Write short notes on (any six) : [12]

(a) IP address
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(b) Internet

(c) Email

(d) Commercial website

(e) Public website

(f) Domain Name Services

(g) EDI.

3. Write HTML program for the following : [8]

(a) Blank Table with 4 columns and 2 rows and heading ‘UNI

PUNE’.

(b) Web page containing picture, hyperlink and list tag.



Total No. of Questions—5] [Total No. of Printed Pages—4+2

Seat

No. [4301]-383

T.Y. B.A. EXAMINATION, 2013

FUNCTIONAL ENGLISH (Vocational Stream)

Paper V (Introduction to Print Media and Writing For

Mass Media and Key Competency Modulus)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. (A) Prepare a news item of about 300 words based on the points

given below : [15]

Times of India

Times News Network

Cairo (5 February 2012)

— Egypt soccer game turns violent.

— Worst case of soccer violence.

— The people killed and hundreds injured, after soccer fans

rushed to the field in city of Port Said.

— Over an upset victory by the home team over Egypt’s

top club.

P.T.O.
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— Match between Al Masry, the home team and Al Ahly,

based in Cairo.

— Setting off clashes and a stampede.

— Riot Police failed to intervene.

— Questions raised about the ability of the State Police to

manage crowds.

OR

(B) Read the following ad and identify the type of the ad. Comment

on the general structure of the ad and write another headline

for the same ad. [15]
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2. (A) Write a short note in about 60 words on any one of the

following : [5]

(1) Relevance of background music to suit different moods in

a radio play.

(2) Difference between articles and features of newspapers.

(3) Importance of mass media.

(B) Attempt any one of the following topics to develop into a radio

talk : [5]

(1) The rise in the rate of violence among school

children.

(2) Youth and social networking sites.

3. (A) Attempt any two of the following in about 60 words

each : [10]

(1) The role of language in technical writing.

(2) Characteristics of technical writing.

(3) Technical writer is a link between the product and the

customers. Explain.
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(B) As a technical writer prepare an instructional manual for the

following. Give five instructions in a logical order for the prospective

customers : [5]

(1) How to use a computer ?

(2) How to use a mobile ?

4. (A) Give Marathi or Hindi words for the English terms given below

(any ten) : [10]

(1) Customer

(2) Magazine

(3) Documentary

(4) Award

(5) Manuscript

(6) Secretary

(7) Editor

(8) Trademark

(9) Periodical

(10) Confidential

(11) Establishment

(12) Interview.
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(B) Translate the following passage into Marathi or Hindi : [10]

A great part of Arabia is desert. Here there is nothing but

sand and rock. The sand is so hot that you cannot walk over

it with your bare feet in the daytime. Here and there in

the desert are springs of water that come from deep down

under the ground—so deep that the sun cannot dry them up.

These springs are few and far apart, but wherever there is

one, green grass very soon covers the ground all around it.

Soon fig trees and palm trees grow tall and graceful making

a cool, green, shady place around the spring. Such a place

is called oasis.

OR

Translate the following passage into English : [10]

xka/khth dÍj jk"V™oknh gksrs- rlsp rs loZJs"B foðojk"V™oknh gksrs- MkW- T;qf«vl

gDL«s ;kauk f«fg«sY;k i=kr rs f«fgrkr] ^^txkps ukxfjd Eg.kwu vl«s«s

drZO; ikj ikM«s rjp tx.;kpk vki«k gDd viY;k«k izkIr gksrks-**

xka/khthaP;k ers jk"V™okn gh [kjh vkiŸkh ulwu ladqfprrk] LokFkhZi.kk] vkf.k

vktP;k jk"V™kauk ðkkikizek.ks Bjr vl«s«k ,dkdhi.kk gh [kjh vkiŸkh vkgs-

rs f«fgrkr] ^^Hkkjrh; jk"V™okn] O;kid ekuotkrhP;k lsoslkBh vkf.k «kHkklkBh

lqla?kfVr gks≈ bfPNrks-** txkP;k fgrklkBh] vkoð;drk vls« rj ejrk ;kos

;klkBh jk"V™kus Lora= vl«s ikfgts- xka/khuh mRlkgkus EgV«s vkgs] ^^jk"V™oknkph

ek>h dYiuk vðkh vkgs dh] ekuotkr ftoar jkgkoh Eg.kwu ek÷;k jk"V™kus

ejk;«k r;kj vl«s ikfgts] okafðkd }s"kk«k frFks tkxkp ugh-**
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5. (A) Write short notes on the following in about 60 words each

(any two) : [10]

(1) Genres of films

(2) Relevance of lighting in cinematography

(3) Screen time and narrative time.

(B) Write a review in about 200 words of a comic film or a musical

film. [10]



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—2

Seat

No. [4301]-384

T.Y.B.A. EXAMINATION, 2013

TRAVEL AND TOURISM MANAGEMENT

(Vocational Stream)

Paper V

(Emerging Concepts of Tourism and Tourism Development)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencil is allowed.

1. Explain any two in brief (Around 50 words each) : [10]

(1) Sustainable tourism : Principles

(2) Sea link

(3) Incentives

(4) Kerala oil therapy.

2. Write short notes on any four (Around 100 words each) : [20]

(1) MICE

(2) Ooty as medical tourism

(3) Trade fair

(4) Positive aspects of Olympics on tourism industry

(5) Metro train

(6) Examples of Eco-tourism.
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3. Answer any three (200-250 words each) : [30]

(1) National Tourism Policy, 2002.

(2) What do you mean by business tourism ? Give examples.

(3) Rural tourism in Maharashtra.

(4) Recent trends in International Tourism in India.

(5) Importance of conferences and exhibitions in destination

development.

4. Answer in detail any one (Around 500 words) : [20]

(1) Explain destination life cycle with suitable diagram.

(2) Sustainability in Rajasthan Tourism.



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [4301]-385

T.Y. B.A. EXAMINATION, 2013

iz;kstuewyd fganh % oksds'kuy

(Functional Hindi : Vocational)

iz'ui= 5 % lSn~/kkafrd

(vuqokn] fVIi.k&izk:i.k] lafgrk ,oa Qhpj ys[ku] vkosnu]

lk{kkRdkj] lax.kd rFkk ewy{kerk ekinaM)

(2008 PATTERN)

le; % 3 ?kaVs iw.kk±d : 80

lwpuk :— (i) lHkh iz'u vfuok;Z gSaA

(ii) iz'u dh nkfguh vksj fy[ks x, vad iz'u ds iw.kk±d gSaA

foHkkx v

1. (v) fganh esa vuqokn dhft, % [8]

Permission for Carrying on Studies

INDIAN POSTS AND TELEGRAPHS DEPARTMENT

OFFICE OF THE DIRECTOR GENERAL OF

POSTS AND TELEGRAPHS

No. 40-/6 Admn. Dated, New Delhi the........

With reference to his application..................Shri........................,

.........................is informed that he is permitted to appear in/join
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.............., provided this does not interfere with his official duties.

If it is observed that he had been neglecting his duties for the

sake of his studies, or for any other reason, this permission may

be withdrawn at any time without assigning any reasons. This

will be without prejudice to any other departmental action being

taken against him for neglecting his duties.

Section Officer (Admn.)

Shri......................

(vk) dk;kZy; Kkiu dk izk:i rS;kj dhft,A [8]

2. fdUgha pkj ij fVIif.k;k° fyf[k, % [16]

(d) Loifjp;i= (ck;ksMkVk)

([k) fVIi.k ds izdkj

(x) vkosnui= ds izdkj ,oa vax

(?k) izk:i dh vko';drk

(p) /kkjk 3(3) ds nLrkost

(N) fVIi.k dh Hkk"kk'kSyh

(t) Loifjp;i= rS;kj djrs le; lko/kkuhA

foHkkx c

3. (v) >h Vsyhfotu ds yksdfiz; dk;Zÿe ^MkUl bafM;k MkUl* dk lw=lapkyu vki

dj jgs gSaA bl dk;Zÿe ds lw=lapkyu dh lafgrk rS;kj dhft,A [8]

(vk) fdlh mn~;kstd ds lk{kkRdkj dk 'kCnkadu dhft,A [8]
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4. fdUgha ik°p ij fVIif.k;k° fyf[k, % [20]

(V) istesdj rFkk vkbZ-,l-,e-

(B) eqÊ.k&{ks= esa ÿkafr

(M) jsfM;ks ds fy, fy[kh tkus okyh lafgrk dk Lo:i

(<) Qhpj ys[ku esa fo"k;oLrq] lkexzh ladyu ,oa 'kh"kZd dk egRo

(r) lk{kkRdkjdrkZ ds xq.k

(Fk) Qhpj ds izdkj

(n) fuosnu

(/k) lk{kkRdkj ds rRRoA

5. (v) fuEufyf[kr esa ls fdUgha pkj 'kCnksa ds fy, fganh ikfjHkkf"kd 'kCn fyf[k, % [4]

(i) Central Reserve Police

(ii) Agronomist

(iii) Announcement

(iv) Leave

(v) By hand.

(vk) fuEufyf[kr esa ls fdUgha pkj 'kCnks a ds fy, vaxz sth ikfjHkkf"kd 'kCn

fyf[k, % [4]

(i) dsaÊh; jktLo cksMZ

(ii) jktnwr

(iii) la'kks/ku

(iv) v/;;ukFkZ NqV~Vh

(v) iw°thxr ys[kkA
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(b) fuEufyf[kr ds fganh i;kZ; fyf[k, % [4]

(i) I fully agree with the office note

(ii) In anticipation of your sanction and approval

(iii) Please give top priority to his work

(iv) Vide note on the order.



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4301]-387

T.Y. B.A. EXAMINATION, 2013

GANDHIAN THOUGHT

General Paper III

(Relevance of Gandhian Thought)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each :  [10]

(1) Explain the impact of Gandhian Philosophy on anti-racist

movements.

(2) Explain the basic features of Vinoba’s Gitabhasya.

(3) Explain the nature of Women-Empowerment Movements.

(4) Explain Javadekar’s view on Synthesis of Gandhi and Marx.

2. Write short notes on any four of the following in 100 words each : [20]

(1) Total Revolution : Jayaprakash Narayan

(2) Acharya Javadekar’s Satyagrahi Samajwada

(3) Chipko Andolan

P.T.O.
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(4) Vinoba’s idea of ‘Sthitapradnya’

(5) Acharya Dada Dharmadhikari’s doctrine of Sarvodaya

(6) Ganga Bachao Andolan.

3. Answer any three of the following in 200-250 words each : [30]

(1) Explain the role and work of Nelson Mandela in anti-racist

movement.

(2) Explain the significance of the ideas Gramadana and Shramadana

in Vinoba’s attitude of social change.

(3) Explain Dada Dharmadhikari’s idea of Sarvadharmasamabhava.

(4) Explain the role of Martin Luther King in Anti-Imperialist

movements.

(5) Discuss the nature and need of Environmental Movements.

4. Answer any one of the following in 500 words : [20]

(1) Explain and critically evaluate Medha Patkar’s Narmada Bachao

Andolan.

(2) Explain the success, failures and the importance of Bhoodan

Movement.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-
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1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) oaðk fojks/kh pˇoˇhaojh« xka/kh rRoKkukpk izHkko Li"V djk-

(2) fouksckaP;k xhrsojh« Hkk";kpk vUo;kFkZ lkaxk-

(3) efg«k lc«hdj.k pˇoˇhaps Lo:i Li"V djk-

(4) xka/kh] ekDlZ leUo;kcÌ« tkoMsdjkapk n`"Vhdksu Li"V djk-

2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar fVik f«gk % [20]

(1) t;izdkðk ukjk;.k % laiw.kZ ÿkarh

(2) tkoMsdjkapk lR;kxzgh lektokn

(3) fpidks vkanks«u

(4) fouksckaph ^fLFkrizK* gh dYiuk

(5) vkpk;Z nknk /kekZf/kdkjhapk loksZn; flºkar

(6) xaxk cpkvks vkanks«u-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh 200-250 ðkCnkr mRrjs f«gk %  [30]

(1) o.kZfojks/kh pˇoˇhrh« usYlu eaMs«k ;kaph Hkwfedk vkf.k dk;Z foðkn

djk-

(2) fouksckaP;k lektifjorZukP;k dYiusr xzkenku o Jenkukps egRo foðkn

djk-

(3) nknk /kekZf/kdkjhaph ^loZ/keZleHkko* gh dYiuk Li"V djk-

(4) lkezkT;ðkkghfojks/kh «<Ókrh« ekVhZu Y;qFkj fdax ;kaps ;ksxnku Li"V djk-

(5) i;kZoj.kfo"k;d pˇoˇhaps Lo:i vkf.k vkoð;drk ;koj Hkk"; djk-
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4. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mRrj f«gk % [20]

(1) es/kk ikVdj ;kaP;k ueZnk cpkvks vkanks«ukps Lo:i Li"V d:u R;kps fpfdRld

ewY;ekiu djk-

(2) fouksckaP;k Hkwnku pˇoˇhps ;ðkki;ðk vkf.k egRo lfoLrj Li"V djk-
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